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{ ¡E2t¡/- Y � £ � � ^a� � �4g r � r � r ¡R¡D¡D¡R¡0¡D¡R¡D¡R¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ =�µ
{ ¡E2t¡ y n � � s }���^b� � �4g r � r � r ¡D¡D¡R¡0¡D¡R¡D¡R¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ =�µ
{ ¡E2t¡ µ ï'���@} u �v� s �[c w � r ��� r � 0 } w �@} u �v� � } 4T1

m¯}��x���I���¹����f ��q �t} u ����f w �@}�� u ��¡ = 2
F î Þ FMÄHGHI°ç�Î3J�NÆL0JJ3K"¥É=N ;L;
;[î HGNiÿ4ÄGNOHkÈóNÆL ;!M
 Ó|Ì~Î'ì|æCÑÝå NL,
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y ¡.- d2 � �����������v���t���@�I���¤� w�Á<� ����}��v��¡D¡D¡R¡0¡D¡R¡D¡R¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ =
y ¡ y d2 � w �¹þ q�� � ��s £ w � r � � ���O}��t}�� Â � ¼<� � � �@} u �x}���}��x��¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ 8
y ¡ µ ï'}�� � } svu � £ w � dn � w � �Ô�tq�� � ��s £ w � r � � ��� u }��v���I��}���¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡6- z
µ ¡.- Y � £ � � Oh

� � � �t��� �t���tr � r � � � d2 � w �¹þ q�� � ��s £ w � r � � ��� sx¼ }�� u � w�s � w�¼ ��� u }��v���I��}�� y 2
µ ¡ y Y � £ � �Xw � u���Á } � � � � � � � � �<� �:� uø���<� � u }��v���I��}��o²�}D}��t}�� Â ����}��v�ò¡D¡D¡R¡D¡R¡D¡D¡R¡ y 7
µ ¡ µ

dn
� w �¹þ q�� � ��s £ w � r � � ���O� � £ � �À� � � � u }��v���I��}��v� ¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ y98

µ ¡E2 00�t� � ��w � uø��Á } � � � � � � � � �<� d2 � w �¹þ q�� � ��s £ w � r � r � u }��v���I��}��x� ¡R¡D¡R¡D¡D¡R¡ µ z
{ ¡.- Co2+ � w � ¼ ��}�� s ��}��x���¹���O� ��q �t} u ���I� w �@}�� u ²�}0}���}�� u � w �t��� sx¼ }�� u � r �I� � �v�h¡B7 z

� ·



9�������������� 7 �UT<�����

y ¡.- d2 � w �¹þ q�� � ��s £ w � r � � ��� w � � � u�� � ��� � sx� �¥� w �I}�� u�r � r � r �4²�}�� u ¦���� w:� }���� ¡ 7
y ¡ y S = 1

� � ��� MS
� }�¿�}��x��}��x�o¡R¡D¡D¡R¡0¡D¡R¡D¡R¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ =

y ¡ µ d2 � w �¹þ q�� � ��s £ w � u }��v���I��}��v���t��� £ � �x����� ��s �õ¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ ´
µ ¡.-

s, p
²�}
d w � � � uø� ����}��x���¹��� r � � £ s�� � �<� ¿��������I�#¡R¡D¡D¡R¡D¡0¡R¡D¡R¡D¡D¡R¡D¡R¡D¡D¡6- {

µ ¡ y d3 � w � ¼ ��}�� s � w � � � [Cr(NH3)6]
+3 �¹��� sx¼ }�� u � r � r ¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ y -

µ ¡ µ ��� u���Á } � � � �¥²�} u } u � ��Á } � � � � � � � � �t� P ²�} F u }��x���@��}��x���t��� £ � �v����� ��s � ¡D¡R¡ y 7
µ ¡E2 ��� u���Á } � � � ��²�} u } u � ��Á } � � � � £ ��¼ � �<� �:� d1, d4, d6 ²�} d9 � £ w �t� � �x���t��� u }��x���s }�� �ûw ����}��x���¹��� �<� ¿����û}��t}�� Â ����}��v���t���Æ��� q|� � ��� � � �O� r ²¤²�} u �Ï����} � }�¿����x���@�¥¡D¡D¡R¡ y ´
µ ¡ { Oh

� � � � �<� d2 ²�} Td � � � � �<� d8 � £ w � r � � ���O������� u � � � £ ��q � � �I�a¡D¡R¡D¡R¡D¡D¡R¡ µ 2
µ ¡V7

d2 � w �¹þ q�� � ��s £ w � r � � ���Om � � ��� }áù]ï rtq|� � w ga� £ ��q � � �@� ¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ µ 7
2¹¡.-

d2 ²�} d8 u }��v���I��}��x��� � } sv¼ ���'ù w � � � u } u �¤����}��x�I} s �e����} w � r � � � £ � �x����� � � � � ¡D¡R¡>2 z2¹¡ y 2T2
u }��x���@���t��� sx¼ ���'ù w � � � u } u �:����}��x���I�~²�}�� ��q �t} u ��� � � � � � � u ��� �<� �¤� £ � �x����� ��s �P2�7

{ ¡.- f ��q �t} u ���8� w �@}�� u ��� �¸� �x�¤��� � � � � �t� £ � �¤� � �:��}��v��� � } s ��¾ � �:����¿ �Dq ¦��v} � }�¿����x���@� {98
{ ¡ y Co+2 � £ w � r � � ���O}�� s }�� s }�� �ûw � r ��� ���<� �:�[}��t}�� Â � sx¼ }�� u � r � r ¡D¡R¡D¡R¡D¡D¡R¡B792
{ ¡ µ � �t�Is ��¾ � �:����¿���� �<� ¾ w ² � � � �¹¾ £ �¸� � u ¦�� � �¹} q ¦��x}�� ��q �t} u ��� ��s £ w ��¡R¡D¡R¡D¡D¡R¡B7W7
{ ¡E2 � �t�Is ��¾ � �:����¿���� �<�D� � sZu�w � u � w � �#q ¦��v}�� ��q �t} u ��� ��s £ w �
¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡B7 =
{ ¡ { V � �x�¤��� A � }�¿�}��x��}��x�e� � ���O� ��q �¹} u ���@� w �I}�� u ��� s ��¾ � �¤�����¤� � � }�¿����v���I�U¡R¡D¡D¡R¡B7 8
{ ¡V7 g � � � � � � � �YX A = 1.5 Z � � ����� ��q �t} u ��� ��s £ w �õ¡D¡D¡R¡D¡0¡R¡D¡R¡D¡D¡R¡D¡R¡D¡D¡ = z
{ ¡ = A = 1.35

� � ���O� ��q �t} u ��� ��s £ w �½¡D¡D¡D¡D¡R¡D¡R¡D¡D¡R¡D¡0¡R¡D¡D¡R¡D¡R¡D¡D¡R¡D¡ = z
{ ¡ ´ A < 1.35

� � ���O� ��q �t} u ��� ��s £ w �½¡D¡D¡D¡D¡R¡D¡R¡D¡D¡R¡D¡0¡R¡D¡D¡R¡D¡R¡D¡D¡R¡D¡ = -
{ ¡ 8 M = Co2+ � w � ¼ ��}�� s ���t��� £ ��¼ � s �e¡0¡D¡R¡D¡R¡D¡D¡R¡D¡R¡0¡D¡R¡D¡D¡R¡D¡R¡D¡D¡R¡ = y
{ ¡.- z f ��q �t} u ��� ��s £ w � r � s ��¾ � �¤�����:� � � }�¿����v���I��X κ = 1 Z ¡D¡D¡D¡D¡D¡R¡D¡R¡D¡D¡R¡D¡R¡ = 2
{ ¡.-�-�f ��q �t} u ��� ��s £ w � r � s ��¾ � �¤�����:� � � }�¿����v���I��X κ = 0.9 Z ¡D¡0¡R¡D¡R¡D¡D¡R¡D¡R¡D¡D¡ = {

·



[ � 56�����'9

c r ��� �����x� ���<�
sxw � � � � � �t� � � �<� �I} u�� �G� w � ¼ ��}�� s ��}�� � ��}��x���¹} £ ��¼ ��� � � sx¼ }���ù
u � w�s � w�¼ ��� ��� �����x� � � � � sxw � r ¾ r6s } � ����}����@} uø� �)� w � ¼ ��}�� s ��}��x���$� ��q �t} u ���-¦���}��������¤��}��x��� � }��¤�
£ w � r �@� � � � }�� s ���¤�����¤��}��v� q � � }��x�����I} £ } ��� �����x�����@��� u ����¡ � � �����x� ���<��u }��@}�� w � � � � � �<� ��� 3d

�@} uø� �)� w � ¼ ��}�� s ��}��v�)¦��x�¹}���� w:� }�� s � sZu }��@��}�� w � � � � � s } � �����@��� u ����¡Àfk} u�� ����}��x����¦���}��������¤��}��x�
²�}I¦��t}��I� � £ �x��� u ����� w � � � � � �¹rC��� �����v� � � ��¼¹s�� �I��� �t�4� �t� ��u ����� � £ � ¾ � � u ����¡ � � �t� �%�tr �t� � �
Á<� �¤�¤��� �<�ÆÁ }�� �t� ��} £ � } £ } u }��x��� � ��� q � £ } r � � �x� � ��� � �I� � � �t� ��\]-�ù {�^ ¡¥g ��Á<�Æ��w � � }��t} £ s }��
w � � � � � q ¦�����}��t� ¼ � £ w � r �I� � �¹� ��s ��� �t� }�� s ���¤�����¤��}�� u } sx¼ � u } � ����}��#� w'� }�� s � sZu }��I��}��x� ��� ���¤� � £ � ù
� �����@}��I� � ��� u } w �x��� w � � � � � uø� � u ���x����� ��s �<²�} £ w � r �I� � �t� ��s ���¹��� �¸� £ �<� ��� w � � ¾ � ¿�� �t� � � � � ��}��
� ��q �t} u ���?¦���}��������¤��}��x��}I��� q ����}��t����� ¼3�tr �t� � �x��� �tw ¿�� r £ w � r �@� � �t� ��s � sxw � r ¾ r � �<� �t}O� ���<� �
²�}��v���I����²�} q }�� � }�¿�} £ � �¤��� sxw � rt� � � �v��� � ��� ��� ����}�¾�}�¿�� w � u�� £ � � w � r � � ¾ � � u ����¡

ï'} � ����}��@� w:� }�� s � svu }��I��}�� � }�¦���}��������¤��} Á }��x��} s�u�� � ��� ��� �<� � £ ��¼ � sx� � w � � � � � � w � � £ � �'ù
� � �v��� � � q } w �I} u �x����}��v��� s } � �����I} s ���t}o¦���}�� q ¦ sZu }��v�����@��� u ����¡�c r �t} � }��t��} w � u���Á } � � � �¤²�} �ûw � r �§ù
� r � w � uø��Á } � � � � £ ��¼ ��� � � u }��x¾�� Á } � ���t�����@��� u ����¡'�i� uø��Á } � � � �l�@} uø� �e� w � ¼ ��}�� s ��}��v� � ��� Á<� £ ���
��� �����x�����I���0²�} £ ��¼ � s�� � w � � � � �C� £ � � � � �����Æ} � �����@��� q } w �@} u �x����}�� w ��� � �¤� ��� ���v����� u } sxw �$� � ù
� � �¹� � � �<�k�<� ��� sv¼ }�� u � w�s � w�¼ ��� svw � rt� � � �x��� �<� �¤� £ w � r �@� � �t� � � � �x���¹��� ��w � s�� ¿������:��� £ ��¼ ���§ù
� ��� ��¿�� u�� � ��� ���I��� �t� � u } sv¼ � u } � ��� � �_\D7:� = ^ ¡oc r6��� �����v� ���<�?� � ��� �U� ��q �t} u ���C¦���}��������¤��}��v���
� }�¿����x���Æþ<����� s }��¯� � � u � � � � � u ��� �<� � ��s ��� � }�¿����x} � ����}�¾�}�¿�� w � s��I�<�8�tr ¦���}��������:��}��v��� �tw ¿�� r � r �§ù
� � �t����� ��s � Át� ����� � } sv¼ }�� u � w�s � w�¼ ���6¦���}��������¤��}��x���+�t}?� ���<� � �tw ¿�� r £ w � r �@� � � ��� ����}�¾�}�¿�� � }
q ¦ svu }��v�����I} £ } ��� �����x��� � �Ý¡¯m � � 3d q } � ���M�I} u�� ����}��x���t� �¹r+��� �����v� ���<� ���t¾�}���}��@}��%� � �I� � �
w � � � ��� ��¿��~� � ��� s���� }�¾�} ��w �Æ� � �x�v��� � �x��� � �@� w � ¼ ��}�� s ��}��x}W\ = ù y - ^ £ w ¿ r �t� � �x� � � r £ q�r � �tr � r �'ù
� r � uxr ��¡�c r �t} � }��¹��} Co2+ w � uø��Á } � � � ��� w � ¼ ��}�� s ��}��x�i� ��q �¹} u ��� ��� � �t� �����t¾�}���}��t����}��v}��
sxw � rt� � � �v� sx¼ }�� u � w�s � w�¼ ��� q } � ���x��}��v��} � ���x����� u } £ w � r �@� � �t� � £ �K��� �����x��� � �Ý¡

ï w ��� � � � �t� � � �<�@s }�� u }����X²�}K� � � � � u }��x��� ��s £ w � r £ ��¼ ��� � ��� � �¤� w�s ���¤�����Æ��� q|� � � � � �v���
þ<����� s }���²�}@�:��� £ ��s�� ��¦���}��������¤��}��x� £ � �t��� �<� � � � £ w � w�Â ���k¦��t}��I} � } sx��Á � ¼-w � �¹r �¤� � �v� � �t� � �x���§ù
� � � u���� ���`\/- z �a-�-�� y 2�ù y 7 ^ ¡ûc r �t} � }��¹��} �<��Át�Æ��w � sxw �?� � � � �t� � � �<� � ��¼�w �a} � ����}�� �t� ¦���}��

-



� w � ¼ ��}�� s } £ w ¿ r �t� � �x��� � �Ý¡lc r �t� � �x��� sx¼ }�� u � w�s � w�¼ ��� sxw � rt� � � �v��� �t� �C²�} w:�<��s ��¾ � �:����¿���� �<�
¦�� ��� ��� � �@� ��q �t} u ����� w �I}�� u ��}��v��� � }�� £ w � �C� ��� � � � � £ ��¼ � sx� � �¹r � r �I� � �x� �<��Á<�C� £ �v��� u �����
w � � � � � � �t� � �x����� � £ �8��� �����v�����@��� u ����\]- z �b-�-�� y 2 ^ ¡ ö £ q�r �?� ��q �t} u ���k­ � �@��� u�w � £ }���²�} �t� � q|�
�Ôw �t� s � £ w �t� � �x� s } � ��� � ��¿���� � } £ ��¼ ���t��� �<��Át��Á<��svs���s ²�} � £ �x��� u ����� w � � � � � u } sv¼ � u } � ����} � �§ù
�����¹}�¾�}�¿����¹��� q ¦ svu }��x�����I} s � � � ��� � � �t�I��� u ����¡Ïï'} � ����}���� ��q �t} u ���-­ � �@��� u�w � £ }�� � } Á }��M� ��u �:�
²�} sxw � rt� � � �v� uø� � u ���v����� ��� � ¡<^a� � ¦��t¾�}������¤��} ��s ��� �<��s �¤��� u }��v���I��}��b²�} �tr �¹� � �v��� sxw � rt� � � �v���
�t} u)� ���o�x}��¤��� � } w � uø� £ � � w � r ��� r � uxr ��¡'m¯}��@}�� w � � � � �K���¤� �t��s �¤��� u }��v��� w � � � sx¼ ���'ù w � � � u ²�}
� � sZu�w � u � w � sxw � r¹� � � �x� w � uø� £ � � w � r � rt¼ �¹� ��q �¹} u ���M¦���}��������¤��}��v��� �trÆu }��x���@��}��x���@���x��¿�� � � u ��� �<�
� }�¿����x���@�R���t¾�}���}��t�I��� u ����¡ ® ��}��������¤��} � � svuxw � u � w �&} u �¤� s ���t��� s ���@} u �x� £ �#�t}�� ���<� � ��w � �tr ¿ r
q ¦ svu }��v��� � � ¡l^ £ �x��¾ �G�tr�svw � rt� � � �x����� ��q �t} u ����� � £ � � ��u �¤� s � �t� ¦��¹}��I����� w � ¼ ��}�� s } r £ q�r ù
� � � � � ¡ 0 } u ��� � ��¿����I��� £ }��t� £ � �¤� � �x���I� �-s���� }�¾�} u }�� � ���O� w � ¼ ��}�� s ��� � }�¿����Ý�ó� w � ¼ ��}�� s ��}��
� � ��s ��� ��q �t} u ���-} u �:����}��x�I}���}��x��� w � r¹¼$w ��� � £ � ¾ � ¿����t��� �<� ��} svu ���x} � ����}�¾�}�¿�� q ¦ svu }��x�����I��� u ����¡
� � �����x� � � � �v��� svw � r ¾ r � �<� � �<�ý� �¹� � �v��� ��� �������t}�¾�}�¿�� q � � �k� £ � � ����� ��q �¹} u ��� £ w � r � ����}
£ ��¼ � s�� � � £ � ���t� ��u � � �t���ý�¹}�� ���t� � �<��Á<� � £ � � ��� £ � �¤� � �x���:�����¤� �
u } sv¼ � u } � ����} � �������¹}�¾�}�¿��
q ¦ svu }��v�����I}�� u } � ����¡

c rP��� �����x� � � r �v}��¤��� � } �t� ��}��t��}��t�I��� u ����ºGW±�¤���¹¾�� � ¦�� � � � } �@} uø� ��²�}³�@} uø� �
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�<��s � u s � sZu }��I��}�� � }��C� ���tr �ó} � ����}�� d2 � w �¹þ q�� � ��s £ w � r � r ¦��v�t}��?� w'� }�� w � � � � � � ��� ¼�w � ��s �
u�� �P�x}��¤������}��t���@��}��v�¯²�} �tr �t� � � � � � �x�x������� q }���}�� �<� ¿����U}��t}�� Â ����}��v���t����� � £ � � ¿����t� � �t� � � � £ �
��� ����� � �����4¡ ® �t¾�}������¤��}�­ � �I��� u�w � £ }�� w�¼ }�� ��u ¦�� � � � � �¤���¹} u ���
}��t}�� Â ����}���²�}$}���}�� u � w �t� � �x���
� }��¤��� � }��:��} } u �¤����}��v�@} s � �tr � r � r � �<� X �<� ¿���� s ���0}���}�� u � w � £ � �¤� � �v���I� Z �t} u�� � � �����x}��¤���§ù
��}��¹���ò²�} }��t}�� Â � �t� ��} £ ��}��x�l����}i� � �x�v��� � � � ¾ � ¿����I����� � �t� � £ � ¼��<��Á<�Isvw �t� � }���}�� u � w �¹� � � � � ��s �
} u �¤����}��v�@}��t��� �¹rk�tr � r � r � ��s ���¥} u �¤����} £ }�¾�}�¿�� � }������x��}��t�I}���� � ����¡

��¿�}��I}���}�� u � w �t� � � � � ��s �)� u �I}���}��K� Á � � ��} � ������� s } « ��r ��� � ��� � �x� � � � ������} s ���t} r £ r �§ù
� ��s �t� � £ � ������} w � uø� £ �D� ��� ��� ����}�¾�}�� u�� �ý�I���¤� w�Á<� ����}�� � £ �t�~}��t}�� Â � £ } s���Á � ¼@w � �tr �¤� � �x� u }��I}��
� rt� � u�r �³�@}�� � �t��¿�� �t� ��} £ ��� � } ��w �M� £ � � �������t�I}�� u } � ����¡�W±�¤�û}���}�� u � w �¹� rÆ� ��� d2 s � sZu }��I��� � }��
� ������� � ��¿�� q � � � d � ���¹r ¿ r8�¹w ��� ���<� �M¦��¹¾�} �t� ���~� � � ���tr �¤� � �x��� �¹w � � ��¡¤V � � ��uo�tw � r � ���tr �¤� � �
Á }�� u }��v���I� � £ �¹�¯�I��� uø� � �<� } u �:����} £ � ¼GÁ }�� Á<� � q � � ����� r¹u � � � q } u ���x� £ } s���Á � ¼�w ��� � £ � ¾ � ¿����'ù
�<� �¥� �tr � ���tr �¤� � � �<� �:��}���}�� u � w �t� � �v��� q ¦���¦�� � �t} � �����t� � � ��s � �<��Á<���¹w ¿�� r¹�tr ��¡Um w�¼ � � �
��� � s�� �a²�} sx¼ ����� r<� � uxr � sx� £ ��� � �v� q ¦��3¦�� � �¹} � ����� � ��¿���� �<� � � ��� � ���O� ��q �t} u ��� � � � �6²�}

{



sx¼ ���'ù £ ¦�� � � q }a} u �¤����}��x�I} s � £ w � s�� � � ��� � }�� �¸� ��� � }���}�� u � w � �<� � w � r � � � � ��� s � svu }��I��� u�w�¼ � � �
w � � � uø� � ��� � sx� �l� w �@}�� uxr �°²�}�� u ¦��v��}��v� L � Á }�� � ����}���}�� u � w � r � l � }�¿�}��x��}��v���t��� uxw�¼ � � �@� � ����¡
W±�:�X}���}�� u � w �t� r?� ��� s � svu }�� � � ��� L = (l1 + l2), (l1 + l2 − 1), ..., (l1 − l2)

�v}��¤����� � } w � rt¼ �
w � ��s �û²�}�� u ¦��v}�� u�w�¼ � � �I� � �v�û¬'}��¤��� y ¡.- �¹� } q ¦ svu }��v�����I��� u ����¡

¬'}��¤��� y ¡.-�º d2 � w �¹þ q�� � ��s £ w � r � � ��� w � � � uø� � ��� � s�� �¥� w �I}�� u�r � r � r �O²�}�� u ¦���� w:� }����

m¯}��x��� s }�� ��w � � � � ��� L = 0, 1, 2, 3, 4, ... � }�¿�}��v��}��x���¹��� � � �x�v������¿�� w � � �
S, P, D, F, G, ... Á<� �ZÃ<}��v��� � }�� � ���v�Æ� r ��� � �t��������¡Rc r � s ���@��}�� � ���x�I} u�� � � �@}�� u }��
}���}�� u � w �t� r$� ��� s � svu }�� � }��¤� s, p, d, f, g, ... � s ���I��}�� � ���x�����@}���}��x���t} ¼<� � � ��}�� � ���M�x}��¤��� � }
£ ��¼ ����� � � uø�Mw � r¹¼ � � ��� � }�� �¸� ��� �I�<� � q|�I�Ôw �¹� s � £ w � r � � }��x�I} s ��� � }���¦ ux� � ���¹� £ � � Át� �vÃ<}��x��}
q ¦ svu }��v�������x��}���\ µ ^ ¡�c�}��t��}�� w � � � � � sx¼ ����²�}�� u ¦��x��}��v� s � }�¿�}��v��}��v���t���%²�}�� u ¦��x}�� u�w�¼ � � �I� � �v�o����}
S = (s1 + s2), (s1 + s2 − 1), ..., (s1 − s2)

�x}��¤����� � } � ����}��x��} sx¼ ��� ��� � s�� �b� w �@}�� uxr �
²�}�� u ¦��x��}��x���t���4¦���}�� u�w�¼ � � �I� � �v� w � � � � � � }������v��}��t���v��}���¡<f ��q �t} u ��� � � � �t��� £ ¦�� � �t} q ¦��x} sx¼ ���
��� � s�� ��� w �@}�� uxr � ²�}�� u ¦�� � S �t��� £ ¦��t}����@} s �Ý� sx¼ ���O�I���¤� w�Át� ����}��x�	X sx¼ ���O� r � u � ¼ ����¾�� u £ Z ��� �
²�}��v����}�� �¸� �x�¤��� w � ��s � �¹r � r �I� � �x� w � r � u�r � r ��¡~c r �t� � � S � }�¿�}��x��}��v���t���O� � �x�x������¿�� w � � �

s ��� q ��} u �tw�rt� ��} u u �v� ¼ ��} u ü r<� � u } u ü r ��� u } u s } · u } u
s } · u } u 0 1

2
1 11

2
2 21

2

¡�¡§¡

�@���:� w�Á<� ����}��x�t����}�� s ���I��}�� � ���v�������x�§}���¡�W±�¤�û}���}�� u � w �t� r@� ��� s � svu }�� � � ���¥�'¬'}��¤��� y ¡ y'� � } q ¦ svu }��x����}��
2S + 1 uø� �¹} sv¼ �����I���¤� w�Á<� ���~² � � � ����¡
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¬'}��¤��� y ¡ y º S = 1
� � ��� MS

� }�¿�}��x��}��x�

L
²�}

S � ����}��v��}#²�}�� u ¦��v��}��v���t��� �t� £ � �¤� � �:��}��v�À����} �tr �¹� � �v��� z � ����}��v}��t��}��v���t��� �t� £ � �¤� � �¤��}��v�
s���� � u�w � r¹¼ � ��q �t} u ���Æ­ � �I��� uxw � £ }��O����}a� w � �'uø��u � �Ïw ��� � ¦���}�������¿����t} s���Á � ¼¹u ���x��}���¡

d2 � w �¹þ q�� � ��s £ w � r � r � �¸� �x�¤��� L � }�¿�}��x��}��x���t}�� � �v�x������� q }���}�¾�}�� � }�� �¸� �v�:��� u }��x��� � }��¥�
� ��q �t} u ��� � � � �t���k}��:��}��t�I} s �¯����} � } w � r � � ¾ � � w � � �4�¤���x� � }�� u�� �t}D�@���¤� w�Á<� �Ïm ��� � wÆy ¡.- � }
q ¦ svu }��v�����I}�� u } � ����\ y ´ � µ -�� µg= ^ ¡

MS

1 0 −1

4 (2+, 2−)

3 (2+, 1+) (2+, 1−)(2−, 1+) (2−, 1−)

ML 2 (2+, 0+) (2+, 0−)(2−, 0+)(1+, 1−) (2−, 0−)

1 (2+,−1+)(1+, 0+) (2+,−1−)(2−,−1+) (2−,−1−)(1−, 0−)

(1+, 0−)(1−, 0+)

0 (2+,−2+)(1+,−1+) (2+,−2−)(2−,−2+)(1+,−1−) (2−,−2−)(1−,−1−)

(1−,−1+)(0−, 0+)

m ��� � w@y ¡/-�º d2 � �����������x���¹���I�@���:� w�Á<� ����}��x�

m ��� � w�y ¡.- ��� }��¤� � w�u���s £ w � �<� � ¼<� � � � u }��%� � ��� � }��¤�R����� u }��x��� � ���v���t¾���}���}�� u � w � �6� � u ml

� }�¿�}��x���t� �<���:���t¾�� u }��v���°���:���t¾��e}���}�� u � w � �8� � u ml
� }�¿�}��x���¹� � �tsZu ��� � � s ��}��)� s } ms = 1/2

� � ���
” + ”

�
ms = −1/2

� � ��� ”− ” w � � � � �Æ� r ��� � �t����� � � uø��� ����¡:�U¿�}��b}���}�� u � w �'ù±}���}�� u � w �k� u �@} s �
w ��� � �I��� w � s�� £ � � �tr �¤���x� � }��b�������t���e�I���¤� w�Á<� ������}��t}�� Â � s � � ��� � ���v���t}0}��v� uaw � � ¾ � � u �Ý¡<^a�t¾ � �~�

=



¦���}��������¤��} ��u�w �I� � � �<� ²�} ��w ¿ r4s ���¤� �<� ¿����û� w ��}�� � ����}�� � }a}���}�� u � w �¹� � � � � ��s �¥� u �@}���}��o� r ²¤²�} u ù
��� � ��� ²�} Á }��8� � � � �$� Á � � ��} � ����}��@}���¡�c r � r � sxw � r ¾ r6w � � � � �~� �¸� �x�¤��� r � � £ sx� � �<� ¿�������� �
� � �x�x������� q }���}����@���:� w�Á<� ����}�� �¸� �v�¤���a}��t}�� Â ����� � ����¡oc����8� ��q �t} u ��� � � � �¹���6} u �¤� s � £ ��} d2 � w �:ù
þ q�� � ��s £ w � r � � ��� �tr �:���x� � }����I���¤� w�Á<� � �tw � r � u�� �t} 1G

� £ ���v�@� � ��� u�� �t} 3F
� � }�� uø� �¹} 1D

�
�tw � r � u�� �t} 3P

²�} � ��� u�� �t} 1S u }��v���I��}��v���t} � � uÀw � � � � � w � r � � ¾ � � £ � �x����� � � � �x��� uxw�¼ � � �@� � �����
}��t}�� Â ����}��v���t} q ¦��v} �tr £ � �v����� � � � ��¬'}��:��� y ¡ µ � } q ¦ svu }��x�����I}�� u } � ���`\ µ�´ ^ ¡t¬'}��¤��� y ¡ µ �'� }��¤� sv¼ ���'ù
w � � � u } u �¤����}��x�I} s ���t} � � u £ � �x����� � � � � �t��� �t¾ �k� ¦�� � � � } � } u�� £ ��� w � � � � �@���t¾�}���}��t}�¾�}�� u ����¡

Spin-spin etkilesmesi Orbit-orbit etkilesmesi Spin-orbit etkilesmesi Magnetik alan

d2

Singlet  terim

Triplet  terim

E

MJ
1S

1G

1D

3P

3F

1S0

1G4

1D2

3P2

3 P1
3P0

3F4

3F3

3F2

0

4  -4

4  -4

2  -2

2  -2

2  -2

3  -3

1  -1

0

=

¬'}��:��� y ¡ µ º d2 � w �¹þ q�� � ��s £ w � u }��x���I��}��x���t��� £ � �v����� ��s �

c������ w �¹þ q�� � ��s £ w � r � u����<� � �tr � r � u }��x��� s }�� ��w � � }�� �<��s � u0w � � � � ��­ r � � � r ù
� � ����� �<� � � }������v��}��¹� ¼ � L � S ²�} J � }�¿�}��x��}��x���t} �t� ¿���� w � � � � � 2S+1LJ

�x}��¤����� � } � ��� s }�� �ûw ����}
� }������v��}��t����¡Ù­ r � � � r � � ����� ��q ¦��v} uø���<� � �tr � r � u }��x���I� � }������x��}�� � ��� u }�� sxw �¹� �a� ��¿�}�� �tr � r �Mù
� � �v��� u����<� � �tr � r � r � �Æq ¦��v} q ¦��x}����Ï}��t}�� Â ����}��v� � uø��� � w � � � Át� ����� � } � ��� dn � w �¹þ q�� � ��s £ w � r
� � ��� F0, F2

²�}
F4
w � � � � � u�� �v} u ����}��ih5jlk(m�npo�ùKqsr�tCuKr�t5vfh�wWr(opmxj]npy{z?|W}~|W������}�������}��M¾���� s ��� � }��

²�}��v����} � �������¹����¡ F0
¼<� � � �@} u �x} s � �t� � q|�I�Ôw �t� s � £ w � r � r � R(r)

� ��� £ � �À�¤� s �I���¹�X� � }��v���x��}��¥� F2

´



²�}
F4
¼<� � � �I} u �v}���}��x� �<� � q|� �Ôw �t� s � £ w �¹� � �v���t��� Y m

l

����} q ¦ sZu }��v����}�� ��� � s�� �¥�¤� s �I���¹�û� � }��v����¡ d2

� w �¹þ q�� � ��s £ w � r � r � u }��v���I��}��x�¹� � ��� F ¼<� � � �@} u �x}���}��x�tm ��� � w y ¡ y'��u } q ¦ svu }��v�����I��� u ����¡Òm ��� � w ù
�<� � �<��� �t� � �v��� � ¾ � ¿�� q � � � �t�'u�� � u }��x���@��}��v��� s���� }�¾�} � ��� u�� �t} F0

¼<� � � �@} u �v} s ���t�:� � }��x�I} s ���'ù
� }�� �tw � � £ � u }��x���I��}��x���8}��¹}�� Â ����}��x� � � ��s ��� �t� �¤� �¸� �v�:� � � F2

²�}
F4
¼<� � � �I} u �v}���}��x���t} �t� ¿���� � ����¡

c r@�¹r � r � d w � � � uø� ����}��x���t��� �<� � q����Ôw �t� s � £ w �t� � �x���t��� u }��x���@��}�� � ��}��v���t} ��� � s�� �<�:� s ���@� � �x���t���
} u �¤� s ��� � }�� � ����¡

� w ¿ r �¤��� £ � ¾�� Á } s���¼ � � � � � � � �<� � w � � £ ����� w ��� ��s � � � � ¾��~����} F ¼<� � � �I} u �v}���}��x��� � }��
u�� �v} u ����}�� A, B ²�} C � |5�p|���z?|W}p|W������}�������}��±�t�[� r ��� � �t���x� � ��¡'c r �t� � � � � ��s ��� �<� �¤�e�������v�¤� � }

B = F0 − 3F2 + 36F4

C = 35F4

�x}��¤����� � } � ����¡�c������@} uø� �l� £ w � r � r � sv¼ }�� u � r � r � �<� � B ²�}
C � }�¿�}��v��}��v� � }������v��}��t}��v}�� £ ��¼ �

Á<� �¤�¤��� �<�%�t� ���aþt����� s }��a²�}��¤��� £ ��sx� �a��} sZu ���v���I��}��8� � �I� � � w � ��� �����@}�� u } � ����\ µ 2|� µ {K^ ¡ B
}���}�� u � w �t� � � � � ��s �¯� u �I}��¹���4¦�� ���tsx�t�¹� ��� � £ �t� sx¼ ����� r � u � ¼ ��� s � u }���� �tr � r �@� � �x���k}��t}�� Â � �¸� �v�|ù
��������¿��<¦�� ��� � � � � }0� r ��� � �t��������¡¤­b}��@}�� Á }��I}�� u�� � 3d

�I} u�� ����}��v�û� � ��� �tr � r � � � C/B w � � �t�
s���� � uxu ����\ µ 7¤� µg= ^ ¡�� � ¾ ��Á�¼t� � � �I} u �x}���}��v�)}���}�� u � w �'ù±}���}�� u � w ��� u �@} s ���¹��� u }�� � ��� � ����������� u }��
� � £ � � �¤� � � � � u }��x���@��}��x���t���@}��t}�� Â ����}��v���t}a} u �¤� s ���¹�e¦���} u ��}���\ µ�´ ^ ¡
m¯}��x��� �U�t}�� Â � m ���<� ��mÏ}��x���@} 0 ¦��v}ð w � �tw �'ù]ï Átw � u � £ � � ¾ ��Á \ � �x�v��� � � u ���x� �
3F F0 − 8F2 − 9F4 A− 8B 0
1D F0 − 3F2 + 36F4 A− 3B + 2C 5B + 2C
3P F0 + 7F2 − 84F4 A+ 7B 15B
1G F0 + 4F2 + F4 A+ 4B + 2C 12B + 2C
1S F0 + 14F2 + 126F4 A+ 14B + 7C 22B + 7C

m ��� � wIy ¡ y º d2 � w �¹þ q�� � ��s £ w � r � � ���O}��t}�� Â � ¼<� � � �I} u �v}���}��x�

dn
� w �¹þ q�� � ��s £ w � r � �t� �¤� n � }�¿�}��v���t���-���¤� � }�� �¸� �v�:��� w ��� ��s � �tr � r � r � �<�kw � u�� £ �

� ��� ��� ����}�¾�}�� u }��x���@��}���m ��� � wIy ¡ µ �<� }0¦���} u ��}��t�I��� u ����¡
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\ w �¹þ q�� � ��s £ w � mÏ}��v���I��}��
d1, d9 2D
d2, d8 3F,3 P,1 S,1 D,1G
d3, d7 4F,4 P,2 P,2D,2 F,2G,2H
d4, d6 5D,3 P,3D,3 F,3G,3H,1 S,1 D,1G,1 I
d5 6S,4 P,4D,4 F,4G,2 S,2 P,2D,2 F,2G,2H,2 I
d10 1S

m ��� � wIy ¡ µ º~ï'}�� � } sZu � £ w � dn � w � �Ô�tq�� � ��s £ w � r � � ��� u }��x���@��}��

c r$u }��v���I��}��v���%}��t}�� Â ����}��x� s���� }�¾�}4}���}�� u � w �'ù±}���}�� u � w �$� u �@} s ������} � }�¿���� � � £ �x��¾ �?� ���
w � u�� � �t� �¤�<�:�v� sZuø� � � � � �K²�} u }��x���@��}��v��� s���Á � ¼Iw � �¹r �¤� � �v� sx¼ ���@²�} w � � � uø� �<} u �¤����}��v�@} s � sxw � r ù
¾ r � �t�I�<�#�¸� �v�¤���¥}��t}�� Â � s }�²:� £ }���}��v���t} £ � �x�������v� � ��¡

n r � � �x� �<� s }�� � } sZu � £ w �O� � ���O}���}�� u � w �t� � � � � ��s �[� u �I}���}�������} w � r � � � u }��x���@��}��o�:� s�� ¾ �
���t¾�}���}�� � �Ý¡<V � � ��u�� }��¤��}��¹����}�¾�}�¿�� q � � � � ���)� £ w �4��� q|� � � � � �x� � s�� �x����� ¼ � w � ¼ ��}�� s�w � r � uxr � �tr ¿ r
� � � � � u }��x���I��}��x��� � } Â }��t}��x}�����¿�� s }�� � } svu � £ w � �<� �¤��� � }�� ��w � �¸� �x�¤��� w � � ¾ � � u ����¡

c r � ���<� ��s ��� u�� � u ���x����� � � � sZu }��t}�� � ��q �t} u ����� � £ � �t} � }�� w � � � u }��v���I��}��v���
� w � ¼ ��}�� s ��}�� � } � £ w �t��� u }��x��� s }�� ��w ����}��v���t} q ¦��x} �t} � }�� ²�} � ��s ���6} u �¤����}��t}�¾�}�¿�� � ����¡
c�������� � ��¿�� q � � � Á }�� ��uxw �@���O� w �'þ q�� � ��s £ w � £ ��¼ �X� � }��v� s ��� � } � }�¿����x���O} u �:����}��x�I}���}�� � }��G� � £ ù
� � �¤��� w � � � � � £ }��t�:�x}��¤������}��t��� � ��� � }�¿��������@� q ¦ svu }��v���x��}���¡Ùc r Á }�� ��uxw � r �D��}�� � �:}���}�� u � w �t���
� w �¹þ q�� � ��s £ w � r � ��Á }�� � } �tr � r � �tr ¿ r-w � uø� �@���?þt����� s }�� �tr � r � r � �4�<� ¿���� � ����¡[^ £ �v��� u �����
uø� � u ���v� � £ }��x���t} �tr ��� �����x� ���<�õq ¦���¦�� � �t} � ����� � � s � svu }��I��}��x��� � ��s ���O} u �¤����}��t}�¾�}�¿����t�
�:� s�� ¾ � ¦���} u ��}�� s }���ºóm¯}���� ��¼tsx� �@��� �<�?�<��Á<�-��w � 3d

X £ � �¹� � ���x���t¾�� s ��� ��q } � ���I�@} uø� ����}��v� Z
s � sZu }��@��}��x� £ ��}���� q ����}�� s }�� � } � ��¿�}����I} u�� �����
� w � ¼ ��}�� s ��}��v��� � }�� ��s ���K} u �:����}��t}�¾�}��¤��}��x���¹}
�:� s�� ¾ �K� }�¿����t� ¼��tr �t� � �v��� 3d

��}�������}�� ���<�K� �����:� £ ��s � � � ��s � £ ��¼ ��� � ¾ � � u ����¡
c����v���t¾�� s ��� � q } � �����I} u�� ����}��v� 3dn }���}�� u � w �t� � �x���t�~� � }��x}�� s � sZu }��@��}�� � ����¡:c r �I} u�� ����}��

£ ��¼ �e� � }��x� s ��� � } 4s
}���}�� u � w �t� � �x���t� q }��t}��������¤��}a� � £ � } uxu ���¤��}��x��� � }�� �tw � � £ �e���¤���t¾��[²�} �t��� �t¾ �

q } � ���D�@} uø� ����}��v�À����}K� � �x�v��� � � u ���x��� � ���:� � �x��� �<�Mw � u�� � �<� � �<��Á<����w �?} u �¤����}��t���x��}���¡¥^ £ �v��¾ � 3d
£ � ¼ }�� � }���} £ }���}���}�� u � w � s�� £ � s � 4d

²�}
5d
£ � ¼ }�� � }���} £ }���}���}�� u � w � s�� £ � s ��� �<� � �<��Át�%� �

w � �tr ¿ r � �<� �3�:�v� sZuø� � � � � �t� �<��Á<�O��w � Á � sxs } � }�¾�}�� u ����¡ 4d ²�} 5d
�I} uø� ����}��x� � ��¿�}���� ���tr �¤� � �

uø� � ��� ��� �t� � �<��Á<�3��w � ¼ }�� � }���}�� � ���:��}��v��� � }�� � ���v���t¾�� q } � ���M�I} u�� ����}��x�o����}Æ� � �x�v��� � � u ���x��� � ����ù
� � �v��� �<���<��Á<�R� �b} u �¤����}��t�I���v��}�� � ����¡�c rIu }��x��� s }�� �ûw ����}��x���¹�t} u �:����} £ }�� � ��� �<� �x� �D�¸� � u ¦�� � }

- z



sx¼ ���'ù w � � � u } u �¤����}��v�@} s � � ����¡�c����v���t¾�� q } � ���o�@} uø� ����}��v�t�¤�x� svuø� � � � � � �t� � �t��Á<�R��w �K} u �¤����}�� � ���|ù
��}��v��� � ��� sx¼ ���'ù w � � � u } u �¤� s ���t�����¤�x� svu�� � � � � ��} u �¤� s ��� � }�� sxw �t� �?u�� � u ���v����� ��s � �t��Á<�?r £ q�r �
w � � ¾ � � u ����¡<^a� � ���:���t¾��e²�} �t��� �¹¾ �?q } � ���b�@} uø� ����}��v�e�¤�x� sZuø� � � � � � �<� � �<��Á<�Æ� � } u �¤����}�� � ���|ù
��}��v��� � }�� �¹w � � £ � �trCs � sZu }��@��}�� � }8¦��t¾�}������¤��} sx¼ ���'ù w � � � u } u �¤� �<��Á<�Gsxw �t� ���<� �:�v� sZuø� � � � � �
} u �¤� s � uø� � u ���x����� � ��� � ���`\ y ´ � µ -�� µ 8�^ ¡

c r=� }������ u ����}��¹��}�� � }�� � } � �¹� � �v��� ��� ����}�¾�}�¿�� q � � � � ���x���t¾�� q } � ���3�I} u�� ����}��x��� � } L −
S

X £ � �t�I� rtsxs }���� ùZï ��r � � }�� s Z }��x��}��x�I} s �K� £ �#� r ² � � u�r � sx� £ � s � w � �tr ¿ r=Á<� � � }����¤���t¾�� ²�}
�t��� �¹¾ �õq } � ���k�I} u�� ����}��x��� � } J − J

� £ �0� rt� � u�r � s�� £ � s � � ����¡�c r � � ���x���t¾�� q } � ���k�I} u�� �§ù
��}��v�#� � ��� [LZ , H] = [L2, H] = [SZ , H] = [S2, H] = 0

�
4d
²�}

5d
�I} u�� ����}��x�D� � ���

� s } [JZ, H] = [J2, H] = 0 w ��� ��s � � �t� � �I��� �%q }����@}�� u } � ����¡ [JZ, H] = 0 w ��� ��s �a� s }
[LZ + SZ , H] = 0

����}��
[LZ , H] 6= 0 w ��� ��s � � }��I}�� u ����\ µ 89^ ¡

c rõ��� �����v� ���<��� ���v���t¾�� q } � ���G�I} u�� ����}��v�i����}���� q ����}��t��� � ��¿��§� � }�� �tr �¹� � �v��� � £ �v��� u �����
w � � � � �3¦��t¾�}Æ�¤�x� svuø� � � � � � � � u ��� �<���<��Á<��svw �t� �G�<�Gsv¼ ���'ù w � � � u } u �¤����}��v�@} s � � � u ��� �t� � ��s ���
} u �¤����}��¹}�¾�}��¤��}��v� � £ �v��� u ����� w � � � � � uø� �¤� ¼ } � ����}��O���¤� � ¦�� � � � } � �t� ��u ��� � ¾ � � u ����¡
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� � 1 �$�'� � (+�Ç(6�#(+��/�� � ������! ����! � 2 �#� �4�$����� � � 1 �'���

,eî ' Hkâ�ÑÝÕáÐÙË<ÜoNOÜ¸Ë<Í+HGÛlâ�Ëtæ%í
\0�v� sZuø� � � � � � u } w �x� s ��� � ���#�¤�x� sZuø� �ó¦�� q�� � � }��x� s ��� � }��¤��� £ w �¹� � �v���C}���}�� u � w � �<� ¿��������I�

� ��}��x���¹} � }�²:�x} s ��� � }��¤�a� £ w �¹� � �v����}���}�� u � w � £ w ¿ r �t� r �¤� � �v���t����} u �:� s ���t� ��� ���:� � � � �C� � ���������
w � � � � ��- 8|y98 £ ������� �<� c�} uxÁ } uø� � ��� ��� �<� � q }������ u ���x�����I��� u ���`\ µ y�^ ¡À\��x� svuø� � � � � �C� r � � �I��¦���}��§ù
�����¤��}G}���}�� u � w ��� w �'þ q�� � ��s £ w � r � r } u �¤����} � ��¿���� � }�� Á }��I}�� Á }��@}�� Á }���� � � � � Á } s���¼ � � ù
� � � � � ���<��Á ���b} � �����@} s � q }��v}���}�� � ��� ¼�w�u�� � s � £ }�� u }��x���I� w � rt¼ � �<� ��� �tr � r �I� � � �<� } u �¤� s �
� ��¿�}���} u �¤����}��v��� £ � �¹��� �<�R�<��Á<�R� � �t��s �¤��� w � �tr ¿ r � �<� �¥�¤� Á � � �<} � �����I} s � ��w � �t� £ � � svw � rt�
� }�¿����x���@���t}b�¹} � }�� w ��� � ��¡'V � � ��u)�<� ��� �tr � r �@� � � �t� � s } �tr } u �:� � ��¿�}���} u �:����}��x} q ¦��x} �<��Á<�
�<��s �¤��� w � �tr ¿ r � �<� � s���� }�¾�}�� �tr } u �¤���t��� svw � r ¾ �+� ���x}��6� ��u �¤� s ���¹� �tr � r¹¼ � �tr � r � � � �tr
sxw � rt� � � �v��� � ��¿�}���} u �¤����}��x} q ¦��x}0� w'� �§þ £ }�} � �����@} s � q }��v}��¤�@}�� u } � ����¡

\0�v� sZuø� � � � � � u } w �x� � ��� £ ��¼ � �<� �@}��x��}�� ��u�w � r-¼ }�� ux� � � }8} � } � ����}�¾�}�� uxw�¼ � � � � ���
¼ûw ��� u � �i¼�w�u�� � s � £ }�� w � � � � ��� ���¹r �a} � �����@}�� u } � ����¡oc r �I}��v��}�� ��u�w �4����� q�� � �6��� ��²�}��v����}��
��u�w �4�e� £ w �¥�l� w ��}�� � �À²�} £ � � w ��}�� � � q � rt¼ � � �x� £ � �Os�� �v�����@��� u ����¡[fk}��v��}�� ��u�w � ²�}Æ} u � ��� ���'ù
�<� �¤�U��� q|� � � � � � � � ��s ��� �<� �:� �t� ¿�� � �t� �8u�� � � �@}��?� £ w �t���k� � � � � u }��x��� w � � � � �G� ���¹r �U} � ��������¡
dl� q|� � �¹�<� �¤�l}���}�� u � w �t� � ���û�I} u�� �l� £ w � r � r �?}���}�� u � w �t� � �v�l����} w ²�}��x� ��¼�w ��� � £ � ²�}K� � �x���x��� �
�������t��� w ��� � £ � ¼ ���I} uø� �t� £ w � r � r �@}���}�� u � w �¹� � �v��� �as ���I} u �x��� �t� ��}��t��}��t���x��}��x���t} q ¦��v} � ���X}���}���ù
u �x��� s }�� ¼�w�uø� � s � £ }��o} u �:� s � £ ��¼t� �x� � ��¡Ï\��x� svuø� � � � � � ¼ûw�uø� � s � £ }����Ý� � ���D}���}�� u � w�svu���u ��� ¼ûw�uø� �'ù
s � £ }�� � ����²�}R}���}�� u � w �¹� � �v��� w � � � u�� � ��� � sx� �¥� w �@}�� u�r �I� � �v�û����}i} u �¤����}��v�@} s �¥����} w � r � r ��¡

\0�v� sZuø� � � � � �0} u �¤� s ��� � } �¹r � r � � �0�@}��x��}�� ��u�w � r � £ � � s }�� u�q }��t�I} �t��s�� � � �¤���v��� ���<� �
¼ûw ��� u � � £ � �¤� ��� ���8� £ w � �tr ��¡�de� q|� � � � � � q }��t}��������¤��}4�¹} q|��u � � £ � �¤� ����u�w �I� � � w � �tr ¿ r6q � � �
OH−, CN−, NO−

2
q � � � ��u�w � q � rt¼ � � �x� �<��w � ��� �������x��}���¡�c � ��}�� � } NH3, H2O

q � � �|�t¦ u � � �
� w ��}�� � ����}��v� � ���x��}���¡�c�¦ £ ��} � ��� �tr � r � �t� � s }��t¦ u � � �:��� q|� � � ���0}���}�� u �v��� s }�� � � ¼ûw �:� w �I}�� u ���t���
�t} q|��u � � £ ¦�� � �@} uø� �|� £ w � r � ���tw ¿�� r £ ¦��t}����I��� u ����¡Ùfk}��x��}���� £ w � r �t¾ �b� }��¤����}��R�¹} q|��u � � £ � �:� �
��� q�� � � � � ���e�I}��v��}��8� £ w � r�w � � � u�� ����}��v��� � } �¹r � r � � ��}���}�� u � w �t� � ��� �<��Á<���tw ¿�� rtsvr }���}�� u � w �
�tr � r'u � � �x� uø� � ��� ��� �<� �8}���}�� u �x��� s }�� w � � � � �K� u ����}�¾�}��¤��}��v��� � }�� � �t¾ � � � }�� q } r � � �¤����¿���� � � ���<� �
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£ � �¤� � � ��� �������x��}���¡
ï'}�� � } svu�� ��� ��u�w �ò� � ���4­ � �I��� u�w � £ }��O� �¸��� } s � q }��t}�� w � � � � �~�

Hiyon =
∑

i

p
2
i

2m
−

∑

i

eV0(ri) +
∑

i<j

e2

rij

X µ ¡.- Z
�x}��¤����� � }D²�}��x��������¡û�U�v� u ����� µ ¡/- ��� }��¤�¯����� u }��v��� s � svu }��@���G�¤���¹} u ����}��t}�� Â � s � �����¤���¹¾�� u }��x��� � }��:�
V0(ri)

� s } s � svu }�� � }��¤� �t�'u�� ��}���}�� u � w �t� � �x��� Á � svs } uxu ��¿�� ¼�w�u�� � s � £ }���� u }�� s ���a} u �@}�� u } � ����¡
fk}��v��}�� ��u�w � � ��� Vcryst(ri) �¤�v� svu�� � � � � � ¼ûw�u�� � s � £ }������t� Á � sxs } uxu ��¿��U� � � � �-­ � �I��� uxw � £ }��
� �¸��� } s � � }�¿����x}��v}�� £ }��t�l} u �¤���t��� � } �<��Á ���¥} � �����I} s �[����} µ ¡/-R}��x� u ����¿�� �

H =
∑

i

p
2
i

2m
−

∑

i

eV0(ri) +
∑

i<j

e2

rij
−

∑

i

eVcryst(ri)
X µ ¡ y Z

�x}��¤�����t� � ������¡
\0�v� sZuø� � � � � �t����� � £ � �iw � �tr ¿ r � £ � �¹� Hiyon >> Hcryst

�tr � r � r � �<� �¤�x� svu�� � � � � �
} u �¤� s �[����} s }�� � } svu � £ w � �<�#w � r � � � £ � �x����� � �¤� �t��� � � ��� ¼ }�� ux� � � } u }��x��� w � � � � � �t� � � � � � � ��¡
n � �x����� � �t��� � � w � �¹r ¿ r��tr$�tr � r � �<� �I}��x��}��4� £ w � r�s }�� � } sZu � £ w � �<� ²:� � �¹���x��� �3� }��t��}��
� ��� �<� ²'� � �t��� q ¦ sZu }��v� ¼½�<� � q|���Ôw �t� s � £ w � r � r � (LSMLMS)

¾���� s ��� � }��½� �¸��� }+} � �����@} s �
� ��� q��¹� � � � u }��x�¤���U} u �I}���\ µ 7 ^ ¡lV � � ��u 3d q } � ���0�I} uø� ����}��x�Ï� � ���?�¤�x� sZuø� � � � � �?� ��u �:� s �Ý� Hiyon

­ � �I��� u�w � £ }��t��� � }��¤��}���}�� u � w �'ù�}���}�� u � w �Ç� u �@}���}��x������}½� � �x�v��� � � u ���x��� � ��¿���� �t� ¦��t}��@��� � ���
�t� £ � �¤� � � u } � ����²�} � � u ���I� �t��� � � ��� ¼ }�� u�� � � } u }��v��� w � � � � � �t� � � � � ��}��@}���¡<m w�¼ � � � � ��� � ���
� £ w �t� � �v�~� � ���@� s } sx¼ ���'ù w � � � u } u �¤����}��x�I}a­ � �I��� uxw � £ }��t� Hs−o

�:�¤�x� sZuø� � � � � � Át� �@��� uxw � £ }��¹���'ù
� }���} u �¤����� w � r¹¼ Hiyon > Hs−o > Hcryst

�x}��:����� � } � ����¡�c�¦ £ ��} � ��� �tr � r � �<� � £ w � r � �t� � q|�
�Ôw �t� s � £ w � r (LSJMJ)

¾���� s ��� � }��$� �¸��� }8} � �����I}���� � ���`\ µ 7 ^ ¡Àc r £ ��¼ ��� � � �<�G�<� �¤�x� svuø� � � � � �
} u �¤� s �l­ � �@��� u�w � £ }��t}a� �¹��� � � ��� ¼ }�� ux� � � } u }��v��� w � � � � �I}��¤��}��t����¡
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� }��t�¤��}��I���t� sx� ¿�� � £ � � � ���<�I}��v��}�� ��uxw �°}���}�� u � w �t� � �x���t���Æ� � �v} s }�� s ���I} u �x��� ¼�w�uø� � s � £ }���� � �§ù
u ��� �<� � w � r � r �@� r�w � �tr ¿ r � r�q ¦ sZu }��v���`\ y ´ � µ 89^ ¡o\0�v� sZuø� � � � � �¥� ¼t� � � � ��q �¹} u ��� � £ w � r �
� }��¤��� � }�¿����t���R} u � ��� ��� �t� � � �v} s }�� Át� �x� w �t���:��}��v��� q��t�os }��x� s ���¹} ��� �������I� w � � � � � £ � ����� ��� �������`\ µ 2|�
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Vcryst(r) =
∑

l,m

Almfl(r)Y
m
l (θ, φ)

X µ ¡ µ Z

Vcryst(r)
� � ¦��t�I} � � u ��� �<�4s���� � u#w ��� ��� ��¿���� �<� � H � � u ��� L ²�} L2 ����}@� w � �¹u���u � �

� }�¿���� � ����¡ � � �¹� � d w � � � u�� ����}��x���t����� � �v} s }�� s ���@} u �v� s � ��w � r � r ��¡o^a�¹¾ � � µ ¡ y }��x� u ����¿�� sx¼ ���
Á<� �x}���} u ���¹�<� � }��x�I} � ��¿���� � }��M}���}�� u � w�svu���u ��� } u �¤�~����} �tr8Á<� �x}���} uvu } � }�¿����x���:����� � }��¤��}��¹}��I} £ } ù
¾�}�¿���� � }�� H � S2 ²�} Sz ����}�� w � �¹uø��u � �äu ����\ µ 8�^ ¡

c����R� w:w � � ��� ��s £ w � � ����}��v��¿���� � ��� �<��Á<��q } � }��x��� � ��� � w:� }��Ý�¯�I}��v��}�� ��u�w � r �C²�} £ �
� £ w � r � sx��� }�¾�}R}���}�� u � w�sZuø��u ��� � ���)} u �¤� � � u ��� �<�#w ��� ��� ��¿����t� � £ �v��¾ �M� }�²:�x} s ��� � }��¤�¯� £ w �t� � �v� �
�<� ¿�� � �t� � } u �¤� s ���t��� � } Á } sx���<� � ��u ����� ��s � q }��v}�� u ��¿����¹� s ¦ £ ��}���¡¤c rMu�� �t���@� � � � ��� q|� � �K� � � �
u } w �x� s � w � r¹¼ � q }�� � }�¿�} �t��Á<� £ � �¤��� � ����þ<����� s }�� �tr � r � �tr ��¡Ï\��x� sZuø� � � � � � u } w �v�o�¹}@� w � u��
£ � �:��}��v��� � }������v��� � ��� �¹� ��}�� � }3� ��s ��� � ��� � � � £ �Cq }�� � ���¤��}��v���t���t} � }k� £ w �t� � �x��� � }������x��� � ���
� w � r � �<� ����}�� �<� ¿�� � �x���R� ��s ��� w � r � uxr ¿ rRÁ<� �¤�¤��� �<� £ } u }��v��� � ��� q ��²�}��x}��I}���¡|­ � � �tr �¤�0��� q|� � �
� � � � u } w �x� s � � ���À� w:w � � ��� ��s £ w � � ����}��x��¿���� � }��¤�'�I}��v��}�� ��u�w �_����}�� w �@� r � � �v� � � ��s ��� �<� �:� u�� �
�:��� £ ��s�� � �<� ¿�� � �t� �Æu } w �x����}��v���t�U� ��¼tsx� ��¡¯de� q|� � �%� � � � u } w �v� s � � � ����}��v���3� � ��� � } �t� ¿�� � �t� �
²�}O}���}�� u � w �t��� £ ��¼ � £ � ��� ���¤� � � � �3� � ���%� w ��}�� � ��}�� w � � � uø� � £ � �:� � �x���@���t��� r ��� � �t����¡Ï\0�v� sZuø� �
� � � � £ � �¤� � �v���I� �¹� w ��}�� � ��}�� w � � � uø� ����}��x��� w � r �x� ��s �û²�} �¹r £ ¦�� � � q }���}��x}D}���}�� u � w �t� � �x��� £ }��]ù
��}�� u ���x�����@} s � �t� �¤���I��� �<� � w � �tr � ��� £ } u }�� s ��� � ����¡Xc r �t} � }��t��}@��� q|� � �-� � � � u } w �v� s �Ý�e�¤�x� sZuø� �
� � � � u } w �v� s ���t�e¦���}�� � ��� �tr � r � w � � � � �8� � ���t} � ������¡t^b�t¾ � � �trGu } w �x�l����} £ ��¼ ����� ��s � q }��x}���}��
Á } sx��¼ � � � � � � � w � �tr � ��� � w � �¹r ��¡Ïc r � ���<� �¤��� w �x� r ��� �¹w ¿�� r � ��� £ � � �Ôw �t� s � £ w � r � � }������x��}��'ù
}��I}��I} s ��� � }��$� � £ � � �¤� � �t� � � u���� ����¡Ï^a�t¾ � � r £ q�r � � � � ��� � } ¼<� � � �@} u �v}���}�� s } � ����}��v}��
£ ��¼ ��� � �D�¤�x� svuø� � � � � � Á } s���¼ � � � � � � �v� � q }��t}��������¤��} � }��t} £ ��} r £ r � ��� ����}�� ¼<� � � �@} u �x}���}��Ï¾���� s ���'ù
� }�� �tw ¿�� r�sxw � rt� � � �)²�}��x} � �����@}�� u } � ����\ y98 � µ 7 ^ ¡

\0�v� sZuø� � � � � �4� r � � �I�e� w:w � � ��� ��s £ w � � ����}��x���¤��}��v��� � } q ¦�����}��t}�� d £ ¦�� � � q }���}��v��� � }��¤�
£ � �v����� � £ � �<��s � u�� ���o�x}��¤��� � } ��� ���:� � ��¡¤c rÆ��� �����v� ���t�0� ���x���t¾�� s ��� �Dq } � ���o�@} uø� ����}��x�<����}���� q ����} ù
�t��� � ��¿���� � }�� 3d

}���}�� u � w �t� � �x���¹����}��t}�� Â � s }á²'� £ }���}��v���t���G�¤�x� svu�� � ¼�w�u�� � s � £ }���� � � u ��� �t�I� }�¿����v���
s ���I} u �x����}��v} q ¦��x}�� ��s ����} u �¤����}�� � ��¿�� � �t� � � � £ ����� �����x��� � � � ��� �tr �¹� � �v����� ��q �t} u ��� ��� � �<� ��� ��s ���
} u �¤����}�� � ���¤��}��x� � } u�� £ ��� w � � � � � uø� � u ���v��� � ¾ � � u ����¡
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c���� £ ��¼ �R� � }��v� s ��� � }�� � �x} s }�� Á<� �v� w �¹���¤��}�� £ }��v���t�D� �t� ��� Á<� �v� w �t���¤��}��x} � ��� � � � ù

¾ � ¿���� �<� � s }�� � } svu ­b� � � w�Â }���¦��x�¹}�¿��Ï� � ��� �¹r � r � � ��� � �x} s }�� Á<� �v� w �¹���¤��}�� £ }��v���t} �tr �t� � �x���
¦���}��À� w � � ��� ��s £ w �t� � �v��� �t� � w � r � � �3�v}�}�� d w � � � uø� ����}��x���¹� q ¦���¦�� � �t} � � � � � � Á } s���¼ � � � � � � �
�tr-w � � � uø� ����}��b¾���� s ��� � }�� £ ��¼ ����� � � uø��� ����¡¥ï'}�� � } sZu#��uxw � � � ��� � }�� �¸� �x�¤��� d }���}�� u � w � r � r �
�<� � q��K�Ôw �t� s � £ w � r � r � ��� � s�� �Ï�¤� s ���I� � ��� � s�� � �<� ²:� � �¹���x� � �x� u }�� s ���e} � }�� Y m

l

¾���� s ��� � }�� µ ¡D2
}��x� u ����¿���� � }��

dyz =
1√
2

[

Y 1
2 − Y −1

2

]

, dxz =
1√
2

[

Y 1
2 + Y −1

2

]

, dxy =
1√
2

[

Y 2
2 − Y −2

2

]

,

d(x2−y2) =
1√
2

[

Y 2
2 + Y −2

2

]

, dz2 = d(z2−r2/3) = Y 0
2

X µ ¡E2 Z

d w � � � u�� ����}��v�û����} s ²�} p w � � � uø� ����}��x���¹��� r � � £ s�� � �<� ¿��������I�[¬:}��¤��� µ ¡/- �t� } q ¦ svu }��x�����I��� u ����¡

¬'}��¤��� µ ¡/-�º
s, p

²�}
d w � � � uø� ����}��v���t��� r � � £ s�� � �<� ¿��������@�

ö � � £ s�� � �<� ¿�������� �v}��¤������}��v���t}K²�} q � r¹¼Cu } w �x�o� r � � ��� � �v��� �Oq ¦��x}8}�� s }��¹��}�� � � ��s ��� �t�
- {



�tr � r � � � dx−y � dx−z ²�} dy−z w � � � uø� ����}��x� � dε £ � �<� t2g X �t� � � }��x}��t� Â ����� Z ��}�� s }��t��}�� � ��}��x��� � }
�tr � r � � � d2

z

²�}
dx2−y2

w � � � u�� ����}��x�e� s } dγ £ �Æ�<� eg X¸���¤�����e}��v}��t}�� Â ����� Z s ���@} u �x� s ��� � } w � �tr �|ù
� � �v� q ¦�� � � � ��¡Uc r+q � rt¼¹u�� � eg w � � � uø� ����}��x� σ �<� ¿�� � �x���t� w � r � uxr � r �x��}��¥� t2g w � � � uø� ����}��x� £ �
�<� ¿�� � �t� � £ � � ��u ����� � ��� � � £ �@�t� π �<� ¿�� � �v���t� w � r � u�r � r �v� � �`\ µ � µg= ^ ¡

c����À� w � ¼ ��}�� sUw � r � u�r ¿ r � �<� }���}�� u � w�svu���u ��� � � � �¥���I}��v��}�� ��u�w �
� £ w � r � r@sx� � � �I��� q ù
� � � � � �x��� σ � w �¹} ¼t� ���v��}��v��� � }�� x, y ²�} z £ ¦�� � �t} �<� ¿���� w � � � � � � }�¿����x����¡¤�U¿�}�� �trÆ� � � � uø� �
� � �x} s }�� w � s�� £ � � d w � � � uø� ����}��v���t��� Á }�� � ���x�¹}��x� uow � � � � �D} u �¤����}��¹� ¼ }��¹}�� Â ����}��x���¹� � £ �t�~�@��� u�� � �t�
� � uvu ���v��� � � ¡U\ w � ¼ ��}�� s ��� w � uø��Á } � � � � £ �%�t�-u } u � ��Á } � � � � q } w �I} u �x� s � q ¦���¦�� � � � } �tr � r �'ù
�tr � � � � �~� t2g ²�} eg w � � � uø� ����}��x��� � }��k��� q�� � � � � �x��� �tw ¿�� r � u�rtsvr � � £ � �¤��� w � � �¹���G}��t}�� Â � s ���t���
� ��¿�}��x���t} q ¦��x} �t��Á<�C�¸� ��� �%� � uø� ¾ � � u ����¡oc�¦ £ ��}�¾�}3�¤�x� sZuø� � � � � �t��� w ��� ��� ��¿�� � ��� �tr � r � �<�
� }��x��� � } Â }��t}��v}0}��t}�� Â � £ } s���Á � ¼Ow � � � d w � � � uø� ����}��x� � � u ���M���:����� � } Â }��t}��v} £ } sx��Á � ¼Osx��Á � ¼ eg ²�}
�t� � ��� } Â }��¹}��x} £ } s���Á � ¼ t2g s }á²:� £ }���}��x���¹} £ � �x��������¡ûc r ���¤�À}��t}�� Â � �t� ��} £ � � � ��s ��� �<� �¤�À}��t}�� Â �
�¸� �x�¤��� � �¤�x� svuø� � � � � � £ � �v����� � }��t}�� Â � s � 40

� }��¹����¡ûc�}�� d w � � � u�� ����� � }0}�� ��w � w ��}���}�� u � w �
�tr � r � � ¾ � ¿���� �t� � £ � �v����� � }��¹� Â � s � 40 = 10Dq

����} q ¦ sZu }��x��������¡t\��x� svuø� � � � � � £ � �x����� � }��t}��Zù
Â � s ���t��� �t� £ � �¤� � ¿ � � � ¦�� � �@}��K� � ��� sv¼ }�� u � w�s � w�¼ ��� £ ¦�� u }��@��}�� � }�� £ � � � �v� � �¹��������¡¤�i� � � u�� ����}��
� � ��s ��� �t� }���}�� u � w � q } � ���x��}��v��� � }�������}��x� q }���}�� �Ôw�uxw � svw ¿ r � r ��� ��s ��²�} £ � ���v��� ��s ��}���}�� u � w ù
� ��q �t} u ��� sx¼ }�� u � r � r � UV ù q ¦�� � � � � � ¦�� q } s ���t} �t� �v}���\ µ � µg= ^ ¡

fk}��v��}�� ��u�w � r �8� � �v} s }�� s ²�} p � }�¿�}��x����� w � � � uø� ����}��x�t� s }��¤�x� sZuø� � � � � � �<� � s ���I} u �v���
�x}��¤��� � }b} u �¤����}��¹}�¾�}��¤��}��v��� � }�� � ���¤� ��u } � �����¹� � ��� � ��¡�\��x� svu�� � � � � �¹� �|��� q|� � � � � �v��� w � uø��Á } � � � � �
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� r �%}���}�� u � w �t� � �x� £ � �¤� � � � �%��� q|� � � � � � £ ¦�� � � � }Æ� u ��¾�� � ���D� r ²¤²�} u ����} u �¤� s � � � u ��� �<� � � � � ù
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�:�v� sZuø� � � � � � £ � �x����� � }��t}�� Â � �t� ��} £ ��}��x�l}�� � }�} � ��������\ µ -�� µ 2t� µ 7 ^ ¡

g � � q�� � � ��� w � uø��Á } � � � � £ ��¼ ���¹���%} u �¤� s ��� � } �tr � r � � �%�I}��v��}��O� £ w � r � r ����� q�� � � ù
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V(oct) = (49/18)1/2(2π)1/2(zer4/a5)
[

Y 0
4 + (5/14)1/2(Y 4

4 + Y −4
4 )

] X µ ¡ { Z

�x}��¤����� � } � ���`\ µ - ^ ¡[f4}��x��}�� � }��¤� d }���}�� u � w �t� � �v���t���O� ��� £ � �Ï�¤� s �I�e����}���� q �����û��� u } q � � �e²�} �<� � q��
�Ôw �t� s � £ w � r �

∫ ∞

0

R∗
n,2r

4Rn,2r
2 dr =

〈

r4
2

〉

, (ml) = Rn,2Y
ml

2

X µ ¡V7 Z
w � � � � � �tr � r � r ��¡��i� uø��Á } � � � ���:�v� sZuø� � � � � � ¼�w�uø� � s � £ }������t��� � } Â }��t}��v} 3d

£ ¦�� � � q }���}��x���t}
} u �¤� s � �

∫

(ml)
∗ Voct

(

m
′

l

)

dτ = (49/18)1/2 (2π)1/2
〈

r4
2

〉

(ze/a5)×
∫ π

0

∫ 2π

0

[Y ml∗
2 Y 0

4 Y
m′

l

2 sinθ dθdφ
X µ ¡ = Z

+ (5/14)1/2 (Y ml∗
2 Y 4

4 Y
m′

l

2 sinθ dθdφ+ Y ml∗
2 Y −4

4 Y
m′

l

2 sinθ dθdφ)]

�x}��¤����� � }��¤�e��� u } q � � ����}��x��} Á } sx��¼ � � �t����¡tc r � �¸��� } � }�� s � � ��� �<� � �¸� �x�¤���[� ��u �x� s }���}�� � �t� � �x� �

〈0 |Voct| 0〉 =
(

ze
〈

r4
2

〉

/a5
)

, 〈±2 |Voct| ± 2〉 = (1/6)
(

ze
〈

r4
2

〉

/a5
) X µ ¡ ´ Z

〈±1 |Voct| ± 1〉 = −(2/3)
(

ze
〈

r4
2

〉

/a5
)

, 〈±2 |Voct| ∓ 2〉 = (5/6)
(

ze
〈

r4
2

〉

/a5
)
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�<� � q��O�Ôw �t� s � £ w �t� � �x� � ��}��v���t} Voct } u �:� s ���t� �tr ��� � �G� � ��� s }�¾ r � � � � } u }��x�I��� � � u ��� � ¦�� � �Mù
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� ��u �x� s �:}�� � })} � ��������¡�c r � ��u �x� s ��� � � £ ��q�w �t}�����}�� u ���x�����I} s � sxw � r ¾ r@�tr � r � � ¾ � � w � � �K¦�� � }�¿�}��]ù
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dε
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
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


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




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dxz

dxy
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E = 6Dq �t�M�t� � q|�#�Ôw �¹� s � £ w �t� � �x�

dγ
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
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








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



dz2
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� ���<� � � � u�� �x��}��¥� Á }�� � ��� t2g w � � � uø� �����¹���
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I− < bR− < CI− < F− < OH− < C2O
−
4 < H2O << py ∼= NH < en < dipy <

phen < NO2 << CN−
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²�}
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q }�� � }��¤��}��x}�¾�}�¿����t� ∆0

²�}
P � � ��s ��� �<� �:�¤� � �v�x��� � � u ���v� ��� }������x��} £ }�¾�}�� u ����¡�¬'¦ £ ��}��¤�Ýº ∆0 < P
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\0�v� sZuø� � � � � � ¼ûw�u�� � s � £ }����Ý�)}���}�� u � w �t� � �v��� w � � � u�� � ��� � s�� ��� w �I}�� u�r �I� � �x�i����} � ���
}���}�� u � w�svuø��u ��� ¼�w�u�� � s � £ }������$} u �¤����}��x�I} s � � ����¡�Y � £ � �i� � � � u }��x���I��}��x���¤� s �I}��6­ r � � � r � � �§ù
� � �v��� �Or £ � � � ���x}��¤������}��t���@��}�� � � � ¾ � � w ��� � � � �x��� �<� � �tw � � £ � s }�� � } sZu � £ w � r � u }��x���@��}��x�U����}
� £ �t� sv¼ ��� � } Â }��t}�� ��s £ w � r � �@s���Á � ¼¹u ����¡

® �¹¾�}������¤��} u }�� � }�¿�}��x�����M}���}�� u � w �t� rÆ� ��� ��u�w �½²�} £ � � £ w � r � �<��s � u�Á<� ���~}���} � �����t��� sx� �
s }�� � } svu���u�w � �<� �¤� � ��� s w � � � uø� �����¹��� Á � ��� ��� ��� � sx� � �<� ¿���������¿��¤²�} r � � £ �<� £ ¦��t}������I� w ��� � £ � ¼
� ��� � }�²:�x} � } uø� � s ���@} u �x��� w � � � �trMw � � � uø� � �<� �v� �0� ��� � }�²:�x} � } � } uø� � s ���@} u �x��� w � � ¾ � � u ����¡
ï'}�� � } svu���u�w � �<� �¤� � ��� s w � � � u�� ���Ý� � ��� w � u���Á } � � � � � � � � �<� a1g

w � � � uø� ���¥����}D�������x�¤����� � ����¡:c����
S u }��x���@�ó� � ��� L = 0 w � rt¼�� } Â }��t}��x}�����¿�} s���Á � ¼�� }�¿���� � ����¡Ïc�¦ £ ��}�¾�}�� � �x} s }�� � ��� s ���I} u �x���
£ ��¼ � £ �%sx��Á � ¼�w � � � � � Á }�� Oh

Á }�� Td
s ���@} u �x� � � � �t��� �<� £ � �x����� �-w � r �x� � £ � ¼ ���¤�x� sZuø� �

� � � � �<� a1g
s ���I} u �x� s ��� � }��¤� s ��uxw � w � � � u�� ���Ý� S s }�� � } svu � £ w � u }��v���I� Á<� ����� � }�����}�� A1g

u }��v���I���t} � ¦�� � � � ��¡UmÏ}��%}���}�� u � w �¹� r���uxw � �t��w � �tr ¿ r�q � � � ��w �%}���}�� u � w �t� r���u�w � r � uø� �
s ���I} u �x��� uxw�¼ � � � S u }��x���@� �t� � q�� � w � u���Á } � � � �)� w � ¼ ��}�� s ��� uø� � s ���I} u �x��� A1g

u }��x���@�
����}M�������v�¤����� � ����¡¥�i� uø��Á } � � � � q } w �I} u �x� s ��� � } s ���I} u �x���I}��x��}������t} sx��Á � ¼ £ ��¼ � �<� �:� dn u }��v���
s }�� �ûw ����}��x���¹} g � s ���@} u �v�¹�I}��x��}������t} s���Á � ¼Mw ��� � £ � �t� � � � u � � u ��� � � s �:}��¤��}��t����¡|c rMu }��x���@��}��x}

y µ



f r ��������}�� s }�� ��w ����}��v� � }��¹�������e²�} q � rt¼ u } w �v� £ } q ¦��v} � }������x��}��t�I���v��}�� � ����¡ P u }��v���I�|� � ��� L = 1

� }�¿�}��x��� � } � ����¡ 0 � rt¼Cu } w �v� ��� � ¼ ��� uø��� � w�svr � �<� � Oh
� � � � �<� P u }��x���@���t} �t� � �%� } Â }��t}��v}

T1g
u }��x���@��� � �v�x������� q }�������¡ ¢ �Iuø� �¹} p ��u�w � w � � � u�� ����}��x� w � u���Á } � � � � � ���R�¤�x� svu�� � � � � � �t� �

� £ �t� � }��v}�¾�} � }0} u �:����}��t}��v}�� � } Â }��¹}��x}�����¿����t� ��w ��� ��� ��¿�� q � � � P s }�� � } svu � £ w � u }��x���I���¹��� T1g

u }��v���I���t��� � } � } Â }��t}��x}�����¿�� ��w � r ��� � £ � ¼ £ � �x����� ��w � r �v� � ��¡ L = 2 w � � � D u }��x���@� d w �]ù
� � u�� ����}��x��� � } w � �tr ¿ r?q � � � � }��x��� � } Â }��t}��v} £ ��¼ � �<��� ����¡lï'}�� � } svu ��u�w � r � � }�� d w � � � u�� �����t���
�t� � q�� � � ��� w � uø��Á } � � � �Ï� w � ¼ ��}�� s ��� � } t2g ²�} eg w � � � uø� ����}��x�¥����}D�������x�¤� s ���t} � }��¹��}�� w � � � � �
D s }�� � } sZu � £ w � u }��x���@� � } Oh

s ���@} u �x� s ��� � } �t� � �8� } Â }��t}��x} T2g
u }��v���I���t})²�}i���¤����� � } Â }��t}��v}

Eg
u }��x���@���t} £ � �v��������¡ F u }��x���@�)� � ��� L = 3 ux� ��� w � uø��Á } � � � � � � � � �<� A2g, T1g

²�}
T2g

��� � ��� q }��t}��I}�� q � rt¼ � � �v��� � £ � �x�������`\ y ´ � µ -�� µ y(^ ¡
c�}��t��}�� u�� � � }�� � � � ��������}�� � ��¿�}�� Á<� ����}��v} � } r £ q�r � � � ��� ��������¡�m ��� � w µ ¡/- s }�� � } sZu���u�w �

u }��v���I��}��x�¤����}�� �t� ��� � � � � u }��x���@��}��x� � � ��s ��� �<� �¤�'}��t}�� Â � �t� £ � �:� � �¤��}��x� s ��� ��s ��� �aq ¦��v}��������x�¤����}��v�
¦���} u ��}��@}�� u } � ����\ µ y � µ�µ � µ 7 ^ ¡

ï'}�� � } svu � £ w � u }��x���I��}��x� \ �t� ��� � � � � u }��x���@��}��v�
1S 1A1g
1G 1A1g +1 T2g +1 Eg +1 T1g
3P 3T1g
1D 1Eg +1 T2g
3F 3A2g +3 T2g +3 T1g

m ��� � w µ ¡/-�º¹Y � £ � � Oh
� � � �¹��� �<�0�tr � r � � � d2 � w �¹þ q�� � ��s £ w � r � � ��� sx¼ }�� u � w�s � w�¼ ��� u }��x���@��}��

��� � � u�� � ��� � sx� �a� w �I}�� u�r � L
� ��u �:� s � w ��� ��� ��¿���� �<� � A, E, B u }��x���I��}��x��� � ���

� ��q �t} u ����� w �@}�� u }#� ��u �¤� q }����@} £ }�¾�}�� w ��� ��s �l� ��q �t} u ����� �I� ������� � } w � � � u�� � ��� � sx� �X� w ù
�@}�� uxr �"ü r }��¹¾ Á�w ��� r � u�r �M� �¸��� } s ������}O²�}��x��������¡ T u }��x���@�)� � ��� L uø� �"ü r }��t¾ Á�w ��� � £ � ¼
� ��q �t} u ���8� w �I}�� u }0� ��u �:� q } u ���v}�¾�}�� u ����¡~c r4u }��v��� P u }��v���I� q � � � �¹� � � � � ��} � �������t����¡tc r �:ù
�<� � �tw � � £ � �<� �¹rÆu }��v���I��� �<��Á<� svw �t� �#�<� �<��Á¹s } � }�¾�}�¿����I��� q � � �~� ��q �t} u ���I� w �I}�� u } � ���
w � � � uø� �û� ��u �¤� s ���t��� w � � ¾ � ¿����t� q ¦���¦�� � � � } u�r¹u � � ��� £ ���W\ µ 7 ^ ¡

¬'��� � � � }�� � £ � �¯� � � �t���[� �¸� �v�¤��� dn � w �¹þ q�� � ��s £ w � r � F, P ²�} D u }��v���I��}��x� � ��}��x���¹}
� ��s ���¥} u �¤����} £ }�¾�}�¿����t�e�¤� sx� ¾ � ¦���} u ��} £ }������4¡

y 2



©�ªx©�ª&«gª&«
F ¬ � P ­ ��}��&�A����}��

m ��� � wIy ¡ µ � }�� £ � � � �x� � � � � � � d2 � £ w � r � r � 3F, 3P, 1G, 1D
²�} 1S s }�� � } svu � £ w �

u }��v��� s }�� �ûw ����}��x���¹} s���Á � ¼0w � �tr ¿ r0s ¦ £ ��}��t} � ��������¡ � w �¤� r �¤� � �x� � £ �t� w � � � u }��x���@��}�� � � ��s ��� �<� �:�
q } � ���x��}���¦��t}��@��� w � �tr ¿ r � �<� � s���� }�¾�} 3F

²�} 3P u }��x���@��}��v���t�¥���t¾�}���}��@}�� £ } u }��x��� � ����¡<m ��� � w
µ ¡.- � } q ¦ sZu }��v��� � ��¿�� q � � � 3F u }��v���I� w � uø��Á } � � � � � � � � �<� 3A2g,

3T1g

²�} 3T2g
u }��x���@��}��x���t}

£ � �v��������¡�Y � £ � �¥� � � �M�����@� u ��� � }��¤� � ��� 3d2 s � sZu }��I��� � }��¤� 3F u }��x���@���t} � � u��trIu }��v���I��}��v���K}��t}��]ù
Â ����}��x���t� �tr ��� � ��� � ��� Vcryst } u �¤� s ��� � }��¤� � ¦�� u � ��u ��� � ¦��t�@}ó}�� s }��t���¹} q ¦��v} d }���}�� u � w �t� � �x���t���
� ��u �x� s }���}�� � �t� � �x��� �<� � £ � � � �x� � �t��� ��� �������t����\ y ´ ^ ¡~c r �¹� � ���

(d±2 |Vcryst| d±2) = Dq

(d±2 |Vcryst| d∓2) = 5Dq

(d±1 |Vcryst| d±1) = −4Dq

( d0 |Vcryst| d0 ) = 6Dq

X µ ¡/-�2 Z

w � � � � � � }������v��}��t} � ��������¡¤ga}��t�¤��}�� µ ¡.-�2M}��x� u �����:��}��v�û� r ��� � �t��� � � � � 3A2g
�tr � r � r � r �k}��t}�� Â � s �

E(2A2g) = (d2 |Vcryst| d2) + (d0 |Vcryst| d0) + (d2 |Vcryst| d−2)

= Dq + 6Dq + 5Dq

= 12Dq

X µ ¡/- { Z

w � � � � �~� 3T2g
�t����}��t}�� Â � s � 2Dq ²�} 3T1g

�¹���4}��t}�� Â � s � −6Dq w � � � � � � }������v��}��t���`\ y ´ � µ 7'�
2 y�^ ¡
­b}������:�[}���}�� u � w � r � �<� eg �t� ��} £ ���¹} r £ � �v��� � ��¿�� �tr � r � A2g

Á<� ��� � ����¡

d1 � £ w � r � r � u }��v��� s }�� ��w ����}��v�¥����}��������x�¤�����~� £ w �t� � �v��� u }��x��� s }�� ��w ����}��x��� � } �tr � r �'ù
� ��s ��� �t�Rw � �tr ¿ r@q � � � dn ²�} d10−n � r � � ����� �Rq ¦��x}�� d2 ²�} d7 � £ w �¹� � �v���t��� u }��x��� s }�� �ûw ����}��x�
²�} �<� ¿����[}��t}�� Â � s ��� � � � � � � � �x� � £ �t�Ý� d5−n ²�} d10−n � r � � ����� � q ¦��v} � } d3 ²�} d8 � £ w �t� � �x���t���
u }��v��� s }�� �ûw ����}��x� � £ �t� � �¸� � ��u¯�t� ¿�����}��t}�� Â � s ��� � � � � � � � �v� d2 � £ w � r �t�¤���t��� u }�� s � � ����¡Ù¬'}��¤��� µ ¡ µ �
� } d2, d3, d7 ²�} d8 � £ w �t� � �x���t��� u }��v��� s }�� �ûw ����}��x� � � ��s ��� �t� �¤�[�������v�:����}��o¦���} u ��}��t�@}�� u } � ����¡

y�{



T etrahedral d2, d7
Oktahedral d2, d7 Oktahedral d3, d8

T etrahedral d3, d8

P T 1gT 1g

F

A2g

A2g

T 2g

T 2g
T 1g

T 1g

¬'}��¤��� µ ¡ µ º���� u���Á } � � � �¥²�} u } u � ��Á } � � � � � � � � �<� P ²�} F u }��x���@��}��v���t��� £ � �x����� ��s �

m ��� � w µ ¡ y'�û� } s }�� � } svu � £ w � u }��x���@��}��v���t��� u����<� � �tr � r �I� � �v���t���G� � £ � �ów � u���Á } � � � �
� � � � �<� �¤� £ � �x����� � � � �v� q ¦ svu }��x�����I}�� u } � ���`\ y ´ ^ ¡

ï'}�� � } svu � £ w � r � Dq ® �&}��&�A�&¢����5¯�}��P°( ���|��
�p±W}p|W�s|W�/|W¢{��¢���}&²���£��uø���t� � u }��v���I�
d1 2D 2T2g (−4) , 2Eg (+6)
d2 3F 3T1g (−6) , 3T2g (+2) , 3A2g (+12)
d3 4F 4A2g (−12) , 4T2g (−2) , 4T1g (+6)
d4 5D 5Eg (−6) , 5T2g (+4)
d5 6S 6A1g (0)
d6 5D 5T2g (−4) , 5Eg (+6)
d7 4F 4T1g (−6) , 4T2g (+2) , 4A2g (+12)
d8 3F 3A2g (−12) , 3T2g (−2) , 3T1g (+6)
d9 2D 2Eg (−6) , 2T2g (+4)

m ��� � w µ ¡ y º~Y � £ � �Ïw � uø��Á } � � � � � � � � �<� �¤� u����<� � u }��x���I��}��ó²�}R}��t}�� Â ����}��x�

m¯} u � ��Á } � � � � � � � �¥� w � u���Á } � � � � � � � �t��� u }�� s�� }á²'�v�����@�����x}��:����� � } �t� ��}��t��}��t���`\ µ ^ ¡

©�ªx©�ª&«gª�³ ´ ­ ��}��&�A����}��
\ w:w � � ��� ��s £ w � � ����}��v���¤��}��x���¹����}���}�� u � w �t��� sx¼ }�� u � r � r � �k�<��s � uD� ���D¦��x�t}�� w � � � d1

� £ w � r � r }���} � � � � � � �<� �x� ��� ��¿����I��� �<��ö�� ù 0 ¦�� � � � � � ¦�� q } sv¼ }�� u � r � r � �<��u }�� � ��� sxw ¿ r �x� �
�<� � � � � }��¤��}��t����¡óc r � £ w � r �¥� u }��I}�� Á<� � u }��x��� s }�� �ûw � � 2D � ����¡om w�¼ � � � � w �@}�� uxr �

y 7



� rt� � u�r � s�� £ � s � �<�Iq ¦��R¦�� � �t} � ����� � ��¿���� �<� u }��I}�� Á<� � u }��x��� s }�� ��w � � 2D3/2

����} q ¦ svu }��]ù
��������¡

Oh
s ���I} u �x����� � ���U�¤�x� svu�� � � � � � �<� � d1 }�� � �x�v������� q }���}�� 2D u }��v���I���t��� �<� � q|�a�Ôw �t� s � £ w � r �

d w � � � u�� ����}��v��� � }��¤� u }�� � ���i}���}�� u � w � r � �Ôw �t� s � £ w � r ����} � £ �t� �Ôw �v� �t��� ����¡¥ï:}�� � } sZu � £ w � �<�
}��x}��t}�� Â ����� w � � � � }�� d w � � � u�� ���û�¤�x� sZuø� � � � � �t���O} u �:� s �l����} s ���@} u �x����}��x���¹} q ¦��v} e ²�} t2 u }��x���Mù
��}��v��� � }�����}��¥�~�¤�x� sZuø� � � � � ������} D u }��v��� s }�� ��w � �4� ��� u �x� ¼ ��} u 2T2g

²�} � ��� �tw�r¹� ��} u Eg u }��]ù
���I��}��v���t} £ � �x��� � ��¿�� � �������¹�@}�� u } � ���JX¸m ��� � w µ ¡/- Z ¡~mÏ}��I}�� Á<� � � }R}���}�� u � w � T2g

�t� ��} £ ��� � } � ���
��� �t� � t s }á²'� £ } s � e s }á²:� £ } s ��� � }��H- z gaüK� ���<� � �t��Á<�0�t� � � � s }�²:� £ }���� � ���U}��¹}�� Â � £ } s���Á � ¼¹u ����¡
¢ � � � }��x}��¹}�� Â ����� Á<� � w � � � T2g

u }��v��� s }�� ��w � �C�<��Áts �ó} � ����}�� u }���}���}�� u � w � r � t2g w � � � uø� �§ù
��}��v��� � }�� � ���x��� � } w � ��� ����}�¾�}�¿����t� q ¦ sZu }��v����¡Uc r }���}�� u � w � � ��� � �x� �<� � u }��I���%} � }�¾�}�¿��)}�� � ���
}��t}�� Â �)����}O���¤������}��x}��¹}�� Â ����� s }�²:� £ } w � � � eg w � � � u�� ����}��v��� � }�� � ���x���¹} q } � } � ��������¡Àc r �t} � }��t��}
r £ � �v�����@��� Á<� � �¤���:�����t}��x}��t}�� Â ����� Eg s }�²:� £ } s � � ���o²�} sx¼ }�� u � w�s � w�¼ ��� q } � ��� 2Eg ← 2T2g

w � � � � �
q ¦ svu }��v��������¡ûY � £ � �o� � � � �<� � �tr�u }��x���@��}��v��� � � � ����¿��l�¤�x� svuø� � � � � � ¼<� � � �I} u �v} s � Dq � }�¿�}��x�À����}
�����¹}�}�� � �����x}��¤��� � } � }�¿����v����� 2T2g

u }��v���I� −4Dq
²�} 2Eg

u }��x���@� 6Dq � }�¿�}��x��� � } � ���µ\ µ 7¹�C2 µ ^ ¡
dn
� £ w � r � r �?}���}�� u � w � q } � ���x��}��v�X����} d10−n � £ w � r � r �?}���}�� u � w � q } � ���x��}��x� � � ��s ��� �t�

� ���K�������v�¤�o² � � � ����¡ ® �x�t}�¿���� d9 � £ w � r � r �$}���}�� u � w � q } � ���x��}��v� � d1 � £ w � r �t�¤�)����}Æ�������x�¤����� � ����¡
c r �������x�¤� d9 � £ w � r � �<� �¤� �tw � r �M}���}�� u � w � r?q ¦���¦�� � � � } �tr � r � �tr �x� � � £ }��x���t}�� s }�²:� £ }���}��v�
u }�� s)� }á²'���x� ¼ � � ��� Átw � � d1 � £ w � r � �<� �¤� q � � � � ����}���}�� u � w �t� r � q � � � �t� � � �t�@}��Æ�x}��¤����� � } � ����¡
c r �t} � }��t��} svw � rt� � � �x��� � ��� � ���v���t��� u }�� s � w � � ¾ � ¿����t�l��} svu ���x�I}�� Á � � u }K� w � � }�¿���� � ���PXÝ¬'}��¤���
µ ¡E2 Z ¡��i� uø��Á } � � � � � � � � �t� � d9 (t62ge

3
g)
� £ w � r � �t� }���}�� u � w �t� � �x��� w � � � uø� ����}��x} £ }��x��}��v�@}o�x}��:�����t�

���t¾�}���} £ }��x}�� �trKsxw � r ¾ rM�<��Á<� £ � �¤��� �t� � u } sx¼ � u } � } � �������v���W��¬'¦ £ ��}��:� � � �äu ��}��t�I}��I���l}���}�� u � w �
dx2−y2

²�} £ � dz2 w � � � uø� ����}��x���¹��� � ���x��� � } w � ��� ��������� �tr#�tr � r � �<��u }��I}�� Á<� �:���¤������}��v}��t}�� Â ����� Eg
� ����¡¥m¯}��@}�� Á<� ����� t2g w � � � uø� ����}��x��� � }��¤�Ï}���}�� u � w �t� � � �<� � � ���x���t��� eg w � � � uø� �����¹} � ���¤� ��s � £ � �
w � r � � � r £ � �v�����@��� Á<� �l� � ��� �t� w � ��s �e}���}�� u � w � � �����������x� s ¦��D� w � rtsvr3w � � ¾ � ¿���� �<� � r £ � �x�����I���
Á<� � �t� � � }��v}��t}�� Â ����� T2g

Á<� ��� � ����\ µ � µg= ^ ¡
0 ¦�� � � �¹� ¿ ��q � � � d1 ²�} d9 � £ w �t� � �x���t��� u }��v��� s }�� ��w ����}��v� �'}��t}�� Â � s ��� � � � � � � � �v� � ���Zù

� ���v���t��� u }�� s � w � � ¾ � �%�v}��¤��� � } � £ �¹� � ����¡�c���� �t� �x� �-� }��¹��}��@�������x�¤� � } 5D u }��x���I��� d6 � £ � �x�
�tw � �¹r � r ��� r �O� ���tr � u�� � � ��� uø� �t} �¸� ��� � }���}�� u � w � ��sx��Á � ¼�w � � � � �6� � �x} s }�� s ���@} u �x������¿����t�
�ûw � � � d6 � £ w � r ²�} � £ �t�)�x}��¤��� � }O� � �x} s }�� s ���@} u �v� s ���t� � ���#}���}�� u � w ������} ��w � � � d1 � £ w � r
� � ��s ��� �t��� ����¡ d6 � £ w � r � 5D u }��x���I�X����} d1 � w �¹þ q�� � ��s £ w � r � r � 2D u }��x���@� q � � � �<� ²:� � �¹����¡
d1 ²�} d6 � £ w �t� � �x���t��� u }��v��� s }�� ��w ����}��x��²�} �tr �t� � �x���D}��t}�� Â � s ��� � � � � ��s � � ��� � ���x���¹��� � £ �t� s � � ����¡

y =



c rk�¹r � r � �<� 5T2g

}�� �t� � � �O}��t}�� Â � £ } s���Á � ¼�w � � � u }��x��� w � r ��\ µ � µg= ^ ¡
d0 � £ � � s }�� sv¼ ��� d5 ²�} d10 � £ w �t� � �v�¯� � �v} s }�� s ���@} u �x� £ } sx��Á � ¼¹u ����¡¥�U��}�� u � w � s�� £ � s �

� � �x} s }�� s ���I} u �x��� Á<� � � }�� � ���ó}�� s ��� w � � � d4(5D)
²�}
d9(2D)

� £ w �t� � �x���t��� u }��x��� s }�� �ûw ����}��x�
²�}I}��t}�� Â � s ��� � � � � ��s � � ��� � ���x���t��� � £ �t� s � � ����¡ d4 �tr � r � r £ � �x� �tw � �tr � r ��� r � � ���0� ���tr � u�� �¤�
}�� s ��� � ���)}���}�� u � w � r ����} 5Eg

�
d9 � s } u�� � �¹w � �tr � r ��� r �)� ���tr � u�� �k}�� s ��� � ���)}���}�� u � w � r ����}

� ��� Á¹w � ���t� � � � �t� � �t¼ 2Eg
uø���<� � �¹r � r � u }��v���I��}��x�[}�� � }�} � ��������¡

m¯} u � ��Á } � � � ����� q�� � � � � � � £ � �x����� ��s � £ � � w � uø��Á } � � � ����� q|� � � � � � � £ � �x����� ��s �
� � �x�x��� � � u ���x��� � ��¿���� �<� � � ��� � ���v���t��� u }�� s � w � � � w � � � uø� ����}��x��� }��t}�� Â � s ��� � � � � ��s ���t��� � £ �t� s � u }��v���
s }�� �ûw ����}��x��� � } � }�² � � � ����¡<�U��}�� u � w � �<� ¿��������@�~����} £ ��¼ ��� � � s ���t��Ã � � ���<� dn ����} d10−n, d5−n

����}
d10−n ²�} w � uø��Á } � � � �0� £ w �
����} u } u � ��Á } � � � �0� £ w � � � ��s ��� �t� �¤���������x�¤����}���¬:}��¤��� µ ¡D2 � }

q ¦ svu }��v�����I}�� u } � ����¡

D

T 2g

Eg

Eg

T 2g

T etrahedral d1, d6

Oktahedral d1, d6 Oktahedral d4, d9

T etrahedral d4, d9

¬'}��¤��� µ ¡E2¹º)�i� uø��Á } � � � �i²�} u } u � ��Á } � � � � £ ��¼ � �t� �¤� d1, d4, d6 ²�} d9 � £ w �t� � �x���¹��� u }��v���
s }�� �ûw ����}��x���¹��� �t� ¿����[}��t}�� Â ����}��v���t���Æ��� q|� � �O� � � ��� r ²¤²�} u �l����} � }�¿����x���@�

c�¦ £ ��}�¾�}��
d1, d4, d6 ²�} d9 w ��� � � � ��}��v} � ¦�� u��¸� �x�¤���û� £ w � r � w � uø��Á } � � � �û²�} u } u � � ù

Á } � � � � £ ��¼ � �<� �¤� u }��v��� s }�� �ûw ����}��x�)²�} �tr �t� � �x��� �<� ¿�����}��t}�� Â � s ��� � � � � � � � �x� � }������x��}��t�I���
w ��� � � uø��� ����\ µ ^ ¡

Y � £ � ��� � � �G� � ��� 40
� ��� � � u � ��s � £ � �MÁ }�� s }�²:� £ }��t���3}��t}�� Â � s ���¹��� � � uø� ����� q|� � �k� � � �

� }�¿�}��x��}��x���t} q ¦��x} � }�¿����v�@} s ���¹� ¦���} u ��} £ }�� � � £ ��q � � �@� � � q }������ u ���v�����I��� u ����¡�c r �t� � � � °�}��5���
±W�&¥�|(�W}~|W�A�/|W}�¦ � }��t�����@}�� u } � ����¡

m ��� � w µ ¡ µ �t�t� dn � w �'þ q�� � ��s £ w �t� � �x��� �I� � u�s }�� � } svu � £ w � u }��x���I��}��x���t���I� � £ � �¯w � uø� ù
Á } � � � �¥²�} u } u � ��Á } � � � � � � � � �t� �¤� £ � �v����� � � � �x�~¦���} u ��}��¹�@}�� u } � ����\ µ 7 ^ ¡

y ´



\ w �¹þ q�� � ��s £ w � ï'}�� � } svu W £ w � Y � £ � � ^a� � �Om¯}��x���@��}��x�mÏ}��x���@��}��v�
Oh alanda Td alanda

d0 1S 1A1g
1A1

d1 2D 2T2g,
2Eg

2E, 2T2

d2 3F 3T1g,
3T2g,

3A2g
3A2,

3T2,
3T1

3P 3T1g
3T1

d3 4F 4A2g,
4T2g,

4T1g
4T1,

4T2,
4A2

4P 4T1g
4T1

d4 5D 5Eg,
5T2g

5T2,
5E

d5 6S 6E1g
6E1

d6 5D 5T2g,
5Eg

5E, 5T2

d7 4F 4T1g,
4T2g,

4A2g
4A2,

4T2,
4T1

4P 4T1g
4T1

d8 3F 3A2g,
3T2g,

3T1g
3T1,

3T2,
3A2

3P 3T1g
3T1

d9 2D 2Eg,
2T2g

2T2,
2E

d10 1S 1A1g
1A1

m ��� � w µ ¡ µ º dn � w �¹þ q�� � ��s £ w � r � � ���O� � £ � �X� � � � u }��x���@��}��v�

,eî.,¥î ) ë �¯ì|Ü��6NOÜÔË<Í�ÿDËtÚeÜÔË<å�í¸æ%í
V > e2

ri,j

w � � � q��t� � ��� � � � £ � �:� � �x���@��� �<� }��t}�� Â � £ } �t��s �¤��� w � � � u }��x���ò��� q|� � �O� � � �
w ��� � � uø��� ����¡��i� uø��Á } � � � � � ��� £ ��¼ � �<� �¤�<}���}�� u � w �t��� � w �¹þ q�� � ��s £ w � eg ²�} t2g �t��� �tw � �tr � r �§ù
� ��s ��� �#�t� ¿���� � ����¡ d1 � w �'þ q�� � ��s £ w � r � � ��� Á � �D� ���)}���}�� u � w �t���8� u �@} w ��� � £ � ¾ � � u ����¡ 0��t� � �
� � � �¹��� u����<� � �¹r � r � r t12g � −4Dq s }�²:� £ } s ��� � }O²�} u }�� r £ � �v�����I��� �tr � r � r��<� 6Dq s }áù
²'� £ } s � � ����¡[n r � � �x� �t�4�<�k� }�¿����t��� � ��¿�� q � � �U��� q|� � ��� � � �-} u �¤� s ���t���-� Á � � �À} � �����I} s � Á<� ����� � }
� ��� w � � � uø� ��} q � u �I}���� w � r � �<�3� ��� � �¤��� � �C}���}�� u � w �¹� � �v��� ml

²�}
ms

� }�¿�}��v��}��v��} u �¤����}��x}��x}��
� ��� d2 s }�� � } svu � £ w ��� � ��� 3F, 3P, 1G, 1D

²�} 1S u }��v���I��}��v��}�� � }Æ} � �����I���0²�}O}�� �¹� � � �
}��t}�� Â ����� u }��v��� 3F u }��x���I� w � � � � � � }������v��}��t�@��� u � ¡�n � � s }�� w � u���Á } � � � � � � � �Æ} u �¤� s ��� � }��¤� � ���
d2 � w �¹þ q�� � ��s £ w � r � � ��� u }��@}�� �tr � r � t22g

w � � � � ��� �tsvu � w �¹þ q�� � ��s £ w �¹� � ��� s } t2geg ²�} e2g�x}��¤����� � } � ����¡ 0 � rt¼%u } w �v��� s }����I} u�w:� � � � �4q ¦��x} �tr � w �'þ q�� � ��s £ w �t� � �x��� Á }�� � ���x���t��� Á<� � q �
u }��v���I��}��x��� uxw�¼ � � �@�'����})� ���b� } Â }��t}��x} s }�²:� £ } � }�� w � r � uxr ¿ rI� }������v��}��t�@}�� u } � ����¡�c r8Á } s���¼ � � ù
� � � � �x� � }�� � }�} � ����}�¾�}�� sxw � r¹� � � ��m ��� � w µ ¡D2 �<� }0¦���} u ��}��t�I��� u ����¡

yW8



\ w �¹þ q�� � ��s £ w � mÏ}��v���I��}��
e2g A1g + Eg + A2g

t2g.eg T1g + T2g

t22g A1g + Eg + T1g + T2g

m ��� � w µ ¡E2¹º 00�¹� � ��w � u���Á } � � � � � � � � �<� d2 � w �'þ q�� � ��s £ w � r � r � u }��x���@��}��x�

¬'}��¤��� µ ¡ {'�~� } d2 � w �¹þ q�� � ��s £ w � r � � ���4������� u � � � £ ��q � � �I�e²�}��x�����@��� u ����¡¹ga� £ ��q � � � �t�
u }��v��� s }�� ��w ����}��x���t��� �<� ¿����¤}��¹}�� Â � s ��� � � � � ��s ���¹���0� � £ � � ²�} q��t� � �K� � � � ��q ¦��x}ó� ��s ��� � }�¿���� u ��¿��
q ¦�� � ���I}�� u } � ����¡¯\ r ²¤²�} u ��� � ��� ��� q|� � �C� � � � �<� d2 � w �¹þ q�� � ��s £ w � r � � ��� u }��@}�� Á<� � t22g ²�}
r £ � �v�����@��� Á<� ����}�� t2geg ����} e2g � �����������x��}��v�¹����} �t�bu�� �t} q��t� � �Æ� � � �I� w �'þ q�� � ��s

£ w � r4w � r �v� � ��ù
uø��� ����¡¥��� u���Á } � � � � � ��� £ ��¼ � �<� }��t}�� Â ��X t22g) � �����������v�Ï� � ��� −8Dq

��X
t2geg Z � � ��� 2Dq

²�}HX
e2
g Z

� �����������x��� � ��� 12Dq � }�¿�}��v��� � } � ���`\ y ´ � µ -�� µ 7¹� µg= ^ ¡<m ���<� � u }��v��� Á }���� � � � � 3T1g
� ����¡

c�¦ £ ��} � ��� s � svu }��I� uø� �¹���I� � £ � ��­ � �@��� uxw � £ }��[� H0
s }�� � } sZu � £ w ��­ � �I��� u�w � £ }��t�

w ��� � � � ��}��x}

H = H0 + Voct
X µ ¡/-(7 Z

�x}��¤����� � } � ����¡ Voct = 0 w � �tr ¿ r � � � � �¥�

〈

3T 0
1g(F ) |H0|3 T 0

1g(F )
〉

= 0
〈

3T 0
1g(P ) |H0|3 T 0

1g(P )
〉

= 15B

X µ ¡/- = Z

3T1g(F )
�t���%}��t}�� Â � s �o����} 3F

�t���-}��t}�� Â � s ��}��x� uvu ����¡ 3F
²�} 3P � � ��s ��� �<� �¤��}��t}�� Â � �¸� �x�¤� �<�

15B � ����¡ B � � ¾ ��ÁM¼<� � � �@} u �x} s � w � rt¼ � �<��Á<� ¦��¹¾�} � } � }�¿����t��� � ��¿�� q � � � � £ �t� ��w �¤� r ¿ �is���Á � ¼
u }��v���I��}�� � � ��s ��� �<� �¤�¥� u �I}��t��� � ���)¦�� ���tsv�t�t� ���a\ y ´ � µ -�� µ 7 ^ ¡

m ���t� � u }��v���I���K}��¹}�� Â � s �Ý� Voct � ��� s � � ��� �<� � �¸� �v�¤��� w ��� ��s �t����}�� w � uø��Á } � � � � � ��� � � � �t���
} u �¤� s �e����}��

〈

3T 0
1g(F ) |Voct|3 T 0

1g(F )
〉

= −6Dq
〈

3T 0
1g(P ) |Voct|3 T 0

1g(P )
〉

= 0

X µ ¡/- ´ Z

µ z



3T1g(F ) u }��x���³}��¹}�� Â � s � −6Dq w � rt¼ � 3T1g(P ) u }��v���I���t���@}��t}�� Â � s ��� � } � }�¿����x���:����� w � r �x� � £ ù
� ¾ � � u ����X ¬'}��:��� µ ¡ { Z ¡t�i� uø��Á } � � � � � � � �t���@} u �¤� s ��� � }��¤� u }��x���@��}��x��� � ��� � ���x��}��v���t���I}��t}�� Â ����}��x���t�
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m¯}�� � ���#}���}�� u � w ��� � ��� sx¼ ���'ù w � � � u } u �¤����}��v�@} w�¼ }�� ��u ¦�� � ξ u }�� � ���#}���}�� u � w ��� � ���
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E(n, l, j,mj) = E(n, l, j,mj) + ξn,l

∫

(n, l, j,mj)
∗−→l .−→s (n, l, j,mj)dτ

Xf2t¡ µ Z
= E(n, l) +

1

2
(ξn,l)[j(j + 1)− l(l + 1)− s(s+ 1)]
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∫ ∞
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∑
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′
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′
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µ�´



λ =
ξn,l
2S

X�2¹¡ ´ Z
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c�������� � ��¿�� q � � � 2T2

u }��x���@���t��� �<� � q|�-�Ôw �¹� s � £ w � r � s }�� � } sZu � £ w ��� � ��� 2D u }��v���I���
L = 2

²�}
S = 1

2
� }�¿�}��v���t}-� � �x�v������� q }���}�� �<� � q��$�Ôw �t� s � £ w � r&w � � ¾ � � u ����¡bï ¼ ���:ù w � � � u

} u �¤����}��v���I��}��x���¹���I� Á � � �[} � ��� � ��¿�� � ��� uø���t� � �¹r � r �°­ � �I��� u�w � £ }��O� �¸��� } s �Ý�

Ho =
∑

i

p2
i

2mi
+

∑

i,j

e2

ri − rj
+ Vcryst

X�2t¡/-�- Z
�x}��¤����� � } � ����¡Ùï ¼ ���'ù w � � � u } u �¤����}��x�I} s ��²�}o� ��q �¹} u ���b� w �I}�� u¥w�¼ }�� ��u ¦��x��}��x� |L, ML, S, MS〉
¾���� s ��� � }�� Á } s���¼ � � � � ¾ � ¿���� �<� � �<� � q|�_�Ôw �t� s � £ w �t� � �v���t� �tr �t� � �<� £ � ����� ��� ������� s } Á } s�� ù
¼ � � � � ¾ � �
� ��u �x� s }���}�� � �t� � �v� 〈

M
′

L,M
′

S

∣

∣

∣
λ
−→
L .
−→
S

∣

∣

∣
ML,MS

〉 �v}��¤����� � } w � � ¾ � � u ����¡0ï ¼ ���'ù
w � � � u } u �:����}��x�I} s �l� Á � � �¥} � ��� � ��¿���� � } 2T2

� � ���4}��¹}�� Â � s }�²:� £ } s ���t}�� Y m
l

��}��v��� £ ��¼ �l� � }��v� s ���'ù
� }��¤� �v}�}�� �Ôw �v�@� � �x���t��� w � r � uxr � �¹r ¿ r&� � u � uø� �t} w � u�w � w �x� � � �<� � q|�$�Ôw �t� s � £ w � r � � �x�v�������
q }���}�¾�}�� u ����¡<g w � � £ � s � £ � � �tr�u }��x���ò� � ��� w � r � ��� ����}�¾�}�� u�� � �<� � q|� �Ôw �t� s � £ w �¹� � �v� �
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ψ1 =
∣

∣1, 1
2

〉

ψ2 =
∣

∣1, −1
2

〉

ψ3 =
∣

∣−1, 1
2

〉

ψ4 =
∣

∣−1, −1
2

〉

ψ5 =
√

1
2

(
∣

∣2, 1
2

〉

−
∣

∣−2, 1
2

〉)

ψ6 =
√

1
2

(
∣

∣2, −1
2

〉

−
∣

∣−2, −1
2

〉)

X�2t¡/- y Z

�x}��¤����� � } w � � ¾ � � u ����¡iï ¼ ���'ù w � � � u } u �¤����}��v�@} s � ����} w � r � � ¾ � � £ }��t� �<� � q|�+�Ôw �t� s � £ w �t� � �v��� �
� � �x�x������� q }���}�¾�}��8}��t}�� Â � � }�¿�}��x��}��v���t��� � }������x��}��t�I} s �~� � ��� � � u � u�� �t} �<� � q|�D�Ôw �t� s � £ w � r � � }��x}áù
¾�}��K�v}��¤��� � } � ��� s }�¾ r � � � � } u }��v�@��� � � uow � r � u�r � r ��� � ��� � ����¡Òc�¦ £ ��} � ��� � } u }��x�I��� � � u ���M� ��u �v� s
}���}�� � �t� � �v� � −→L ²�} −→

S w�¼ }�� ��u ¦��x��}��x���t��� �t� � q|�O�Ôw �t� s � £ w �t� � �v��� � 〈

ψi

∣

∣

∣
λ
−→
L .
−→
S

∣

∣

∣
ψj

〉 ���x��}��I�§ù
�t��� r £ q�r � � �t� ��s � £ � �iÁ } sx��¼ � � �t����¡¤¬'��� � � �tr � r � q } u ���x� s ���t� � £ �v��� u ����� w � � � � � � � � �����)} � }������4¡
ï ¼ ��� w � � � u } u �¤����}��x�I} s ���t��� Á } s���¼ � � � � � � � �i�<��Á ���<} � �����@} s �<����} s � svu }��@� u�� �t���I� � £ � ¾ � � w � � �
µ ¡ y }��x� u ����¿���� � }��¤�¥­ � �@��� uxw � £ }��O� �¸��� } s � �

H =
∑

i

p
2
i

2m
−

∑

i

eV0(ri) +
∑

i<j

e2

rij
−

∑

i

eVcryst(ri) + λ
−→
L .
−→
S

X�2t¡/- µ Z

�x}��¤�����t� � � � ¾ � � u ����¡0c r � ���t� H0 =
∑

i
p

2
i

2m
−

∑

i eV0(ri) +
∑

i<j
e2

rij
−

∑

i eVcryst(ri)�:� s �I�l����}D� r?� � � � ���<� � 2T2
u }��v���I� w � r �v� r � w � �¹r ¿ r � r�� ����}��x}�� �tr � r � � ��}��x��� � }��¤� sv¼ ���'ù

w � � � u } u �¤� s ���t� � � � � u ���x� £ w � r ��¡ûï ¼ ���'ù w � � � u } u �¤����}��v�@} s ���t�l� �¸��� }D} � }�� H ′ ­ � �I��� u�w � £ }��t���t���
w � r � u�r � � ¾ � ¿�� £ }��t� � � u � uø� �t} �<� � q��+�Ôw �t� s � £ w � r �t��Á<� ¦��t¾�}�}�� � }�} � �����I��� w � � � �t� � q|�
�Ôw �t� s � £ w �t� � �x���t���8�����¹}�}�� � ����� w � � ��� ��s £ w � rGw � � � � � q }��t}�� w � � � � �~�

ψ = c1ψ1 + c2ψ2 + c3ψ3 + c4ψ4 + c5ψ5 + c6ψ6

X�2t¡/-�2 Z
�x}��¤����� � } £ � ����� � ¾ � � u ����¡�­b} s���¼ � � � � � � � £ ��¼ �������v��}�� H0

s���� � uýw � � � � � � �����t� ¼ � sx��� }�¾�}
q ¦���¦�� � �t} � ����� � � 2T2

u }��x���@� � ��}��x��� � }��¤� H ′ w�¼ }�� ��u ¦�� � � � �I} u �:� s � � � � � u ���v��� � ¾ � � u ����¡ 0 }��t}��
w � � � � � �tr4ux� � Á } s���¼ � � � � � � ���
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H
′

ψ = E
′

psi
X�2¹¡.- { Z

�x}��¤����� � } q ¦ svu }��x�����I}�� u } � ����¡tc r }��v� u ����� �<��Át�M� } uø� £ ��� w � � � � �~�

λ
−→
L .
−→
S |ψ〉 = E

′ |c1ψ1 + c2ψ2 + c3ψ3 + c4ψ4 + c5ψ5 + c6ψ6〉

= E
′
c1ψ1 + E

′
c2ψ2 + E

′
c3ψ3 + E

′
c4ψ4 + E

′
c5ψ5 + E

′
c6ψ6

X�2t¡/-(7 Z

�x}��¤����� � } � ����¡~ï ¼ ���'ù w � � � u } u �¤����}��x�I} s � � ����}��x}��t��}���¾���� s ��� � }��¥�

λ
−→
L .
−→
S = λ

−→
(Lz.
−→
Sz +

−→
Lx.
−→
Sx +

−→
Ly.
−→
Sy)

= λ
−→
Lz.
−→
Sz + λ

2
(
−→
L+.
−→
S− +

−→
L−.
−→
S+)

X�2t¡/- = Z
}�� � }a} � ��������¡¤c r } u �¤����}��v�@}��t���@� � ��� � }��:� Á }�� � ��� w�¼ }�� ��u ¦�� � � �<� � q|�D�Ôw �t� s � £ w � r � �#r £ q�r � � �'ù
� ��s �¥����} � }��

−→
Lz |L, ML, S, MS〉 = ML |L, ML, S, MS〉
−→
Sz |L, ML, S, MS〉 = MS |L, ML, S, MS〉
−→
L+ |L, ML, S, MS〉 = [L(L + 1)−ML(ML + 1)]

1
2 |L, (ML + 1), S, MS〉

−→
L− |L, ML, S, MS〉 = [L(L + 1)−ML(ML − 1)]

1
2 |L, (ML − 1), S, MS〉

−→
S+ |L, ML, S, MS〉 = [S(S + 1)−MS(MS + 1)]

1
2 |L, ML, S, (MS + 1)〉

−→
S− |L, ML, S, MS〉 = [S(S + 1)−MS(MS − 1)]

1
2 |L, ML, S, (MS − 1)〉X�2t¡/- ´ Z

sxw � rt� � � �v�-}�� � }_} � ��������¡�2t¡/-(7ò}��x� u ����¿����t��� sxw � uø� � ��� �?� � ��� λ
−→
L .
−→
S
���v��}��I���¹���

ψ �t� � q|�
�Ôw �t� s � £ w � r � r � Á }�� u }��x���@���t} s ��� � £ � �#r £ q�r � � �t� ��s �¥����}��
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λ
−→
L .
−→
S c1ψ1 = λ

2
|c1ψ1〉+ λ√

2
|c1ψ6〉

λ
−→
L .
−→
S c2ψ2 = −λ

2
|c2ψ2〉

λ
−→
L .
−→
S c3ψ3 = −λ

2
|c3ψ3〉

λ
−→
L .
−→
S c4ψ4 = λ

2
|c4ψ4〉 − λ√

2
|c4ψ5〉

λ
−→
L .
−→
S c5ψ5 = − λ√

2
|c5ψ4〉

λ
−→
L .
−→
S c6ψ6 = λ√

2
|c6ψ1〉

X�2t¡/- 8 Z

}��x� u �����¤��}��x��}�� � }D} � ��������¡C2t¡/-(7#²�}J2t¡/- 8 }��v� u �����¤��}��x� � � ��s ��� �<� �¤�¥�������v�:� � }�� �¹w � � £ � �

λ
2
|c1ψ1〉+ λ√

2
|c1ψ6〉 − λ

2
|c2ψ2〉 = E

′
c1ψ1 + E

′
c2ψ2 + E

′
c3ψ3

−λ
2
|c3ψ3〉+ λ

2
|c4ψ4〉 − λ√

2
|c4ψ5〉

− λ√
2
|c5ψ4〉+ λ√

2
|c6ψ1〉

+E
′
c4ψ4 + E

′
c5ψ5 + E

′
c6ψ6

X�2t¡ y�z Z

}�� � })} � ��������¡��i� u�w � w �x� � � w � � �A2t¡/- y ����}½2t¡ y�z }��x� u �����:��}��v��� � }�� £ � � � �v� � � � � � �D¦�� � }�¿�}��x��}��x���@�����
�tr � ��� �������x����º

〈ψ1|H
′ |ψ〉 = λ

2
c1 + λ√

2
c6 = E

′
c1

〈ψ2|H
′ |ψ〉 = −λ

2
c2 = E

′
c2

〈ψ3|H ′ |ψ〉 = −λ
2
c3 = E

′
c3

〈ψ4|H ′ |ψ〉 = λ
2
c4 − λ√

2
c5 = E

′
c4

〈ψ5|H
′ |ψ〉 = − λ√

2
c4 = E

′
c5

〈ψ6|H
′ |ψ〉 = λ√

2
c1 = E

′
c6

X�2t¡ y - Z

���v� u �����J2t¡ y - ��� }�� £ � � � �x� � � � � � � c � }�¿�}��x��}��x���t� £ w �K} � }��x}�� � � � ¿�� �<� �¤�t}��x� u �����¤��}��¯}�� � })} � ��������º
(λ

2
− E ′

)c1 + λ√
2
c6 = 0

(−λ
2
− E ′

)c2 = 0

(−λ
2
− E ′

)c3 = 0

(λ
2
− E ′

)c4 − λ√
2
c5 = 0

− λ√
2
c4 − E

′
c5 = 0

λ√
2
c1 − E ′

c6 = 0

X�2t¡ y�y Z
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2t¡ y�yk� }��¹�:��}�� s � sZu }��I��}��x��� � } � � u � uø� �t} � �������t�I} £ }���² � � � ����¡ 2T2g
u }��x���I�o� � ��� w � ��s � u�� �

� ��u �x� s }���}�� � �t� � �x���t��� sxw � r ¾ r+s }�¾ r � � � � } u }��x�I��� � � u � � � � ¿�� �t��q ¦ svu }��v��� � ��¿����x}��¤��� � }O}�� � }
} � ��������¡

|ψ1〉 |ψ2〉 |ψ3〉 |ψ4〉 |ψ5〉 |ψ6〉
〈ψ1| λ

2
− E 0 0 0 0 λ√

2

〈ψ2| 0 −λ
2
− E 0 0 0 0

〈ψ3| 0 0 −λ
2
− E 0 0 0

= 0
〈ψ4| 0 0 0 λ

2
− E − λ√

2
0

〈ψ5| 0 0 0 − λ√
2

0− E 0

〈ψ6| λ√
2

0 0 0 0 0− E

­ w � w�Â }�� � ��� � } u }��v�@��� � � u ��� s���u ���o²�}i� w � w �t� � �v��� £ }�� � }�¿���� u ���x�����I})¦���}�������¿����t�t� r �§ù
� � � � � � � � � u�q � rt¼ � � �x��}�� � }a} � ����}��v}�� �<��Á<� � w � � £ � ¦�� � �I��}��x} r � � �v��� ��� �������t����¡�c�¦ £ ��}�¾�} � } u }��]ù
�@��� � � u ���@���

|ψ2〉 |ψ3〉 |ψ4〉 |ψ5〉 |ψ1〉 |ψ6〉
〈ψ2| −λ

2
− E 0 0 0 0 0

〈ψ3| 0 −λ
2
− E 0 0 0 0

〈ψ4| 0 0 λ
2
− E − λ√

2
0 0

= 0
〈ψ5| 0 0 − λ√

2
0− E 0 0

〈ψ1| 0 0 0 0 λ
2
− E λ√

2

〈ψ6| 0 0 0 0 λ√
2

0− E

�x}��¤����� � } � � u�q � rt¼ � � � �a� £ ��� � � � �~� �tr@� � uxq � rt¼ � � �v��� � ¦�� � �@��}��x�¹����} 2T2
u }��x���I�¹� � ���K}�� � }�} � ����}áù

¾�}�� w � � � uxw�¼ � � � � � u � u�� �t}�¦�� � }�¿�}�� � }�� � ¦�� u�uø� �t} s � �

E
′

1 = −λ
2

� }�¿�}��x��� � }��<���¤� uø� �¹} s � � }��

E
′

2 = λ

� }�¿�}��x��� � } w � � ¾ � � u ����¡
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¬ r�� � � � ���<� � � ��}��x���¹} £ ��¼ ��� � � sx¼ ���'ù w � � � u } u �:����}��x�I} s � sxw � rt� � � �v��� �t� � � �t� � �x���§ù
� � � u���� �����¤� ��­ � �@��� uxw � £ }��¹��� H0

uø���t� � �tr � r � r � rku }�� s ���l} � }�� 2T2
u }��v���I� � sv¼ ���:ù w � � � u

} u �¤����}��v�@} s �Ï����} � ��� � ���x���t} �t� ¿���� w � � � � � −(λ
2
) �t� ��} £ ��� � } � ¦�� u � ��u ���Ý� λ �t� ��} £ ��� � }K� s } ���:�

� ��u ��� � } Â }��t}��x}�����¿�} s���Á � ¼Æw � � �8���¤� � £ �x�¥}��t}�� Â � s }�²:� £ } s ���t} £ � �x��������¡¤c rO� }�¿����x���¤2t¡ y �x}��¤�����t���
���¤���t¾��¥�¤� s �@��� �<�#q ¦�� � ���I}�� u } � ����¡

(4)

(2)

(4)

λ

--

2T 2

λ
2
3J=
2

1J=
2

(1)

(1)

(6)

β

β

-

β8

3 λ

2

β8

3 λ

2

Σwi
2

Σwi
(1)

g

2

0 0

K�bik alan terimi Spin-orbit  etkilesimi Magnetik alan

¬'}��¤���s2t¡ y º 2T2
u }��v���I���t��� sx¼ ���'ù w � � � u } u �¤����}��x���@��²�}D� ��q �t} u ��� � � � � � � u ��� �<� �¤� £ � �v����� ��s �

E
′

2 = λ � }�¿�}��v�
2t¡ y�y }��x� u �����¤��}��v��� � } £ }��x���t}b� w � r � � ¾ � � w � r � sx� � c2 = c3 = 0, c6
c1

= 1√
2
, c4
c1

=

1, c5
c1

= − 1√
2

w � � � � � � }������x��}��t����¡<` w �x� � ����� ��s £ w �k� ��u�sx� £ ��� � �v�Ï����} � ���v����� u } 2T2
u }��v���I�Ï� � ���

−λ
2

}��t}�� Â � s }á²'� £ } s ���¹� u }�� s ���¥} � }��¥�

φ1 =
√

1
3

[

ψ1 −
√

2ψ6

]

φ2 = ψ2

φ3 = ψ3

φ4 =
√

1
3

[

ψ4 +
√

2ψ5

]

X�2t¡ y µ Z

�<� � q�� �Ôw �t� s � £ w �t� � �x�Ý� λ }��t}�� Â � s }á²'� £ } s ���¹� u }�� s ���¥} � }��¥�

ψ1 =
√

2
3

[

ψ1 +
√

1
2
ψ6

]

ψ2

√

2
3

[

ψ4 −
√

1
2
ψ5

]

X�2t¡ y 2 Z

�<� � q�� �Ôw �t� s � £ w �t� � �x�[}�� � }�} � ��������¡
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2T2
u }��x���@�û����} � £ �t�l� � � � � �<�#�tsZu�u }��v���I��}�� � � ��s ��� �t�#� ���)� � �v���x��� w � � ¾ � � u ����¡ ® �x�¹}�¿���� 2E

s }�²:� £ } s � � � ��s ��� �t� �¤�e} u �¤����}��v���4�
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∣

∣
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∣

∣

∣
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ψ(2E)
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e~

mc
S

X�2t¡ y�{ Z
w � � � � � w � � � uø� �ó� w �@}�� uxr � r L � }��$� � £ � � �¤� � � � �$� s } β = e~/2mc

c w�Á �K� ��q �¹} u�w � r
w ��� � � � ��}��x}��

µ = βL
X�2¹¡ y 7 Z
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µ = β(L+ 2S)
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µJ = gβ[J(J + 1)]1/2
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g = 1 +
J(J + 1) + S(S + 1)− L(L+ 1)

2J(J + 1)
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∑

i
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i
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∑

i
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∑
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−

∑

i
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µ = β
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∣

∣
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∣

∣
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〈
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2

〉

+ (2)(−1
2
)
〈

1, −1
2
| 1, −1

2

〉

= 1− 1

= 0

X�2t¡ µ�´ Z

}�� � }Æ} � ��������¡Ïc r�q � rt¼¹uø� �:� � ��¿�}�� �<� � q|�k�Ôw �t� s � £ w �t� � �x��� �G�<�3� £ �t�����x��}�� r £ q�r � � � � ��¿���� �<�
}�� � }�} � ����}�¾�}�� s }�¾ r � � � � } u }��x�I��� � � u � � � � ¿�� �<� ²�}��v�����I��� u ����¡

|φ1〉 |φ2〉 |φ3〉 |φ4〉
〈φ1| 0− E 0 0 0
〈φ2| 0 0− E 0 0

〈φ3| 0 0 0− E 0
= 0

〈φ4| 0 0 0 0− E

ga} u }��x�I��� � � u ��� svw � r ¾ r E = 0 � ��� � ��¡|c r E = −λ
2
� }�¿�}��v�<� � ���K� ��q �t} u ��� � � � � �<� £ � �x����� �

w � r �v� � £ � ¾ � ¿�� � �t� � �@��� �Kq }����@}�� u } � ����¡<^ £ �t�Ï� � � � � �t� ω(1)
i = 0 w � � ¾ � �~� 2T2

u }��x���@�e� � ���
� ��q �t} u ��� � � � � �t�0� ���x���t¾�� � }��v}�¾�}iY[}�}�� � �I} u �¤� w ��� � £ � ¾ � � ²�} �tr8�¹r � r � �t�D�tr £ q�r �t� r ¿ r
} u �¤����} £ }�¾�}�� u ����¡X^ £ �t�ó���v��}��I��}�� E = λ

}��t}�� Â � � }�¿�}��x���t}Æ� � �x�v������� q }���}�� �<� � q��4�Ôw �t� s � £ w �'ù
� � �v��� � r £ q�r � � � � ��¿���� �<� s }�¾ r � � � � } u }��x�I��� � � u �

|ψ1〉 |ψ2〉
〈ψ1| βH − E 0

= 0
〈ψ2| 0 −βH − E

{�z



�x}��¤����� � } w � r � � ¾ � � u ����¡<c rG� } u }��v�@��� � � u ��� � ¦�� � �@��}��v��� � }�� E = ±βH � }�¿�}��x��}��x���t� � � � � � �
E = λ � }�¿�}��x���t���k� ��q �t} u ��� � � � �t� � ���¤� � £ �v�X}��t}�� Â � s }á²:� £ } s ���t} £ � �x��� � ¾ � ¿����t� q ¦ svu }��x����¡ûc r
sxw � rt�áuø� � �<�-� �t� � �v��� ��� ����}�¾�}�¿�� q � � � �tr$s }�²:� £ } £ } � ���x���¹¾�� � }��x}�¾�}GY[}�}�� � �$} u �:��� ��uxs�� £ � s �
ω

(1)
i = ±β � ����¡

E = −λ
2
s }�²:� £ } s ��� � }��¤� i �¹���t¾�� � ����}��x}��t���K}��t}�� Â � s �<����} E = λ s }�²:� £ } s ��� � }��:� j �¹���t¾��

� ����}��x}��t�¥����} w � � �O���¤���t¾�� � }��x}�¾�} ¼ }�� ux� � � } u }��v��� ω
(2)
i
� }�¿�}��x� �

∑

j

〈φi |µzH|ψj〉 〈ψj |µzH|φi〉
E0
i − E0

j

X�2t¡ µ 8 Z
}��x� u ����¿��ó����}�� � £ �t���x}��:��� � } E = λ s }�²:� £ } s ��� � }��¤� j �t���t¾�� � ����}��v}�� u }��v���I��}�� ����} E = −λ

2

s }�²:� £ } s ��� � }��¤� i �¹���t¾�� � ����}��v}�� � � ��s ��� �<� �¤��} u �¤����}��x���h����} w � r � � �����¤���t¾�� � }��x}�¾�} ¼ }�� u�� � � }
u }��v��� ω

(2)
j

� s }��

∑

i

〈ψj |µzH|φi〉 〈φi |µzH|ψj〉
E0
j − E0

i

X�2t¡D2 z Z
}��x� u ����¿�������}i}�� � }0} � ��������¡

E = −λ
2
�t� ��} £ �Ï� � ��� u�w�¼ � � � ���¤���t¾�� � }��v}�¾�}#Y[}�}�� � ��� ��u�s�� £ � s � �

4
∑

i=1

2
∑

j=1

〈φi |µz|ψj〉 〈ψj |µz|φi〉
−λ

2
− λ = −8β2

3λ

E = λ �t� ��} £ �Ï� � ��� u�w�¼ � � �³���¤���t¾�� � }��x}�¾�} Y[}�}�� � ��� ��uxs�� £ � s �Ý�

2
∑

j=1

4
∑

i=1

〈ψj |µz|φi〉 〈φi |µz|ψj〉
λ− (−λ

2
)

=
8β2

3λ

�x}��¤����� � } � ����¡<c r4Á } sx��¼ � � � � � � ��¬'}��¤����2t¡ y#� }0¦���} u ��}��¹�@}�� u } � ����¡
N uø� �t} ��uxw � � � ��� �o� � � ��}�¾ø�O� ��q �t} u ��� �tr £ q�r �¹� r � Á } s���� � �

χA =
N

∑

i(ω
(1)2

i /kT − 2ω
(2)
i )exp(−ω0

i /kT )
∑

i exp(−ω0
i /kT )

X�2t¡D2!- Z
�x}��¤����� � } � ����¡ E = −λ

2
� }�¿�}��x��� � ���+Y[}�}�� � �$} u �¤� s � � ��� w � �tr ¿ r � �<� � �tr £ q�r �¹� r � uø� �:�������

{ -



u }��v��� s � � ��� w � � ¾ � � u ����¡ E = λ
� � ��� E = ±βH w � �tr ¿ r � �<� �[� �tr%u }��v��� � � ��� ω(1

i = ±β
w � � ¾ � � u ����¡

c rksvw � rt� � � ��2t¡D2!-0}��v� u ����¿���� � } £ }��v���t}0� w � r � �tr ¿ r � �<� �

χ = N









[

0
kT
− 2

(

−8β2

3λ

)]
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+

[

β2
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+

(−β2)
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(
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)

]
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(
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)
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− 0
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(

− 3λ
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




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16kT
λ
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(

6− 16kT
λ

)
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− 3λ
2kT

)]
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(

− 3λ
2kT

)]
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8 + (3x− 8)exp
(

−3x
2

)]
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[

2 + exp
(

−3x
2
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Nβ2

3kT

[

8 + (3x− 8)exp
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−3x
2

)]

x
[

2 + exp
(

−3x
2
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2
κλLzSzψ1 = −3

2
κλ

∣

∣1, 3
2

〉

= −3
2
κλψ1

−3
2
κλLzSzψ2 = −3

2
κλ

∣

∣1, 1
2

〉

= −3
2
κλψ2

−3
2
κλLzSzψ3 = −3

2
κλ

∣

∣1, −1
2

〉

= −3
2
κλψ3

−3
2
κλLzSzψ4 = −3

2
κλ

∣

∣1, −3
2

〉

= −3
2
κλψ4

−3
2
κλLzSzψ5 = −3

2
κλ

∣

∣0, 3
2

〉

= −3
2
κλψ5

−3
2
κλLzSzψ6 = −3

2
κλ

∣

∣0, 1
2

〉

= −3
2
κλψ6

−3
2
κλLzSzψ7 = −3

2
κλ

∣

∣0, −1
2

〉

= −3
2
κλψ7

−3
2
κλLzSzψ8 = −3

2
κλ

∣

∣0,− 3
2

〉

= −3
2
κλψ8

−3
2
κλLzSzψ9 = −3

2
κλ

∣

∣−1, 3
2

〉

= −3
2
κλψ9

−3
2
κλLzSzψ10 = −3

2
κλ

∣

∣−1, 1
2

〉

= −3
2
κλψ10

−3
2
κλLzSzψ11 = −3

2
κλ

∣

∣−1,− 1
2

〉

= −3
2
κλψ11

−3
2
κλLzSzψ12 = −3

2
κλ

∣

∣−1,− 3
2

〉

= −3
2
κλψ12

sxw � rt� � � �v���t�Ý� −3
2
κλ(L+S− + L−S+)

�¤� s �I���t��� r £ q�r � � �t���v�¥����} � }��

−3
2
κλ(L+S− + L−S+)ψ1 = 0

−3
2
κλ(L+S− + L−S+)ψ2 = −3

2

√
6κλψ5

−3
2
κλ(L+S− + L−S+)ψ3 = −3

√
2κλψ6

−3
2
κλ(L+S− + L−S+)ψ4 = −3

2

√
6κλψ7

−3
2
κλ(L+S− + L−S+)ψ5 = −3

2

√
6κλψ2

{ 7



−3
2
κλ(L+S− + L−S+)ψ6 = −3

√
2κλψ3 − 3

√
6κλψ9

−3
2
κλ(L+S− + L−S+)ψ7 = −3

2

√
6κλψ4 − 3

√
2κλψ10

−3
2
κλ(L+S− + L−S+)ψ8 = −3

2

√
6κλψ11

−3
2
κλ(L+S− + L−S+)ψ9 = −3

2

√
6κλψ6

−3
2
κλ(L+S− + L−S+)ψ10 = −3

√
2κλψ7

−3
2
κλ(L+S− + L−S+)ψ11 = −3

2

√
6κλψ8

−3
2
κλ(L+S− + L−S+)ψ12 = 0

sxw � rt� � � �v�¥}�� � }0} � ��������¡
c rRsvw � rt� � � �x� � 12×12

����� � ��� s }�¾ r � � �Ï� ��u �x� s � r � r � rt¼ £ }��¹�'¦�� � }�¿�}��l²�}�¦�� �Ôw �t� s � £ ù
w �t� � � � }������v��}��¹����¡ 4T1g

u }��v���I���t��� sx¼ ���'ù w � � � u } u �¤����}��v�@} s � sxw � r ¾ rÆw � r � � ¾ � � �tr £ }��t� u }��x���Mù
��}��v}1\ µ 7¹� µ 8 �?2 = ^ � � £ � � �¤� � �x��� �<� � r � � �x��� ��� ��������¡

^a� � �t� �¹� � � � sx¼ ���t��� Á<� ��} q } � �����@} £ }�¾�}��4� ���<� � £ � � s }�� u ��� s }��~� uø���<� � u }��x���I��� sx¼ ���
� r � u � ¼ ��� s � u } s � � }�¿����x�I} � }��#� � � � ¾ � � u ����¡Òc rK�tr � r � �<� � uø���t� � u }��x���
� � ��� �<� � q|���Ôw �t� s � £ w � r
4T1(4F )

²�} 4T1(4P ) u }��x���@��}��x���t���@�����t}�}���� w � � ��� ��s £ w � rkw � � � � �~�

ψ(T1) =
(

1 + c2i
)− 1

2
[

ψ(T 0
1 (F )) + ciψ(T 0

1 (P ))
] X { ¡ { Z

�x}��¤����� � } � �����¹����\ y ´ � µ z � µ -�� µ 7¹� µ 8�^ ¡Uc r � � �x���x���I���-� ��u�sx� £ ��� � �v� µ ¡ y�{ }��v� u ����¿���� � }��¤� � ci =

6Dq+E
4Dq

}��x� u ����¿��a����} � }������x��}��t� ¼ �ó� � £ � � �¤�x� svu�� � � � � � �<� ”0” � }�¿�}��x��� � }�� ” − 1
2
” � }�¿�}��x���t}

� ���<� � � }�¿����x���`\ y ´ � µ z � µ 7¹� µ 8 �<2 ´ ^ ¡ 4T1
u }��x���@���t}�� P s }á²:� £ } s ��� � }�� q }���}�¾�}��4� ��u �¤� � ���v��� �t�

� ��¿�}�� s }�²:� £ }���}�� � }�� q }���}�¾�}��I� ��u �¤�û� Á � � �<} � �����I��� u ����¡|c rÆ�¹r � r � £ }��t� � ��� ¼t� � � �I} u �x} w � � �
A
����}��

A =
1.5− c2i
1 + c2i

X { ¡V7 Z
�x}��¤����� � }�²�}��v��������¡ { ¡V7i}��x� u ����¿����¹} q ¦��v})� � £ � �[� � � � � }�¿�}��x��� � } A = 1.5

� q��t� � �I� � � � � }�¿�}��x��� � }
� s } A = 1 � }�¿�}��v���t}i� � �v�x������� q }����I}�� u } � ����¡ 4T1

u }��x���I���¹��� �<� � q��R�Ôw �t� s � £ w � r � r � |L, ML〉

{ =



w � � � uø� �û�¤� s �I� �tr £ }��t� ¼<� � � �@} u �v} A £ �e� � }��x}�¾�}��O�v}��¤��� � } � � � ¿�� �<� �¤� q � � �Ý�

|±A〉 =
(

1 + c2i
)− 1

2

[

√

9

24
|3,±3〉 −

√

9

24
|3,∓1〉+ ci |1,∓1〉

]

²�}

|0〉 =
(

1 + c2i
)− 1

2 [|3, 0〉 − ci |1, 0〉]

²�}��v��������\ y ´ � µ z � µ 7¹�52 ´ ^ ¡'����} � � � ��¿����I��� Co2+ � £ w � r � r � uø���<� � �¹r � r � u }��x���@���t���M}��t}�� Â ����}��x�
sx¼ ���'ù w � � � u } u �:� s �e����} −3λA

2

�
Aλ

²�} 5λA
2
s }�²:� £ }���}��x���t} £ � �v����� ¼ � A = 1.5 w � r � sx�M�¹r £ � �x����� �

� � £ � �U� � � � � A = 1
� s } q��¹� � �k� � � � � � � �x�v������� q }�������\ µ 7 ^ ¡~^a� � � � � uxu ��� ��� �~� ��q �t} u ��� ��s £ w � r �

s ��¾ � �¤����¿ �8q ¦��v} � }�¿����x���@�X¬'}��:��� { ¡/- �¥� } q ¦ svu }��x��� � ��¿�� q � � � w � � ¾ � � u ����¡ 4T1g
u }��v���I���t���G� ��q ù

�t} u ���8� w �I}�� u�� }�¿�}��v� x = kT/λ w � � � � �I� ���tr �e} � ����}��x}����

µeff =

3[7(3− A)2/5 + 12(2 + A)2/25Ax

+(2(11− 2A)2/45 + 176(2 + A)2/675Ax)exp(−5Ax/2)

+((5 + A)2/9− 20(2 + A)2/27Ax)exp(−4Ax)

3 + 2exp(−5Ax/2) + exp(−4Ax)

X { ¡ = Z

�tr � r �t� � � u���� ����\ µ - ^ ¡
ï'}�� � } svu � £ w �&� � ��� sv¼ ���:ù w � � � u } u �:����}��x��� s���� � u � λ = −170 cm−1 � }�¿�}��v�#� r �§ù

� � �t��� � ��¿���� �<� µ � � � s ��¾ � �¤����¿ �#�<� ¿���� � }�¿����x��� q � � þ<¿��l¬'}��¤��� { ¡/- �<� } q ¦ svu }��x�����I}�� u } � ����¡

{ ´



¬'}��:��� { ¡/-�º~f ��q �t} u ���8� w �I}�� u ��� �¸� �x�¤��� � � � � �t� £ � �¤� � �¤��}��x��� � } s ��¾ � �¤����¿ � q ¦��x} � }�¿����v���I�

c r�u } w �x���-���t¾�}���}��I}���}��x��� � � u ��� �<� ���������t¾�}���}��t}�¾�}�� s � svu }�� � � w �I���I} u ��¾ ¼ûw � £ � }��'ù
�<��u } � �I� � }?��� q|� � u ��� � ¦�� uG� £ �v� Co2+ � w � ¼ ��}�� s � w � � ¾ � � u ����¡�c r � r �õ� � ������� u }�� ��u�� � � }��
� }������v��} � ��¿����@��� sxw � rt� � � �o����} u } w �v��� r £ q�r � � �¹���x� � �x��� sxw � rt� � � �v���t�<� � �v�x��� � � u ��� � � � �~��� w � ¼ ��}��|ù
s ��}��x��� £ ��¼ ��� � �v���t�¤� � £ � �¥� � � �¥� q��t� � �I� � � � ²�} � � svu�w � u � w �#} u �¤� s � � � u ��� �t�a�<��Á<�i� } uø� £ ��� w � � � � �
���t¾�}���} £ }�¾�}�¿�����¡

@ î ) 4KÑ¸â�Ñ¸Í
�|Ñ  â�ÍÏÎ¤ÚÀÊ�4KÑÔ×�æ%ÑÝæ-Î¤ÐÙÑ���*a×ûÜäÖ ê Î:ÍûÐÙË¹ÐÙÎGNOæ%Ñ ê Î3ÈoÑÔÌ�ËtÍ ê ÜÝí
Co2+ HÆ×�æ�à

ß ÜÔÎ¤ÚeÕ�ÜÔÎ:â�Ñ
`R� ` � ù � � s ù�X µ ù±¾ � � ��w · £ ù�-�ù w · w�¼ � w�¼<� � £ � Z ùÂ-�� y ù�} u�Á £ ��}��t} � � � �I���t}�X L1)

� `R� ` � ù � � s ù�X µ ù
¾ � � �ûw · £ ùÂ-�ù w · w�¼ � w�¼<� � £ � Z ùÂ-�� y ù ¼tÁ }�� £ ��}��t} � � � �I���¹}gX L2 Z �Ù`D�©` � ù � � s ù�X y ù±¾ � � ��w · £ ù�-�ù w · w�¼tÁ }��t}���}�� £ � Z ù-�� y ù ¼tÁ }�� £ ��}��t} � � � �@���t}gX L3 Z ²�}o`R� ` � ù � � s ù�X µ ù�¾ � � �ûw · £ ùÂ-�ù w · w�¼ � w�¼ ù y ù�}�� £ � Z ù�-�� y ù ¼tÁ }�� £ ��}��¹} � � � �@���t}gX L4 Z
� ��� ¦�� uI�¸� �x�¤��� Co2+ � w � ¼ ��}�� s ��� � ��� B. M. w � � � � �C¦�� ��� ��}�� µeff ²�} � }������v��}��t}���� ��¼ûw �
} � ����}�� sv¼ }�� u � � � q } � ���x��}��x�[m ��� � w@{ ¡/- �t� }�²�}��x�����I��� u ���`\/- z`^ ¡

{W8



\ w � ¼ ��}�� s µeff(B. M.)

ï ¼ }�� u � � �l�U��}�� u � w �t��� 0 } � ���x��}�� (cm−1)
4T1g(F )→ 4T1g(P )
4T1g(F )→ 4A2g(F )

[Co(L1)(H2O)2] .2H2O 4.90 21519, 13000
[Co(L2)(H2O)2] 5.1 20151, 15000
[Co(L3)(H2O)2] 4.93 22413, 13320
[Co(L4)(H2O)2] 5.18 20731, 14530

m ��� � wI{ ¡.-�º Co2+ � w � ¼ ��}�� s ��}��x���t���O� ��q �t} u ���@� w �I}�� u ²�}D}���}�� u � w �t��� sx¼ }�� u � r �I� � �v�

� �t��s ��¾ � �:����¿���� �<� Co2+ � w � ¼ ��}�� s ��}��v���t��� � }��t} £ s }�� w � � � � �C� ��q �¹} u ���C� w �I}�� u �
m ��� � w�{ ¡.- ��� }�� � } q ¦�� � � �t� ¿ ��q � � � 5.18 − 4.9 B.M. � � � ����¿���� �<��� }�¿����v�@}�� u } � ����\]- zK^ ¡
ï ¼ }�� u � � � � � � ��������}��v��� � }�� �tr � w � ¼ ��}�� s ����� � £ � � � � � �t��� w � uø��Á } � � � � q } w �@} u �v� � } w � �tr ¿ r
� �t� � �x����� � � u���� ����\]- zÃ^ ¡

Ägª�³5ª�ÅWª�³ Æ |W¥�¦ Ç�È��/|W¢ ´ ¡5}�¡5�A¡
Y � £ � �[w � u���Á } � � � � � � � � �<�i�¹r � r � � � � ��� Co2+ � £ w � r t52ge2g � w �¹þ q�� � ��s

£ w � r � �<� �tr ù
� r � � ¾ � ¿���� �<� � �t��uø� �t} � � �äu ��}��t�I}��I���U}���}�� u � w � rÆw � � ¾ � � u ����¡¤c r8�tr � r � �<� sx��� }�¾�} sv¼ ��� � }��
� � £ � � �¤� � � � �%� ��q �¹} u ���3� w �@}�� uR� }�¿�}��v� � µ =

√

n(n + 2)
}��x� u ����¿���� � }�� 3.87298 B.M.

w � � � � � � }��¤��}��t����¡�¬'}��¤��� { ¡.- � } q ¦��v}ó� � £ � �<� � � �R� � ��� w:�<��s ��¾ � �¤����¿���� �t� µ � � � � }��¤��}��t}�� � }�¿�}��v�
5.2 B.M.

¾���² � �v��� �t� ����}�� 0 K s ��¾ � �¤����¿���� �@�tw ¿�� r £ � �¤� � �x��� � ��¿���� �t� 3.76 B.M. � }�¿�}��x���¹}
� ���<� � � }�¿����v�@}�� u } � ����¡

m ��� � w�{ ¡.- � }�¦���} u ��}��t}�� � }��t} £ s }��a¦�� ��� �@��}��v} q ¦��x} � } � ¦�� uÆ� ����}��v��� u }�� 5.18
²�}

5.1 B. M.
� ��q �t} u ���_� w �I}�� u ���t} s���Á � ¼ w � � �t� � � �<� � s ��� ��s �Æ����} [Co(L4)(H2O)2]

²�}
[Co(L2)(H2O)2]

w � � �t� � �x��� �t� � � � � � � �t����} u �¤� s ��� � } w � �tr ¿ r � �$� ��� � }C� ��u ����� � � uø� £ ����¡
V � � ��uk� ��¿�}��k���:� s �0� s } £ �+�<��Át� £ � � s }�� � ��� � � � �t����} u �¤� s ��� � } £ �+�t� ¾ w ² � � � �t¾ £ � ��u �:�
� � }��x}��x}�� w � � � uø� �û� ��u �¤� s ���t� � � � � uø� � � �I� ��q �t} u ���8� w �I}�� u ���t� �¹� � � � � £ w � w � ��� ��������¡

��� � � u�� ��� ��u �¤���t��� � � � ��� ��s ���t�ó�x¦ £ ��} ��� ���¤� � £ ��� �������x����º n ��¼ ���t���?� w ² � ��}�� u �����C}�¿��������I�
κ s���� � u ���t} �<� ¿���� � ����¡À�U¿�}�� £ ��¼ ��� £ w �t��� s }���}���}�� u � w � �¹r � r � �tr ¿ r �@}��x��}���� u }��x��} u �I}���� κ
� � � s ��� r � � }�¿�}��v��� � }#²�} κ = 1 � ����¡¥có�������t�I}�� u } � �����¤� d w � � � uø� ����}��x� σ, π ²�} δ �<� ¿�� � �v�
£ ��¼<��� �������x��}���¡Ufk} uø� ��� � ��� w � uø� � �<� ����}��¥��} u � ��� ��� �<� ��}�� � � � ��}��x��� � } �¹r � r � � �+}���}�� u � w �'ù
� � �v��� s ���@} u �v� s ���t} r £ q�r � π w � � � uø� ���û² � � s��@�¹r �t� � �x� � π �<� ¿�� £ ��¼ � � £ � }�¿�������� q ¦ svu }��x���x��}��`�

7 z



��� �t� � σ �<� ¿����t��� w � r �x� ��s �)� � ��� dx2−y2
²�}

dz2
w � � � u�� ����}��x�ó� r ��� � �t����� � ��� � δ �<� ¿�� � �v�)� s }

�@} uø� � ù±�I} uø� �'} u �¤����}��x�I}���}��v�t����} w � r �x� � � uø��� ����¡�g w � � £ � s � £ � � σ ²�} δ �<� ¿�� � �v� q }�� � }��¤��}��v}��I}���¡
fk} u�� � � ��}��x��� � }��:�<}���}�� u � w � π �<� ¿����t� £ ��¼¹u ��¿���� �t� ��}���}�� u � w �t� � � � � �is ��� ���t�iw � sx�a�trMw � � � uø� ���
� r ��� � �t� � }�¿��������I� q ¦ svu }��x���x��}���¡~c rk�tr � r � �t� }���}�� u � w �G� � � � �t���¹��� � �����¤� s �@���t�e�I} uø� � � }��
� £ �v��� � � � � π w � � � u�� ����� � } q } � ���v����¡¯c r }���}�� u � w � r �¥� π w � � � uø� �����t� w � r � uxr � ��� �����@}M� Á|u ��� � ���Ý�
��}�� � � s ���t��� w � � � uø� � Á<� �v}���} u ���t�[� � £ �§Ã ��u ����¡tfk} u�� � � ��}��v��� � }�� � � � �t���t��� � - z�z � � � � �������I���¹�
q } � ���x}��+}���}�� u � w ��� � � � �t���t��� � -k����� � �������@���t� � ����} π w � � � uø� ����� � } q } � ��� � ��¿���� � } w � � � uø� �
� }�¿�}��x� � � � � � ¾ � ¿���� �<� �¥�l� £ w �t����� � � � � u }�� ��w � r � rt¼ � κ � }�¿�}��v� �t� �v}�¾�}�� u ����¡�c r��tr � r � �<�
­ � �I��� u�w � £ }��t} � ���)�x}��:��� � }0}��:��}��t�I}���� � ����\ y ´ � µ z � µ -�� µ 7:� µ 8�^ ¡

c rK�tr � r � �t� £ ��¼ � £ � £ � � s }�� � � � �R²�} � � sZu�w � u � w � � � u ��� �<���t� ���t¾�}���}��@}�� q }��v}��¤�@}���ù
u } � ����¡

Ägª�³5ª�ÅWªx© É �� (£(�Â ÊÈ��/|W¢ ´ ¡C}�¡5�A¡
n ��¼ � £ � u�� � � £ w �t��� w � � � � � �t� � � � �¹¼ κ = 1 w � � � � � � ��� ¼ � 5.18, 5.1, 4.93

²�}
4.9 B. M. w � � � � �$¦�� ��� ��}�� � }��t} £ s }��0� ��q �t} u ����� w �I}�� uÆ� }�¿�}��v��}��x���¹}3� � �x�x������� q }���}�¾�}��
u } w �x��� A � }�¿�}��x��}��v� s ��� ��s � £ � � 1.47, 1.393, 1.233

²�}
1.205 w � � ¾ � � u ����¡

��� u���Á } � � � � � � � � �<� �:� Co2+ � £ w � r � � ������� u }�� ��ux� � � } £ }�� � � � � � }��t} £ s }�� w � � � � �
� }������v��}��t}�� A � }�¿�}��x� 1.4 − 1.5 w ��� � ��� � ���`\ y ´ � µ -�� µ 7 ^ ¡�c r�� }�¿�}��x��}�� � }�� 1.233

²�}
1.205

� }�¿�}��x��}��x� Co2+ � w � ¼ ��}�� s ��}��v��� � ��� r £ r � svr � q ¦�� � � s } � }�� � ��� � �Æ� w ² � ��}�� u � � � � � u }��K}���ù
��}�� � ��¿���� � }%X¸¦��x�t}�¿���� κ = 0.9 Z � �tr-� }�¿�}��x��}�� A = 1.4 � }�¿�}��x��� � }@}�� � }@} � ����} � ��������¡¥c��������'ù
�@}�� u } � �����:� �tr@� }�¿�}��o� � £ � �e� � � � s ���t���v� � �v�¹� � }��v� s ��� � } � ����¡|g w � � £ � s � £ � � £ ��¼ � £ � £ � � s }�� � � � �
} u �¤� s ��� � } �t� � � �t�I}�� r £ q�r � � }�¿���� � ����¡l^ £ �x��¾ � m ��� � w?{ ¡/- � } q ¦ svu }��x����}�� � }��t} £ s }���²�}��v���§ù
}�� � }�� 4T1g(F ) → 4T1g(P )

����} 4T1g(F ) → 4A2g(F ) q } � ���v��}��x�¯²�} �tr �t� � � � � � �x�x������� q }���}��
}��t}�� Â � � }�¿�}��x��}��x�Ý�Òm � � ��� } ùZï r¹q|� � wb� � £ ��q � � �@� � �x��� �<� � � £ � ��� � � � �tr � r � r � �b� }��t� �t� �v�@}���ù
u } � ����¡Òg w � � £ � s � £ � �)� }��t} £ s }�� w � � � � � � }������x��}��t� ¼�u } w �v��� Á } s���¼ � � � � � � �x� �ór £ r � svr � w � � � � ¦�� u
� ��q �t} u ���8� w �I}�� u�sxw � r¹� � � �x��� �<� �¥�<���:� u�� �t} s �Ï� � ��� � � sZu�w � u � w �O} u �¤�l²�}D¾ w ² � � � �t¾ £ �t��� q ¦��
¦�� � � � } �tr � r � �tr � r ��� ��s � �<��Át�M�¹w ¿�� r¹�tr ��¡
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Ägª�³5ª�ÅWªVË ´ ��£��§°�}�����°�¢
c�������� � ��¿�� q � � � q }�� � }�� £ ��¼ ��� � � �<���¹� � q�� � w � u���Á } � � � � s ���I} u �v��� w � r �¹� � ��¡Ò�U�D� £ ��� Á ù

u ��� � ����} w � u���Á } � � � � � ��� £ ��¼ � D4h
s ���@} u �x� s ���t} �ûw � r � r ��\ y = ��2 8K^ ¡'ï'��¾ � �¤����¿����I} u �¤� s � £ ��}�� w �Mù

¼ ��}�� sZu } u } u � ��q�w � � � ��w � r ��� ��w � r � � ¾ � � u ����¡�c r } u �¤� £ � � }k­ � �@��� u�w � £ }��t}O}��¤��} � ��¿����@��� � }
{ ¡E2M}��x� u ����¿�� �

H = −3

2
κλLzSz −

3

2
κλ(L+S− + L−S+) +4(κL2

z −
2

3
)

X { ¡ ´ Z
�x}��¤����� � } w � � ¾ � � u ����¡~m¯} u � ��q�w � � � �ûw � r ��� � �t��� u }��x���@��}�� � ��}��x���¹}K} u �¤� s �À����}#­ � �I��� uxw �G� � ù
u �x� s � ∆1 = 4(κ− 2

3
)
�
∆2 = −2

3
4 ²�}

∆3 = 4(κ− 2
3
)
£ }��v���t}R� r ��� � �t����� � � � ��}��v} s � � ��� �

}��x� u�w � � � � �~�
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�x}��¤����� � }�� r � r � � ¾ � � u ����¡:c r � ��u �v� sZu }�� £ }��t� �t� � q|���Ôw �t� s � £ w �t� � �v�t²�}b}��t}�� Â ��� �¸��� }���}��x� � }������Zù
��}��¹� ¼ 4T1g

u }��x���@���t��� w � uø� � � � � � ��q �t} u ����� w �@}�� u � � }�¿�}��v���t}�\ µ 7¹� µ 8 �(2 = ^ � � £ � � �¤� � �v��� �<� �
r � � �v��� ��� ��������¡�c rO��w � r ��� �Du����<� � u }��x���@���t� w � � � u�� � s ��� q ��} u ²�} w � � � uø� � �trt� ��} u�q � � � 4A2g

²�}
4Eg

����} q ¦ svu }��v����}��0���¤� u }��x���I} £ � � � ��¡�c r }��t}�� Â � s }�²:� £ }���}��x� � } sx¼ ���'ù w � � � u } u �¤����}��x�I} s �¤²�} � � s ù
u�w � u � w �8} u �¤� s �û����} � � � ¿�� �<� �¤�û�v}��¤��� � } q ¦ svu }��x��� � ��¿�� q � � � D4h

q � r¹¼ � rÆ� ��� sx¼ }�� u � r � � £ � �x��������¡
¬'}��¤����� sxw �O�:� s �I���t��� � }��v}�� D′

4
� � u ��� �t� �¤� £ � �x����� � � � �U� s } £ ��¼ ���t��� ��w � �¸� ��� � �ûw � r ��� ��s �û����}

D4h
s ���@} u �v� � }�� D′

4
s ���@} u �x� £ } q } � ���x� q ¦ svu }��x�I}�� u } � ����¡

’

4Eg 

4T 1g 

4A2g 

Oh D4h D4

¬'}��¤��� { ¡ y º Co+2 � £ w � r � � ���O}�� s }�� s }�� �ûw � r ��� ���t� �¤�[}��¹}�� Â � sv¼ }�� u � r � r

c�¦ £ ��} � ��� s � svu }��I���%� ��q �¹} u ���3¦���}��������¤��}��x���¹� �tr � ��� �����@}��@���K� � ��� 4T1g
u }��x���I��}��x���t�

�<� � �Ôw �t� s � £ w � r�� � � � w �t���:� uø� �t} �t� � q|�G�Ôw �t� s � £ w � r � � } u �:�)} � }�� �tw ¿�� r ­ � �I��� u�w � £ }��t�
uø� �t���@� � � � �@��� q }��v}��¤�I}�� u } � ����¡Um¯} u � ��q�w � � � � � svuxw � u � w � r � sx¼ ���'ù w � � � u } u �:����}��x���I���¹� �¯Y[}�} ù
� � � ¼ }�� u�� � �<��s £ w �K²�} s }�� � } svu }���}�� u � w �K� � ��� g u }��v���I��}��x���¹�:� � }��x}�� � ¦ £ ��} � ���X­ � �I��� u�w � £ }��
� � � ¿�� �<� �¤�¥�v}��¤��� � } uø� �t���I� � �¹����\ y ´ � µ z � µ 2¹� µ 8 � {�z9^ º

H = Vdis + κλ
−→
L .
−→
S + β

(

κ
−→
L + ge

−→
S

)

.
−→
H

X { ¡ 8 Z
c�������� � ��¿�� q � � � 4T1g

u }��v���I� t52ge2g � w �'þ q�� � ��s
£ w � r � r � � ��� sxw � r ¾ r
w � rt¼&�¹r � r � �t� � q|�

�Ôw �t� s � £ w � r �
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ψ =
2
√

5

5
ψ

[

4T1g(
4F )

]

+
2
√

5

5
ψ

[

4T1g(
4P )

] X { ¡/- z Z
�x}��¤����� � } � ���`\ y ´ � µ z � µ 7'� µ 8K^ ¡ « � w�� ��}��@��� � ¦�� �t� �����I} s �R� � ���[� sv¼ ���'ù w � � � u } u �¤����}��v�@} s �R²�}
� � sZu�w � u � w � r � ��¼¹s�� £ � � � ��u �x� s � � � £ ��q�w � � ����}�� u ���v� ¼ � ¼<� � � ��}��G²�} � ��� £ ¦�� � }��:�CY[}�}�� � �
� ��u�s�� £ ��� � �x���t��� �tr � r �t� ��s � q }��x}��:�I}�� u } � ����¡�c r�u�� � ¼ � w�� ��}��I��}��k� � ��� �<��Á<�6r £ q�r � � ���
­ � �I��� u�w � £ }�� � � � ¿�� �<� �:�[�x}��¤��� � } u�� �t���I� � �t����º

H = ∆

(

κ2L2
z −

2

3

)

−
(

3

2

)

κλ
−→
L .
−→
S + β

[(

3

2

)

κ
−→
Lu + ge

−→
S

]

.
−→
H

X { ¡/-�- Z

c r ­ � �@��� u�w � £ }�� � }��¤� −2
3
�¸� � u ¦�� � 4T1g

u }��x���@���t��� ��� � s�� �û� w �I}�� u�r � r � r � 4P u }��x���@���t���
��� � s�� ��� w �I}�� u�r � r � r � −3

2

� ��u � w ��� ��s ��� �<� � �tw � � £ � � ����¡Æc r Á } s���¼ � � � � � � �x� £ ��¼<� ù
� �����@}��@���Ï� � ��� |ML, MS〉 w � � � � � uø� �t���@� � � � � r £ q�r � �<� � q|���Ôw �t� s � £ w �t� � �v� � }������x��}��t�I}���� � �§��\ µ z �
{�z � { - ^ ¡<c r��<� � q|�R�Ôw �t� s � £ w �t� � �v� { ¡/-�}��v� u ����¿���� � }�²�}��x����}���}��x� u �����:��}�� � ����¡¤c r��<� � q��R�Ôw �t� s � £ ù
w �t� � �x� u�� �t���I� � � � ��� u�� � sxw �¹� � � ��q �¹} u ���8¦���}��������¤��}��)}�� � }0} � ����}�¾�}�� w � � �4� � �@}��x��� 12× 12

�����I� ��u �v� s ��� � � £ ��q�w � � ����}�� u ���v�����@} s � £ ��} �tr � r � ��� ��������¡
ï'� sZu }�� ��� w�u � w�¼ ��� w ��� ��� ��¿���� �t� ��}�� � } } � ����}�¾�}�� ¼<� � � ��}��e²�} � ��� £ ¦�� � }��¤� �tr £ q�r �:ù

� r �¤� � � � ��� � ���v��� � }�� �¸� �v�:��� w � � ¾ � � u ����¡tc r £ � � � }�� w � uø� � � � � �tr £ q�r �¹� r �~�

χ =
χ

‖
+ χ

⊥

3

X { ¡/- y Z
�x}��¤����� � } uø� �¹���I� � �t����¡�c��������õ� � ���R� ��q �t} u ���i� w �I}�� u¯�<��Á<�ar £ q�r � w � �tr ¿ r � �<� � �¹r �t��¾�}������
�tr £ q�r �t� r �O¾���� s ��� � }�� µ = 2.828.

√
χ.T w � � � � � £ � ����� ��� ��������¡¹c r � r � �<�Iw'�t�Is ��¾ � �:����¿���� �<�

� � sZu�w � u � w �@²�}a¾ w ² � � � �¹¾ £ �¸��u ¦�� � �t} q ¦��x} A = 1.5
� � ��� � }�¿����x���@�û¬'}��¤��� { ¡E2R²�}D¬'}��:��� { ¡ µ �'� }

q ¦ svu }��v�����I��� u ����¡
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¬'}��¤��� { ¡ µ º�� �<�Ks ��¾ � �¤����¿���� �t� ¾ w ² � � � �t¾ £ �¸� � u ¦�� � �t} q ¦��v}D� ��q �¹} u ��� ��s £ w �

¬'}��¤��� { ¡ µ � } q ¦��v} 5.18, 5.1, 4.93
²�}

4.9 B. M.
� ��q �t} u ���O� w �I}�� ui� }�¿�}��v��}��x���¹}

s ��� ��s � £ � � 0.9405, 0.929, 0.822
²�}

0.804
¾ w ² � � � �t¾ £ �¸� � u ¦��v��}��x� � }��t� �t� �v�@}�� u } � ����¡ Co2+

� � ����� r�� � � � ���<� �O� ��¼�w �Æ} � ����}���¾ w ² � � � �¹¾ £ �¸� � u ¦�� � 1
����}

0.9 � � ��s � w � �tr ¿ r � � ��� sxw �
���¤��¾ w ² � � � �t¾ £ � }�¿�}��v� r £ q�r � � }�¿���� � ����\ µ -�� µ 7 ^ ¡Ug w � � £ � s � £ � �Gw:�<��s ��¾ � �:����¿���� �<� � ��q �t} u ���
� w �I}�� u ��� �tr�� }�¿�}��v��}��x���¹��� � � � �¹} � }��t���t��� s���� }�¾�}�¾ w ² � ��}��t¾ £ �¸� � u ¦�� � � � � w ��� � £ � ¾ � ¿��
� }��:��}��t�I}���� � ����¡
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¬'}��¤��� { ¡D2tº~� �<�Ks ��¾ � �¤����¿���� �<� � � svuxw � u � w � �#q ¦��x}�� ��q �t} u ��� ��s £ w �

¬'}��¤��� { ¡D2 � } q ¦��x} � } κ = 1 �¹r � r � r � � ��� 5.18, 5.1, 4.93
²�}

4.9 B. M. w � � � � �
¦�� ��� ��}��6� ��q �t} u ����� w �@}�� u ��}��x��� � £ �t� s ��� ��s ��� �Cq ¦��v}�}�� � }�} � ����} � �����@} s ��� � ��� � � svuxw � u � w �
0, 120, 335

²�}
385 cm−1 � }�¿�}��x��}��v��� � } w ��� � ��� � ����¡

ga� sZu�w � u � w � r � � � u � ��s ������} 4T1g(F ) u }��v���I���t��� 4A2g
����} 4Eg

u }��v���I� � � � ����¿�� � � uø� � � �
�tr ���¤� u }��v��� � }�� w � � � u�� � ��� � s�� �t� w �@}�� uxr � �0q }���} � ����}�¾�}�� uxw�¼ � � �ý� ��u �¤� s � � ��� ���tw ¿�� r £ � ��ù
� � �v� ¼ � w � � � u�� �t� ��u �:� £ w � w � r ��¡¤c�¦ £ ��}�¾�}a� ��q �t} u ��� � w �I}�� uo� }��¤��}��t}�� � }�� �<��Á<�R�t� � � � � ���
� }�¿�}�� � } w � ��� ��������¡¯g w � � £ � s � £ � � c�� w �@���@} u ��¾ « w � £ � }�� uø��u }G^b�@� � }4de� q|� � � ��� Co2+ \ w �Mù
¼ ��}�� s ��}��x���¹��� [Co(L1)(H2O)2] .2H2O

²�}
[Co(L3)(H2O)2]

¦��v�t}��¤��}��x��� � }��¤��� ��q �t} u ���#� w ù
�@}�� u ��� � }��¤��}��t}�� � }�� �<��Á<���t� � � � w � � � � � � }������x��}��t}�� � }�¿�}��x���t���K�t} � }��¹� w � � � � � � � svuxw � u � w �
²�}0¾ w ² � � � �t¾ £ �t��� � ���x����� u } �t� � � � � ���I} s � q }��x}��:�I}�� u } � ����¡

@ î., T�ÚeÑ¸Í	�|Ñ  â�ÍlÎ¤ÚÀÊ
15− É&Î'æ3ãUÎ¤âÒÎ ê É&Ë
��âÒ×s��Öa�|Ü¸Ñ��+ÈóÑÔÌ~Ë<Í ê Ü¸í Co2+ HÆ×�æ ß Ü¸Î¤Úûà

Õ�Ü¸Î¤â�Ñ¸Í+É&ËtÌ�ÍÏÎ|ÐÒÑÔÚ$EOË¤ç¥â�ËtÍ¯í¸å�ÜÔËtâ�íÝÍlË�J�Î¤×�â�ÑÔÚ%ÿDËtÚeÜÔË<å�í¸æ
� �t� s ��¾ � �¤����¿���� �<� 15− �I}�� � }��x} � � � ¾�� w ¾ £ ��¾�����¾»��� q�� � � ��� Co2+ � w � ¼ ��}�� s �

� � ��� 4.86 B. M. � }�¿�}��x��� � } � ��q �t} u ��� � w �@}�� u ²�} }���}�� u � w �t��� sv¼ }�� u � r � �<� � �
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¦�� ��� �@��}��v� � } 10.500, 14.947
²�}

18.656 cm−1 w � � � � � ¦�� ��� ��� � � ux� ��\ y 2 ^ ¡�c�}��t��}��
��� �����x� � � � � �<���tr � w � ¼ ��}�� s ��}��-� � ��� �tr ¦�� ��� �I��}�� � � u ��� �<� £ ��¼ � � � sZu�w � u � w � �
r ¿�� � �I���
w � uø��Á } � � � � q } w �I} u �x��� £ ��¼ � �<� X

D4h Z w � �tr ¿ r ²�} �tr £ ��¼ � £ �³r £ q�r � q } � ���x��}��x��� � }
4T1g(F ) → 4T2g(F ), 4T1g(F ) → 4A2g(F )

²�} 4T1g(F ) → 4T1g(P ) w � � ¾ � ¿�� � ��¼ûw �
} � �����I��� u ���`\ y�z � y -�� y�y�^ ¡|c rI��� �����v� ���<� β � }�¿�}��v���t� � } 0.75 w � � � � � � }������v��}��I���v��}�� � ����¡�^ £ �x��¾ �
s ��²:� � � w�uIs ��¾ � �¤����¿���� �t�3� ����� � ��}�¡ ¼ ¡ ��¡ sx¼ }�� u � r � r � �Cq ¦��v} � } g � }�¿�}��x��� � ��� g

‖
= 3.012

²�}
g
⊥

= 2.504 w � � � � � � }������x��}��t�I��� u ���`\ y 2 ^ ¡lï:}�� � } sZu }���}�� u � w �3� � ����� s } 2.0023 � }�¿�}��v��� � }��
�¸� �x�¤��� w � � � �tr g � }�¿�}��v���t�����t} � }��t� w � � � � � �t� £ � � s }�� ��� � s�� ��� w �@}�� u�r � � ��u �¤� s ��� �t� �
� � £ � � �¤��� w � ��� ����}�¾�}�¿�� svw � r ¾ r � � ² � �v�����I��� u ����¡

c����M¦��t¾�}��¤��¦��x�t}�¿���� sxw � r¹� � � �x��� �<� � �¸� £ �<� � � � � � � � �¹r £ ��¼ � £ ��� � £ � �0� � � �¥� q��t� � �
� � � �-²�} � � svu�w � u � w � �4r ¿�� � �@��� �tr � r �I� � � � � u ��� �<� � ��q �t} u ��� ��� � �t� � uø� � u ��� � � � �?}�� w � ��s �
�tr � r � r �4�t} w � ��� ����}�¾�}�¿����t�~��} svu ���v�@} £ } ��� ����� � ¾ � ¿�����¡

@ î.,¥î ' SÀË¤Öeí�¨bNOÜ¸ËtÍ6E�ÛÏâ�ÛÏæ�Û
g � � q�� � � ��� w � uø��Á } � � � � � � � � � � u ��� �t� Co2+ � £ w � r � r � 4T1

u }��v���I��� � } w � �tr ¿ r ²�}
�trRu }��x���@����� � £ � �t� � � � �<�)sx¼ ���'ù w � � � u } u �¤����}��v�@} s �|²�}o� ��q �t} u ��� � � � �¹�|���¤���t¾�� ¼ }�� ux� � � } u }��v���
w � � � � � � �����t� ¼ � ��q �¹} u ��� �tr £ q�r �¹� r ¿ r � r � Á } sx��¼ � � � ��� ����}�¾�}�¿����t} �<��Á<� ¦��t¾�} � }�¿����t�I��� u ���~¡
� �t��s ��¾ � �¤����¿���� �<� � � £ � ��� � � ��� � ���3� ��q �t} u ���4� w �@}�� u ��� � }��:��}��t}�� � }�¿�}��x� 5.2 B. M.

²�}
0 K � } £ � �¤� � � u ��� ���O�<���tr�� }�¿�}�� 3.76 B. M.

¾���² � �v��� � £ � �¤� � �v� � � u���� ����¡¥có¦ £ ��}�¾�}M� � £ � �
� � � �O����} 4.86 B. M. sxw � r ¾ r � � ² � �x��� � � � £ � ¾ � ¿�� � �t� � �x����� � � u���� ����¡

@ î.,¥î ) ÿ¿�lÚeÕ�Î¤Ú�NOÜ¸Ë<Í+E4Ûlâ�Û¯æ?Û
� �t�bs ��¾ � �¤����¿���� �<� 4.86 B. M. w � � � � �i¦�� ��� ��}�� � ��q �¹} u ���i� w �@}�� u � � £ ��¼ � £ � �t� � q�� �

w � uø��Á } � � � �a²�} uø� � � £ w �t��� w � � � � � �t� � � � �¹� ¿ � � � � � } � ���8¦��t¾�}��¤��¦��x�t}�� u } £ ��¼'u ��¿����I���
Á } sx��¼ � � � � � � � �Oq ¦��x} A � }�¿�}��v���t��� 1.169 w ��� ��s � q }��v}��¤�I}�� u } � ����¡ A � }�¿�}��x�o�¤�x� svuø� � � � � �
¼<� � � �@} u �x} s � w � � � 10Dq � }�¿�}��x���t} �¹w � � £ ��� w � � � � � �t� ¿���� w � � � � ��� u }��x��� � ����\ µ - ^ ¡[¬'}��¤��� { ¡ {
� }�� � } � �t� � �x����� � � uø��� �����:� 10Dq � � uxu ��� ��� � ��q �t} u ���I� w �@}�� u��¹� �x�I}�� u } � ����¡

λ = −170
� � ���¥� s ��¾ � �:�����#����}�� ��q �t} u ��� � w �I}�� u � u }�� s ����} � }�� m � £ } q ¦��v} � }�¿����v���I�

¬'}��¤��� { ¡ {:�<� } q ¦ svu }��v�����I��� u ����º
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¬'}��¤��� { ¡ { º~V � �v�:��� A � }�¿�}��v��}��v�¥� � ���O� ��q �t} u ���8� w �@}�� u ��� s ��¾ � �¤�����¤� � � }�¿����x���@�

ga}��t} £ s }�� w � � � � �I²�}��v����}�� 0.75 β � }�¿�}��x���t} q ¦��x} Á } s���¼ � � � � � � � £ ��¼ ��� � ��¿���� �<� A =

1.35 � }�¿�}��x�e}�� � }�} � ��������¡ A � }�¿�}��v���t��� 1.4 u }��4� �¹��� � w ��� ��s � �tr � r � r�q }��t}�� w � � � � � Co2+

� w � ¼ ��}�� s ��}��x�¯� � ��� £ � � s }�� � � � � w � � � � ��� ���tr �X} � ��������¡�c�������� £ ��¼ ���I��� �tr?�tr � r � �<� £ � ��ù
s }�� � � � � �t��q � � � �t� � � � � ��} � �������t����� �¸� � ��u 1.35 A � }�¿�}��x��� � }�� 4.86 B. M. � }�¿�}��v���t��}�� � }
} u �I}��8� � �I� � � w � � � � � � � u���� ����¡ 4.86 B. M. � }�¿�}��x���¹�e}�� � }D} � } � �����I}��@� � ��� A = 1.169

� }�¿�}��x��� � } w ��� � ��� � ����¡U� Át� � � }G� ��q �t} u ����� w �@}�� u �b} u �¤����} £ }�¾�}�� �<� �x� �%� ��� ¼<� � � �@} u �x}
� ��q �t} u ���@­ � �I��� u�w � £ }��t���¹} �<��Á ���¥} � �����I}���� ¡

W±�:�
A � }�¿�}��x� � � ��s ��� �<� �¤� r £ r � svr ��� r �~� £ ��¼ ���t��� uø� � � ��� w � uø��Á } � � � � £ ��¼ � �t�R� }�¿����

� } u } u � ��q�w � � � � � svu�w � u � w � �%r ¿�� � �I��� w � u���Á } � � � � £ ��¼ � w ��� ��s ��� �<� � � ����¡Un r � � �v� �<� �¤�������
¦��x�t}�� u } � } �<��Áts } uvu ��¿����I��� q � � � � ¦ £ ��} � ���)} u �¤� � � svuxw � u � w �O����}i� � �@� � � w � ��� ��������¡
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@ î.,¥î., Þ ÑÝæ-Î¤Ð�â�Ñ¸Õ�Ñ	4#×~Ó¤Û¯Ü¸æ?Û¯å ë Î¤×�æCÎ|ÐÙâ�Ñ ê Î 4T1

J�Î¤â�Ñ¸æ%Ñ¸Í¯Ñ¸Í�É=Ë¹ÌûÍlÎ|ÐÒÑÔÚCÉ&×�æCÎ:ÍûÐÒÑ
m¯} u � ��q�w � � � � � svuxw � u � w � �0r ¿�� � �I��� Co2+ � w � ¼ ��}�� s �û¬'}��¤��� { ¡ y'�¤� }�� � } � �t� � �x��� � ¾ � ¿��

q � � � 4A2g

²�} 4Eg
u }��v���I��}��v���t} £ � �v�����I��� D4h

s ���@} u �x� s ��� � } � ���i¡~V � �v�:��� ν = ∆
λ
� }�¿�}��v��}��v���t}

q ¦��x} � }�¿����v��� A � }�¿�}��v��}��x�<� � ��� s ��¾ � �¤����¿ �iq ¦��x}�� ��q �t} u ���R� w �I}�� u�� }�¿����v��� q � � þt�:��}��v��¬'}��¤���
{ ¡V7#²�}#¬'}��¤��� { ¡ = �t� } q ¦ svu }��x�����I��� u ����¡

¬:}��¤��� { ¡V7¹ºtg � � � � � � � �YX A = 1.5 Z � � ����� ��q �t} u ��� ��s £ w �

¬'}��¤��� { ¡ = º A = 1.35
� � ���O� ��q �t} u ��� ��s £ w �
= z



¬'}��¤��� { ¡ ´ º A < 1.35
� � ���O� ��q �t} u ��� ��s £ w �

c r �v}��¤������}�� � }��@}�¿�}�� � � � � �t� � q�� � w � u���Á } � � � �<²�}�� � £ � � � s } κ = 1
� � ��� 4.86 B. M.

¾���² � �v��� �t� �¤�[� ��q �t} u ���I� w �@}�� u � �¹r ��� � �I���a� � �@� � � w ��� � £ � ¾ � � u ����¡ A � � � ��� ¼Æ� � � � � � u ù
u ��� ��� � ��q �¹} u ��� ��s £ w � r � �t� � ux� ¿ �&� } q ¦�����}��t�I}�� u } � ����¡ κ = 1

� � ��� w:�<�+s ��¾ � �¤����¿���� �<�
4.86 B. M.

� ��q �¹} u ����� w �I}�� u � � }������v��}��I}���� � ��� A = 1.169 w ��� � ��� � �¸� � ��uÆ� }��t} £ s }��
²�}��v����}�� �tr6� }�¿�}��v� � } sZu }��¤��}��I}��I}�� u } � ����¡ κ = 0.7 w � r � s�� A = 1.169 w � � � � � �tr � r � r ��¡
V � � ��ub�¹r � rG� � � � ���t� �b� ��¼�w �b} � �����@��� � }�¿�}��x��}�� � }�� w � �tr � ���@r � � � � ��� � }�¿�}�� � ����\ µ - ^ ¡ûc r
sxw � rt� � � �v� �8�¸� �v�:��������¿���� �t��Á<�O��w � � � sZu�w � u � w � �<� ��� � £ � � �¤� � � � ��¿����t� s ¦ £ ��} £ } � �������x����¡¥gb� svuxw �Zù
u � w �3�@��� u�� �x�X� � ��� � } β = 0.75 � }�¿�}��v���t}M� � �x�v������� q }���}�� A = 1.35 � }�¿�}��x���t�À� r ��� � � � � � �
w'�<�Ks ��¾ � �:����¿���� �<� κ = 1

� � ��� � � svuxw � u � w �O� ��uxs�� £ � s � 4 ≥ 10λ
£ � �t� ∆ ∼= 1700cm−1 w � r ��¡

@ î : $4ìg�ÏÍ	�g�  â�ÍÏÎ¤ÚÀÊ
Co2+ É&Î¤âÒÚ~Î:ÓkTáÖ�×�ÍÏÜÝÛ6É&Ë
��âÒ×s��Ös�|Ü¸ÎkHÆ×�æ ß ÜÔÎ¤ÚeÕ�ÜÔÎ¤â

¬'}��¤��� { ¡ 8'�<�<�Kq ¦ svu }��v����}��O� � ¾�� w ¾ £ ¾���}���� q|� � � � � �o� � ���t} Á<��¼ts } � ����} � ����}��O�I} u�� �¥� £ w �'ù
� � �v�ó�I} � ��� � � � � ��� ���o� r ��� � �t��� ��� �������b¦���}�������� u } � ���v��}���¡Ïc r ��� q|� � � � � � ��w � �¸� �x�¤��� q } w �@} u �v���
£ ��¼ ��� � � �<� ²�} �tw � � £ � s � £ � ���<�4�¸� �v�¤��� �t� £ � �¤� � �¤��}�� � } � � � � w � r � uxr � ��� �����@}K¦���}��������¤��}��x� w � � ù
� ����}�¾�}�¿���� � }�� u } w �v��� ��� � �t� � � ���¤� ��u�� }��¤��¾�� � ���v��}���\ {�y ù {�{�^ ¡

= -



¬'}��¤��� { ¡ 8 º M = Co2+ � w � ¼ ��}�� s ���t��� £ ��¼ � s �

c����v���t¾��:¦��x�t}�� u } � } uø� £ ��� w � � � � � ��� ���¤� ��� ��¿����@��� u } w �x����� w:� }�� sxw � r¹� � � �x��� �<� �R²�}���� u ù
}�� ��u�� � � }K� ��sZu � ��� ��¿����I��� � }��t} £ s }��U²�}��v����}��x��� � }�� £ � � � �x� � � � � � � �tr £ ��¼ � £ �À� ��q �t} u ����¦���}��§ù
�����¤��}��x�U²�} q } w �I} u �x� s � �t� �¤���I��� �<� �%���t¾�}���}��I} £ } � }�¿�}�� �tr � r �t� r � u�r ��¡�Y � £ � ��� � � �¥� q��t� � �
� � � �O²�} � � svuxw � u � w � �Kr ¿�� � �I��� �¹r � r �I� � � � � u ��� �<� �:�[� ��q �t} u ���8¦���}��������:��}��v�[����}��@} uø� � ù±�I} u�� �
� � ��s �U} u �:����}��x���I��}��x��� � }��G� � £ � � �¤���U� ��q �t} u ���G¦���}��������:��}��v���t� uø� � u ��� � � � �G}�� w � ��s � �¹r � r � r �
�t} w � ��� ����}�¾�}�¿����t�~��} svu ���v�@} £ } ��� ����� � ¾ � ¿�����¡

� �t�6s ��¾ � �¤����¿���� �t�
vibrational sample magnetometer model 155

����} � ����� � �
� }��t} £ s }��ó� ��q �t} u ���k� w �I}�� u0�tr � w � ¼ ��}�� s � � ��� 3.87 B. M. w � � � � � � }������v��}��¹�@��� u ����\]-�- ^ ¡
Co2+ � w � ¼ ��}�� s ���t����}���}�� u � w �¹��� sv¼ }�� u � r � r � �<� � 461, 490

²�}
510 nm � }�¿�}��x��� � } 4T1g

uø���<� � �¹r � r � u }��v���I��� � }�� �t��uø� �t} sx¼ ���k�������¹��� q } � ��� w � �¹r ¿ r � ��¼ûw �)} � �����@��� u ����¡
c r � w � ¼ ��}�� s ��}���� � ���O¦�� ��� ��}��O� ��q �t} u ���@� w �I}�� u ¦�� ��� � � � � �x��� u ��¾�� � ��� sxw � rt�áu�r ���

�x¦ £ ��}��¤�Ýºt� w �v� � �û� � � u � � � � � u ��� �<� Á � ��� � sZu�w � u � w � £ w �8� s }D¬:}��¤��� { ¡.- � } � } q ¦ svu }��x��� � ��¿�� q � � �
� }��:��}��t}�� u } w �v���C� ��q �¹} u ���C� w �I}�� uM� }�¿�}��x� 5.2 B. M. w � � � � � � }������x��}��t�I��� u �Ý¡ ® � ��� ��}��
� }�¿�}�� � }0�¤� � ���)� ��q �t} u ���I� w �I}�� u�� �t¾ � �@²�} � �t¾ � � s���� }�¾�} sx¼ ��� � }��k� � £ � � �¤���[� ��q �t} u ���
� w �I}�� u ² � ��� s }�� � �I� � �¥� � � s � uø� � � ��� � }0� ��q �t} u ���I� w �@}�� u�� }�¿�}��x� �tr4� }�¿�}�� � }�� �¸� ��� �
w ��� � ��� � ���`\D2�7 ^ ¡¥ï ��� }�¾�} sv¼ ��� � }��?� � £ � � �:���X� ��q �t} u ���4� w �I}�� u � � ��� sx¼ ���'ù w �t� £ � }�¿�}��v�À� r �§ù
� � �t��������¡ÏY � £ � ��� � � ��� � ��� � }��¤� Co2+ � £ w � r d7 � w �¹þ q�� � ��s £ w � r ����} �t�Æuø� �t} � � �äu ��}��t�I}��I���
}���}�� u � w � �-sx��Á � ¼�w � �¹r ¿ r � �t� �6� ��q �t} u ���C� w �I}�� u µ =

√

3.(3 + 2) = 3.87298 B.M.

w � � � � � � }������v��}��¹� ¼ � � }��t} £ s }�� w � � � � �-¦�� ��� ��}�� � }�¿�}��x} w � �tr � ��� £ � �¤��� � ����¡��U¿�}�� �tr+� }�¿�}��

= y
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\ w � ¼ ��}�� s �¹� ��q �¹} u ���0¦���}��������¤��}��v� ��� � s ��� �<� �#���t¾�}���}��I}�� ��s ��� � � � ¾����I��� w � �tr ¿ r � � ���
£ ��¼ � £ � ¦��t¾�}������¤��} �tr-��� � �<� � £ � �¤� � � � �����k¡~n � � s }�� sx¼ ��� w � uø��Á } � � � � Co2+ � w � ¼ ��}�� s � d7
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£ ��¼ � �t� � q�� � � ��� w � u���Á } � � � � £ ��¼ � �t� � s } uø���<� � �tr � r � u }��x���@� w � � � uø� � w � � � � � �¹� � ��� } ù
Â }��t}��x}�����¿�} sx��Á � ¼ 4T1g
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m ���t� � �¹r � r � u }��v���I� �t� � ��w � � � uø� � � } Â }��t}��v}�����¿����¹} s���Á � ¼ � w � ¼ ��}�� s ��}��x����� ��q ù

�t} u ���i� w �I}�� u ��� � } s ��¾ � �¤����¿ ���<� ¿���� w � � � � � s���� }�¾�} sv¼ ���t��� � }��R� � £ � � �¤���¤� ��q �t} u ���b� w �@}�� u
� }�¿�}��x��}��x���t} q ¦��v} � }�¿����x���¤�����¤��}�� q ¦�����}��t����¡|f ��q �t} u ���R� w �I}�� uvu }�� £ � � � �v� � � � � � � uø� £ ��¼ ���t���
q } w �I} u �x� s ���¹� �<��Á<��Á<��svs���sÆ� ���M�x}��:��� � } uø� £ ����} u �@}�� w � ��s � � ����¡Uc���� �<� ��� ¼<� � � �I} u �v}���}��x}
q ¦��x}a� ��q �t} u ���M� w �@}�� u � Á } s���¼ � � £ � ¼ � � }��t} £ s }��e²�}��x����}��x��}b� � �x�v��� � � u ��� � � � � �trO� }�¿�}�� � } � ���
� ��q �t} u ���I� w �I}�� u � � ���O}�� w � ��s � q } w �@} u �x���@�v}��¤������}��t���I�û��} sZu ���v�@} £ } ��� ����� u ���~¡
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\ w � ¼ ��}�� sa�t� � q�� � � ��� w � u���Á } � � � � � � � �4²�}#� � £ � �ó� � � � w � r � u�r �x� r �b� s } Co2+ � £ ù

w � r � r � u����<� � �tr � r � u }��x���I� 4T1
w � � ¾ � � u ����¡ A = 1.5 w � �tr ¿ r � � £ � ��� � � � �tr � r � r � � ���

� ��q �t} u ����� w �I}�� u ��� λ = −170
� � ��� s ��¾ � �¤����¿ ��q ¦��x} � }�¿����x���@��¬'}��:��� { ¡/- � } q ¦ sZu }��v��� � ��¿�� q � � �

w � � ¾ � � u ����¡|� �<��s ��¾ � �:����¿���� �<� � ��q �¹} u ��� � w �I}�� u ��� � }��:��}��t}�� � }�¿�}��v� 5.2 B. M. w � � ¾ � �D²�}
s ��¾ � �¤����¿���� 0 K � }�¿�}��x���t} �t� � � � � ����}0� ��q �t} u ���Æ� w �@}�� u�u } 3.76 B. M. � } � ���<� � � }�¿����v}áù
¾�}�� u ����¡�c r � ���<� � � �¹� � �v����� � � uø��� ���K�¤� � }��t} £ s }�� w � � � � � w:�<�%s ��¾ � �:����¿���� �<�3u } sx¼ � u } � ����}��
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� � � � A = 1
� � ���?���t¾�}���} � ��¿����@��� � } w'�<�Os ��¾ � �:����¿���� �<� � ��q �t} u ���G� w �@}�� u ��� 3.87 B. M.

w � � � � � � }������x��}��t}��@} £ }�¾�}�¿�� ��� ��� u ����¡�g w � � £ � s � £ � � � w � ¼ ��}�� s@uø� � � ��� w � uø��Á } � � � � £ ��¼ � �<�
� }�¿���� � } u } u � ��q�w � � � � � sZu�w � u � w � � r ¿�� � �I��� w � u���Á } � � � � £ ��¼ � �<�Iw ��� � ��� � ����¡

=�µ



@ î : î., Þ ÑÝæ-Î¤Ð�â�Ñ¸Õ�Ñ	4#×~Ó¤Û¯Ü¸æ?Û¯å ë Î¤×�æCÎ|ÐÙâ�Ñ ê Î 4T1

J�Î¤â�Ñ¸æ%Ñ¸Í¯Ñ¸Í�É=Ë¹ÌûÍlÎ|ÐÒÑÔÚCÉ&×�æCÎ:ÍûÐÒÑ

4T1g
u }��x���I���¹���M¬'}��¤��� { ¡ yi� } � } q ¦�� � � �t� ¿ �Iq � � � sv¼ ���:ù w � � � u } u �¤����}��v�@} s ���¹��� sxw � r ¾ r

u } u � ��q�w � � � � � svuxw � u � w � ��r ¿�� � £ � ¼0w � � � u�� � �<� �:���@��� �<� � s ��� q ��} u ²�} w � � � uø� � �<� �¤���I��� �t� � �tw�r ù
� ��} u ���:� u }��x���@} £ � �v��� � ��¿����t� �<��Á<� ¦��t¾�} �<��Á¹s } u �@��� u ���~¡[V � �v�¤��� ν = ∆

λ
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0
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s ��¾ � �¤����¿ �-q ¦��x}3� ��q �t} u ���$� w �@}�� uO� }�¿����x��� q � � þ<�¤��}��x�i¬'}��¤��� { ¡/- z ²�} { ¡/-�- ��� } q ¦ svu }��]ù
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¬'}��¤��� { ¡.- z º~f ��q �t} u ��� ��s £ w � r � s ��¾ � �¤�����¤� � � }�¿����x���I��X κ = 1 Z

= 2



¬'}��¤��� { ¡/-�-�º<f ��q �t} u ��� ��s £ w � r � s ��¾ � �¤�����:� � � }�¿����v���I��X κ = 0.9 Z
c rÆq � � þ<�¤��}�� � }�� �¸� �x�¤��� κ � }�¿�}��v��}��v�û� � ���8� ��q �t} u ��� ��s £ w � � }�¿�}��x��}��x��� � }��8� ��q �t} u ���

� w �I}�� u ��� � }��¤��}��t}�� � }��¹} £ s }�� � }�¿�}��v���t�[}�� � }D} � ����}��I� £ }�¾�}�¿�� � �t� � �v����� � � u���� ����¡
ga� sZu�w � u � w � r%� � uvu ��� � ��� ��� � ��q �t} u ��� ��s £ w � r �$�¹}Æ�x}��:��� � } � }�¿����x}�¾�}�¿���¬'}��¤��� { ¡D2 �X� }

q ¦ svu }��v�����I}�� u } � ����¡�­b} s���¼ � � � � � � � £ ��¼ ��� � ��¿���� �<� µ = 3.86 B. M. w ��� ��s �Ï� � ��� � � svu�w � u � w �
� }�¿�}��x���t��� d − d q } � ���x��}��v���t} � }��t� q }����I} s � q }��x}��:�I}�� u } � ����¡eV � � ��u�� ¦ £ ��} w ��� ��s �Ï� � ��� � }
sx¼ }�� u � � � sxw � rt� � � � r £ q�r � � }�¿���� � ����¡'c�¦ £ ��} � ��� �tr � r � �<�Kw � u���Á } � � � � £ ��¼ � �t� � �<��Áts } � ����}áù
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c ö � ���<� � �t� � � ��� ��q �t} u ���3� w �I}�� u ��� w ��� ��s ���¹���3���¤�o�t} � }��t� w � ��� ��������¡ûc r �t� � �Zù
�<� � � ���x���t¾�� s � ��� w ��}�� � ��}��o�@}��x��}�����}�� � � ��s ��� �<� �:� � � u � � }��v� w � ��q �t} u ��� } u �¤����}��x�I}���}�� w � ��� �������
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^a� u � � }��x� w � ��q �t} u ���³} u �¤����}��x�I}���}��x� � ������}�� � � � � ��� � �¤� £ w � r ��� ��� �t� � s ��¾ � �¤����¿����
�Ôw �t� s � £ w � rGw � � � � � £ } u }��x���e¦�� ��� � � �����t� � �@��� u ����¡¤c�¦ £ ��} � ����²�}��v� w ��� � � ��s � s } � } � � £ ��} �tr
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} u �¤����}��v�@} £ � uø� � u ���x� � £ �K�<��Á ���[} u �@}��Æ� sZu }��@} � ���~¡
0 }��x� £ }R� � � � � u }�� w � ��s ������� � � sZu�w � u � w � w � �tr ¿ r � �<� �4²�}D}��¤��}��t�I} s � q }��x}���}�� � � svuxw �Zù

u � w �8�I��� uø� �v� �<� ��w � �t� £ � � w � � ¾ � ¿���� �t� � � � u ��� �tr � w � ¼ ��}�� s � � ��� £ ��¼ ��� � ¾ � � u }�� £ w � r �k�
� � sZu�w � u � w �3����} 4T1g

u }��v���I���t��� 4A2g
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u }��x���@��}��x� � � ��s ��� �<� �¤�U}��t}�� Â � � � � ����¿�� w � ���<� �

£ � � s }����@��� u ���0�:�Ý� �t� � � � �t� ¿ � � � � s ��¾ � �¤����� � ¦�� q } s ��� � } � � �äu ��}��v�@}��@����}���}�� u � w �t� � � sx��� }�¾�}
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£ w � w � rt¼ �¹� ��q �t} u ���8� w �I}�� u } q }���}�¾�}�� w � � � u }��Æ� ��u �¤� sx¼ ��� ��� � sx� �¥� w �@}�� u�r � �<� �O� � £ ù
� � �¤��� � ����¡ 0 } w �I} u �v���t���3� s }@� � �v} �t� ����}�� q } w �I} u �x� £ } � ¦�� � �v� � � D4h
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u }��x���@��� � }�� � ��¿�}��
�������t��� q } � ���x��}��x} � }�¿���� � }�� 4A2g

uø���<� � �¹r � r � r � �<� � �<� �x� � £ � ¼K� ��¿�}��À�������t��� q } � ���x��}��x} w ��� ��s �
�<��Á<�Kr £ q�r � w ��� � �a�@� £ � � � ¾ ���<�gÌ
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ï'} � ����}�� £ ��¼ ��� � �v���O� ��q �t} u ���@¦���}��������¤��}��x���¹� �<��Á<�IÁt��sxsx��s ²�} � £ �x��� u ����� w � � � � � u } sx¼ � u
} u �I}��C� � ��� r £ q�r �+� ��q �¹} u ���C­ � �I��� uxw � £ }���²�} r £ q�r � �<� � q|�G�Ôw �¹� s � £ w �t� � �x� � }������x��}�� � �Ý¡
ï'} � ����}���� ��q �¹} u ���%­ � �@��� uxw � £ }�� � } u }��@}�� w � � � � � �t��s �¤�������¤� u }��x��� w � � � sx¼ ���'ù w � � � u ²�}
� � sZu�w � u � w � sxw � rt� � � �v���t� w � uø� £ � � w £ rt¼ �Ï� ��q �t} u ���4¦���}��������¤��}��x���t��� �¹r�u }��x���@��}��v����} u �¤� s �o����}
� }�¿����x���@��}��x�����¹¾�}���}�� � � ¡

0 }��t}�� w � � � � � �tr%��� �����v� � �v¦ £ ��}@¦���} u ��}��¹} � ��������º¥W±�¤���t¾�� � ¦�� � � � }I�I} u�� �À²�}8�@} uø� �
� w � ¼ ��}�� s ��}��x� Á<� �:�¤��� �<� �¤� � ��� q ����}��v} � ��� ��w �i� � £ � � � u�� � � w � � £ ¾ ��r � � �x��� ��� ����}�¾�}�¿���� � ��� sx��� }�¾�}
�tr �t� � � � � ���<� ¾ �M� }�¿����t����}��v}��Mþ<����� s }��l¦���}��������¤��}��x���t���I� ��s ��� � }�¿����v} � ����}�¾�}�¿��¥¦���} u ��}�� � �Ý¡

¢ ��� �t¾ ��� ¦�� � � � }�� � }�¿����v��� q } w �I} u �x����}��v��� s }�� � } svuD��uxw � r � ��s ���¯} u �:����} £ } � ����}�¾�}�¿�� �
�:�v� sZuø� � � � � � £ � �¤� � �x���I� � �x�[� r ��� � �¹��� � � � � � �t� ��u ����� � £ �#��� �����v��� � � ¡:c rG� � � �¹����} u �:� s � £ ��} � � u ���
s }�� � } svu�� ����� £ w � w ��� � £ � �Æ�I}��v��}���� £ w � r � r ��¦���}��������¤��}��x�t²�}0­ � �I��� u�w � £ }��t���t�~�t}���}��x���Æ} u ��ù
����} £ } � ����}�¾�}�¿��[¦���} u ��}�� � � ¡

ga¦�� �¹� �t¾ �K� ¦�� � � � }��Ù�¤�x� svuø� � � � � �t���R} u �¤� s ��� � } �tr � r � � � � £ w � r � ��� �<� �v� �b¼ }�� u�� � � }
u }��v��� w � � � � � } u �¤����} £ } � ����}�¾�}�� sx¼ ���'ù w � � � u } u �¤����}��v�@} s �~����} £ }��t� w � r � � ¾ � �M­ � �I��� u�w � £ }��t���t���

=�=



²�} �t� � q|�#�Ôw �¹� s � £ w �t� � �x���¹����� ��s ��� w ��� ��s ���t��� q }��v}�� u ��¿�� q ¦ sZu }��x����� ¼ �¹� ��q �t} u ���8� w �I}�� u �¥²�}
� ��q �t} u ��� �tr £ q�r �t� r ¿ r�uø� � u ���x��� � � ¡

c�}��v���t¾�� � ¦�� � � � }�� �tr0��� �����v� ���t�ów � uø� £ � � w � r � � �0� w'� }���²�} svw � rt� � � �x� uø� � u ���x�����@��� u ����¡
c r@� ¦�� � � � }�� 3d �I} u�� ����}��x�:� � ��� � � svu�w � u � w � r � �<�0sx¼ ���'ù w � � � u } u �:����}��x�I} s ���t} £ � �:��� � ���U} u �¤�
�tw ¿ r � �tr ¿ r � �<� � �tr ���:� ¼ }�� u�� � � }ó} u �:���t��� u�w�¼ � � � sxw � r ¾ r ����} w � r � � ¾ � � £ }��t�¹­ � �I��� uxw � £ }��
�t�#uø� �¹} Co2+ � w � ¼ ��}�� s ���t} r £ q�r � � � � � � �k� ��q �¹} u ����� w �I}�� u ²�}M� ��q �t} u ��� �tr £ q�r �t� r �
� }�¿�}��x��}��x�U}�� � }M} � ��� � � ¡ûc rCsvw � rt� � � � � £ �t��� w � ¼ ��}�� s ��}��x������� u }�� ��u�� � � }��¤� � }��t} £ s }���²�}��v����}��x�
����}D� � �x�v��� � � u ���x����� ¼ � �tr �t� � �v��� Á }�� � ��q �t} u ����¦���}��������¤��}��x���¹��� Á }�� � } £ ��¼ ��� � �x���t��� �<��Át�Æ�<�
Á<��sxsx��s�w � � � � � u } sv¼ � u } � �������t} � ����}�¾�}�¿�� � £ �v��� u ����� w � � � � � q ¦ svu }��v��� � � ¡

c rK��� �����v� ���t�bq }������ u ���x����}��0� w'� }�� � q }��t}�� � ���X� w:� }�� w � �¹r ¿ r � � ��� � ��¿�}��X�I} u�� �¹� w �Mù
¼ ��}�� s ��}��x���¹} � } r £ q�r � � �t� ¼ £ ��¼ ��� � �x� �<��Á<�MÁ<��svs���s�w � � � � � w � uø� £ � � w � r � ��� ��������¡
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Î�� 1 (�A��
( 1 �#(6�

\/- ^ V�¡�^R¡�ð w�uxu�w �¥� 0 ¡KÏ������¤��� sxw �[� « ¡�d�¡ 00��rts ��c ��s ��¾ój±� w � q�� �t��¾�ð Á }��@� svu � £ � ��w�Á �'ù�Ï�����} £Ð ï w � s �<j±�t¾�¡§�	XU- 8�8|{ Z ¡
\ y�^ g ¡À`���¾ Átw ��� s �Xð w �@��} · } sK� � � VX��� svu ù]� w ÷ m¯� � � s � u � w �%�U��}��@}�� u�s � « � � q � � ²�}�f � ¾��@���§ù

��� � �¥�sX�- 8 = 2 Z ¡
\ µ ^ ïû¡ ® ��� � � � � � `R¡~\K¡tm r � � ��� �'^a� w � q|� �¹���Æ\���� £ � � 0D� ��� ¢ �¹��²�¡¹n � £ ���t� � �x��X�- 8�8 µ Z ¡
\D2 ^ 0 ¡¤ï�¡:f � �t� r �|m Á } w �x} u ��¾ � � « �v���t¾�� ¼ ��} sUw�� j±� w � q|� �t��¾�ð Á }��I� sZu � £ �|m ��uø� fk¾ 0 � � ÷ ù±­b�����

« r¹� ��� sxÁ ��� q ð w � ¼<� � £ de���I� u } � ��XU- 8 ´ z Z ¡
\ {�^ 0 ¡~jø¡�c�� w ÷ �¥��^_`b} ÷ 00r � � } u�w f w'� }��x� �o� ��}��t¾ £ m Á } w � £ �ûd w � q � � � s � 0 �x}�}�� � � �

ð w d u�� ¡��s- 8 7 ´ ¡
\E7 ^ V�¡Ò� ���¸��u ��f-¡�nK¡Òï'� �t� � q � � � � \K¡�ïû¡�ï'� �t� � q � � � ¡�ï'}�� � ¡�ð Á }��4¡�ï w ¾�¡§�(7 8 X ´ ù 8 Z �`7W2!-�ù§7�7W2 8

X y�z�z 2 Z ¡
\ = ^ ��¡�ð � � ¼ûw � ��u �~f-¡~\ � £ � ��ïû¡ 00� ���<m r �x�~¡ � ¡�ð Á }��4¡§� y ´ � y µ { ù y 2 y X y�z�z 2 Z ¡
\ ´ ^ ­R¡�ï'� q }�� � � � �0¡<ca¡�f � � u ���¥�tð Á }��4¡~��}á²�¡�� ´ y � µ�´ { XU- 8 ´ y Z ¡
\ 89^ Ï=¡ � ¡~\K¡!Ï � ����}�� � � � �0¡<` � � w �¥� � ¡<^b�k¡~ð Á }��4¡�ï w ¾�¡�� 8W8 � ´�´ {98 XU- 8 =W= Z
\/- z�^ ca¡lïû¡ 0D� � q �[f-¡lï � � �tÁ<� � � � � g ¡[`R¡e\ r � � ����mÏ� � � s � u � w �?f4} uø� ��ð Á }��I� sZu � £ � y�z�z µ �

y ´ º { µ 2�ù { µ 8 �sX y�z�z µ Z ¡
\/-�- ^ f-¡<^ ¡~V ��uxÁ � �tf-¡<^)ü¤� � �<mÏ� � � s � u � w �4f4} u ¡ûð Á }��k¡§� y 2t� = -�ù =�µ �sX�- 8�8�8 Z
\/- yK^ ða¡�ï ¼ ��� rk� � � ^ ¡<\��v��� � �t^)¾ u�� ð Á ���k¡tï'� w ²�¡§�
2 = ��- = 8 ùÂ- ´ { ¡.- = 8 ¡§��X y�z�z�z Z ¡
\/- µ ^R� ¡t\�� sx� � �'YX¡¹ð�� r �t���~�¹\K¡'ga� ��� }�� u �¹m�¡t� r � � �¥�¹ïû¡CÏ w � w ÷ ��}�¾�� « w � £ Á } � � w � y�y ��-�7W2 { ù-(7 {�y �sX y�z�z µ Z ¡

= 8



\/-�2 ^ Ï=¡~c��x� £ s � �8� � � Ï=¡��i� q�� � « w ��� svÁk� ¡�ð Á }��4¡�� = 7�-�7 ´ 8 ù�-(7 8|y X y�z�z|y Z ¡
\/- {K^ Ï=¡~c��x� £ s � �8� � � ^R¡�Y � � wÒÂvs � � � « w ��� sxÁ4� ¡�ð Á }��k¡§� = 7¹�
7 µ -�ù�7 µ { X y�z�z|y Z ¡
\/-(7 ^ ^ ¡�ï Á � q }��¤�Ý�~ïû¡tm £ w �~^b� � � ¡<ð Á ���4¡t^a� u��@y = 2LXU- Z ��-�2?-��aX y�z�z µ Z ¡
\/- = ^ m�¡�^R¡~� � � ���t� �¥�<­D¡�f-¡ûf w|� ÷ ��� � ��w�r �x� � � w�� ^ ¼t¼ ����} � « w � £ �I}���ï'¾���}��¹¾�}�� ��w �Ý¡ = -��2 z�8 ù_2!-�2¿XU- 8�8�8 Z ¡
\/- ´ ^ g ¡~\K¡!Ï�������� � � s �:ð Á }��4¡~��}á²û¡§� = y � y�z µ XU- 8 = y Z ¡
\/- 8�^ ða¡�f w ��} � ��� � � � ^R¡~�)¡�f � � u }���� �<ð w:w � � ¡�ð Á }��4¡<��}�²�¡§�	- 8 ��-��aX�- 8 = 7 Z ¡
\ y�z�^ ða¡ « �v} u � � � �H0 ¡tm w�s � �t^ rtsvu ¡ � ¡<ð Á }��4¡�� y�z � { 2 µ X�- 8 = 7 Z ¡
\ y - ^µ� ¡<ca¡t� � � � �<g ¡ « ¡�ï'��� q�Á � « ¡~ï'��� q�Á�� � � f-¡ « u } w�u � � �'m¯� � � s � u � w �4fk} u ¡~ð Á }��k¡§� y�y �

y�y�{ XU- 8 =�= Z ¡
\ y�yK^ ^ ¡�ca¡ « ¡�de}�²�}�����j±� w � q|� �t��¾o����}�¾ u � w �t��¾óï ¼ }�¾ u � w�s ¾ w�¼ £ ���U� s }�²:��}����Ò^a� svu }�� �<� �4�5XU- 8 7 ´ Z ¡
\ y µ ^ �D¡¤g ¡¤­ � �t¾ w ¾ø�~� 0 ¡ « ��uvu �x��¾ø�~� « ¡�Ï=¡�Ï ��� } � � ��0 ¡|gR¡¤­ w�s ��}��[� « r �v}�^ ¼t¼ �Ý¡:ð Á }��4¡��7 { �!2 =�µ X�- 8�8 µ Z ¡
\ y 2 ^ ïû¡�ð Á<� � � � �I� � � \M¡ 00rt¼'uø� �tmÏ� � � s � u � w �4fk} u�� �Ïð Á }��4¡§� y = º/- 8 7�ù�- 8�8 ��X y�z�z�y Z ¡
\ y�{K^ « ¡ � ¡~có}��x� Á<� � �'ua� � �%0 ¡<^R¡<d � ÷ � � �t¾�}��ûð w'w � � ¡~ð Á }��4¡~��}á²û¡§�s- z 2¹� yW8 = XU- 8�8�z Z ¡
\ y 7 ^ g ¡ « � �v��}����ûð Á }��4¡�ï w ¾�¡~��}�²�¡§�s- 8 � y = -�X�- 8�8�z Z ¡
\ y = ^ « ¡CÏ=¡'^ u �¤��� s �~f w ��}�¾ r � � �½Ñ r<� � uxr � fk}�¾ Á<� �t��¾ s �~� · �Ôw � �Oö �t��²�}�� sZu £ « �x} sxs �sXU- 8 ´�µ Z ¡
\ y ´ ^ ða¡ � ¡Òc � ��� Á<��rts }��¥��j±� u � w:�tr ¾ u � w � uxw de� q|� � � VX��}�� � m Á } w � £ ��fk¾ 0 � � ÷ ù±­b����� ��`b} ÷ n w �v���

XU- 8 7 y Z ¡
\ yW8�^ V�¡tj±�x���~� CuCl3 ²�} CuBr3 ^a����} s ���t���OV � �x�¤���ûm � ��ga}�¿����]ù±m w � r ��� u �¤����}��x�I}���}��x�Ý�¹g w ��ù

u�w � � mÏ}���� �<mÏ� � � £ � ¢ �t��²�}�� s � u } s �Ý�	X y�z�z µ Z ¡
\ µ z�^ �K¡~\ Á<� �¥�~f w ��}�¾ r � � ��f ��q �t} u � s �k� � ð�­R��`b} ÷ n w �v�~�	XU- 8�8 µ Z ¡
\ µ - ^ VX� q�q � s ca¡t`R¡§�<j±� u � w:�tr ¾ u � w � uxw dl� q|� � � VX��}�� �ts �'j±� u }�� s ¾���}��t¾�} « rt� ��� svÁ }�� s �	XU- 8 7W2 Z ¡

´ z



\ µ yK^ �D¡�dU¡�ð � � u }�����f w ��}�¾ r � � �Xï £ �@�I} u � £ � � �P0 � w�rt¼ m Á } w � £ � ��w�Á �ÊÏ�����} £ Ð ï w � s ��j±�¹¾�¡§�
XU- 8�8 = Z ¡

\ µ�µ ^ d�¡~Vó¡ « Á ������� ¼ts �'c ��s ��¾JÑ r<� � uxr � ð Á }��@� svu � £ � ��w�Á ��Ï�����} £ Ð ï w � s �~j±�t¾�¡��	X�- 8 7 { Z ¡
\ µ 2 ^ jø¡eca¡¥có}�� svr ��}����Ï�U��}�¾ u � w �t��¾Mï u � r ¾ uxr �x} � � � « � w�¼ }�� u ��} siw�� m¯� � � s � u � w �?fk} uø� �Uð w �Mù

¼ûw�r � �ts � ��w�Á ��Ï�����} £ Ð ï w � s �~j±�t¾�¡��	X�- 8�8 7 Z ¡
\ µ {K^ ��¡ ö ¡ûð w � �tw � � � �Ò0 ¡û­D¡ûï Átw � u ��} £ �~m Á }Rm Á } w � £ w�� ^ u�w �@��¾ ï ¼ }�¾ u � � �[ð � � � �v� �tq }

ö �t�§²�}�� s � u £ « �x} svs �bXU- 8 7 µ Z ¡
\ µ 7 ^ V�¡¥�)¡lf ���t�tsD� � � g ¡ � ¡¥f � ¾ Á ���¥�lf ��q �t} u � s � � � � mÏ� � � s � u � w ��fk} u�� ��ð w � ¼ ��} · } s �

ð Á<��¼ � � � � � � ­ � ��� ��XU- 8 =�µ Z ¡
\ µg= ^ ��¡�ð � � u �I}���� � 0 ¡?Ï=¡t^ ¡tV w ÷ �Ý� �o� ��}��t¾ £ � � � f w ��}�¾ r � � ��ï u � r ¾ uxr �x}��<c r¹uvu }�� ÷ w � uxÁ Ð

ð w ¡ « rt� ��� sxÁ }�� s �	XU- 8 =W= Z ¡
\ µ�´ ^ g ¡�V�¡�ï Á �v��²�}���� « ¡�Ï=¡�^ u �¤��� s �ój±� w � q�� �t��¾�ð Á }��I� sZu � £ XÔm � �x� � } � }á²:���x� s � Z ��^a�t� � � �

c��������ýn � £ ���t¾�����������XU- 8W8�8 Z ¡
\ µ 8�^ ­R¡ � ¡ÒY[}�� q }�� � � �#0 ¡ÃÏ=¡ « � ��uxu ¡��Òf ��q �t} u ��¾Uj±� u }�� � ¾ u � w � s ���Dï w ��� �ts ��ð�� � �v}�� �¹w � « �x} svs ¡§�

� · �Ôw � � �	XU- 8 =�µ Z ¡
\D2 z�^ ða¡ � ¡<c � ��� Á<��r¹s }��[�<­R¡ ca¡ 0 � � £ �<f w ��}�¾ r � � ���i� � � uø� �[m Á } w � £ �LÏ=¡¹^ ¡<c�}�� Âx� �I���¥�'���t¾�¡��

XU- 8 7 { Z ¡
\D2!- ^ f-¡�ð Á<� � �<� �U^ u�w �@��¾Oï u � r ¾ u�r �v} � � � ð Á }��I��¾ � ��c w � � �Àm ��uø� fk¾ 0 � � ÷ ù]­b����� « rt� � ¡

ð w � ¼t� � £ d u�� ¡§�xX�- 8 = y Z ¡
\D2 yK^ ïû¡~V�¡t^R¡~\0} uxu ��}��<ï £ �@�I} u � £ � � � ï u � r ¾ u�r �x}�� ��w�Á ��Ï�����} £ Ð ï w � s �~j±�t¾�¡��	X�- 8�8|{ Z ¡§¡
\D2 µ ^R� ¡À­R¡ � ¡ � ��}�¾ø�~�Àm Á } uxÁ } w � £ w�� �U��}�¾ u �v��¾ � � � f ��q �¹} u ��¾Oï r¹s ¾�} ¼¹u � � ����� u ��} s �¯� · �Ôw � �

ö �t�§²�}�� s � u £ « �x} svs �bXU- 8 7 { Z ¡
\D2�2 ^ V�¡À^ ¡oð w�uxu�w �¥�oð Á }��I��¾ � ��^ ¼t¼ ����¾ ��u � w � s w��Ó0 � w�rt¼ m Á } w � £ � ��w�Á ��Ï�����} £ Ð ï w � s �

j±�t¾�¡§�
XU- 8 ´ 8 Z ¡
\D2 {K^ nK¡<m � � ��� } � � � ïû¡�ï rtq�� � w � � ¡ « Á £ s ¾�¡¥ï w ¾�¡ ����¼<� �¥� 8 � = { µ ��XU- 8|{ 2 Z ¡§¡

´ -



\D2g7 ^ ^ ¡¥c � £ �v� �~^ ¡[�D¡ûc ��Á<��� �����ûVó¡û^l²�¾ r ²�} ® ¡û^ £ u }��¤���¥�ûm¯� � � s � u � w �Gfk} u�� �Uð Á }��@� svu � £ �
XÝc ��s ��� �<� Z

\D2 = ^ ca¡�`R¡~VX� q�q � s�� � �MÂ ¡~de} ÷ � s ��f w'� }��x��ð w'w � � ��� ��u � w �4ð Á }��I� sZu � £ �<j±� u }�� s ��¾���}��t¾�}���2 z µ �
XU- 8 7 z Z ¡

\D2 ´ ^ �D¡Æf-¡�Ï Á � u }���Ñ r<� � u�r � m Á } w � £ w�� f ��q �t} u � s �4�Æfk¾ 0 � � ÷ ù]­b�����4c w:w � ð w �Mù
¼<� � £ XU- 8 = z Z ¡

\D2 8�^ ca¡~`R¡~VX� q�q � s � � ¡�ð Á }��4¡�ï w ¾�¡§�!2 ´�´g= �aXU- 8 7 { Z ¡
\ {�z�^ �D¡'c w ¾ � �¹Y[}�� w ù�þ<}�� � ï ¼ ��� uxu ��� q ���Æfk} u�� �eð w � ¼ ��} · } s �tð w:w � � ��� ��u � w �8ð Á }��@� svu � £ ��} ù

²'��} ÷ s � y 2 ´ º = { = ù ´ - { ��X y�z�z 2 Z ¡
\ { - ^R� ¡Xï�¡ 0 �x�/Ô uxÁ º¥m Á }@m Á } w � £ w�� mÏ� � � s � u � w �-fk} uø� �oj w � s �¯ð � � � �v� �tq } ö �t��²�¡ « �x} svs ¡§�

`b} ÷ n w �x�~�aX�- 8 µ { Z
\ {�yK^ �D¡[d�¡�ÏC} �t� �lf�¡¥dU¡efk��� w �û�)¡¥dU¡¥c������t� � � � ^ ¡û^ ¡ « ���t��}�� uxw �¥�[j±� w � q ¡¥ð Á }��4¡§� µ y �- µ 8 7¿XU- 8�8 µ Z ¡
\ { µ ^ « ¡~\K¡�ð w�rtq�Á ����� � � � ïû¡ � ¡~de� ¼t¼<� � � � � ¡¹^a�4¡~ð Á }��4¡�ï w ¾�¡§�s- z 7¹� y µ y ´ X�- 8 ´ 2 Z ¡
\ { 2 ^ nK¡t^ rtq � rts �t�D¡¹d w�r � s � � ¡ « ¡ 0 � svs }�� � �x}�¾ Á � � � � �D¡5ÏC}�� sxs � � ¡'^a�4¡<ð Á }��k¡tï w ¾�¡���- z 7¹�

8 µ XU- 8 ´ 2 Z ¡
\ {�{K^ g ¡¹d rtsvs�� ¾�� � ¡¹f-¡'ï � ² � �x� ��r ��� � « ¡¹ða¡¹ð ��svsxw�rO� � �O� ¡ « ¡:m r ¾ Á<� � q�r } s � � ¡'ð Á }��4¡¹ï w ¾�¡��

g � � uxw ��m¯� � � s ¡��s- y�y�{ XU- 8 ´�´ Z ¡

´ y



	ÕT�Ö��s��×>��Ø

z = ¡.- y ¡.- 8 = z8uø� �v� Á ��� � }M\�� £ ����¦ £ ù]\����v�:� � �x}���� � � � } �tw ¿ �tr ¡eW±���G²�} w � uø� ¦�¿��v}��t���@���t�
\0���x�¤� � �x}���� � � � } u�� � � �@� ��� � ¡g- 8�8 - £ ������� �<� W±�t¦�� � ¢ �t��²�}�� s � u } s �~V~}��'ù]� � } � � £ ��u V � � � �§ù
u } s ��VX������� � ¦�� � � � � � }��-�@}�� r � w � �tr ¡S- 8�8|y £ ������� �<� W±�t¦�� � ¢ �¹��²�}�� s � u } s �óV<}���� � } ù
� � £ ��u V � � � � u } s �iVX��������c�¦�� � � � � � }3^b� � � u ���x� ��0 ¦��x}�²:��� s � w � � � � � q ¦��v}�²�} �<� �x� ��� � ¡
¬ r�� � �<� W±�t¦�� � ¢ �t��²�}�� s � u } s �ÀV~}��'ù]� � } � � £ ��u V � � � � u } s �ÀVX�������kcó¦�� � � � � � } ® ¿��v} u ���
0 ¦��v}�²:��� s � w � � � � � ��� �����x� � � uø��� ����¡
c�������� s }��ûV ��� ��� £ } u ��}���º
Ù V r ����}��x}��t}���}��v���Æ^b� q�w �k�i� u�� �I��� �<� �U� � } s � Ù �'n � � s }���dl� s�� � s���� �����x� ��s �Ý�<- 8�8|{ ¡
ca¡ ö � r ¿t�Kï�¡K^ uø� � � £ �K­R¡Kf � ��� � �%²�} ® ¡ ^ £ u }��¤���[� Ù ^a� q�w �ò�i� uø� �@���t��� C20+2H

V r ����}��x}��t}���}��x���t���Æ��� � } s ���t}0� u �:� s � Ù ��-�2t¡ ö � r¹s�� �eV¯�������Æ\ w � q �v} s �Ý� y�{ ù y = �U�¤���Ú- 8W8 µ ¡
® ¡~^ £ u }��¤���¥�~^ ¡ûc � £ �x�Ý��ïû¡����¤�I}�� � � � Ù m Á }D^a� u � � }��v� w � ��q �¹} u ��¾Dï ¼ ���3�i� � }��x��� q8� � �
VX� r ¾ u�r<��u ��� q f ��q �t} u ��¾Df w �I}�� u ��� γ −Mn

ï £ sZu }�� s Ù �a- 8 ¡<VX�������8\ w � q �v} s �Ý� y 7�ù yW8
� £ � � � y�z�z�z ¡
^ ¡óc � £ �v� ��^ ¡o�0¡oc ��Á<��� ������Vó¡o^l²�¾ r � ® ¡o^ £ u }��¤���¥��m¯� � � s � u � w �6f4} uø� �ið Á }��@� svu � £ �
� ¾�¾�} ¼¹u } �k�Ôw � ¼trt� ����¾ ��u � w �¥� y�z�z|{ ¡

´�µ


